
Q1) a) Answer the following questions in a sentences each. (6 out of 9) : [6]

i) What was impossible for women in the age of Shakespeare in the
story : 'Shakespeare's sister'?

ii) What was Judith's dream when she left home?

iii) What was Judith's parent's attitude to her education?

iv) Mention the names of two friends in the story, 'After Twenty years'?

v) What did the Bob look like in the story. 'After Twenty years'?

vi) Who is Jimmy Wells' in the story?

vii) Who is the Quick Man in the story?

viii) What were the things the conjurer concealed up his sleeve?

ix) Who is the author of the story, 'The Conjurer's Revenge'?

b) Answer the following questions (Any 2 out of 3) : [14]

i) How and why did society in the 16th century suppress talented
women like Judith?

ii) Comment on the theme of the story, 'After Twenty Years'.

iii) Discuss the ending of the story, 'Conjurer's Revenge'.
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Q2) a) Answer the following questions in a sentence each. (6 out of 9) [6]

i) What is the attitude of the upright man about hope and sorrow in
the poem?

ii) How does the upright man consider the world in the poem, 'The
Man of Life Upright'?

iii) What does the upright man consider as his wealth?

iv) What should be provided free of cost according to the poet, In the
poem, 'Money Madness'?

v) Who is the poet of the, poem, 'Money Madness'?

vi) The money madness is collective', What does the word 'Collective'
stand for in the poem?

vii) What did the father do for punishing his son in the poem, 'The
Toys'?

viii) What was the child's mistake in the poem, 'The Toys'?

ix) What did the child do after getting punished by his father?

b) Attempt the following questions  (Any 2 out of 3) : [14]

i) What is the central theme of the poem, 'The Man of Life Upright'?
Discuss.

ii) How does Lawrence show that the possession of money is a kind
of Madness? Discuss.

iii) How did the boy try to console himself in his sorrow after his
father punished him? Give your answer.

Q3) Do as directed : [10]

a) Change the following sentences into 'Yes-No' questions (Any 3 out of 5) :
[3]

i) Jaydip is still studying.

ii) Principal will address the students tomorrow.

iii) They are here now.

iv) She was happy to see her mother.

v) They believe in God.
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b) Frame 'Wh-questions' to elicit the underlined information in the following
sentences (Any 3 out of 5) : [3]
i) A cow eats grass.
ii) The police caught him because he had stolen goldring.
iii) We have three buildings within the college campus.
iv) Most of the people use their right hand to write.
v) The first World War ended in 1918.

c) Change the following sentences into 'negative sentences (Any 4 out of 6) :
[4]

i) Make it fast
ii) Show them your books.
iii) Look at this
iv) Let him go
v) Stop showing
vi) Go to school

Q4) Answer the following questions in brief (Any 2 out of 3) : [10]
a) You are a student and you want to buy some books from Book stores,

Pune. Write an E-mail to put your order of books on the E-mail address :
diamondbook@gmail.com.

b) Write a short note on the use and importance of graphs.
c) You want to take part in N.S.S. activity in your college. Write short

dialogue between you and you N.S.S. programme officer making an
enquiry of process to join and details of activity.

Q5) Answer the following questions in brief (Any 2 out of 3) : [10]
a) Explain the term 'Stress Management' with reference to current social

context.
b) Discuss how SWOT analysis is useful for goal setting'.
c) What are the benefits of 'Positive attitude'? Give your answer.


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àíZ 1) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [10]

A) {edH$mbrZ gm‘m{OH$ Am{U gm§ñH¥${VH$ nmíd©̂ y‘r ñnï> H$am.

~) "nmodmS>m' Am{U "bmdUr' ¶m em{har dmL²>‘¶mMo d¡{eï>ço ñnï> H$am.

H$) noedoH$mbrZ ~IatMo ñnê$n ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXmn ª̀V {bhm. [20]

A) "g§V VwH$mam‘m§À¶m A §̂JmVyZ VËH$mbrZ gm‘m{OH$ n[apñWVrMo {MÌU ¶oVo' ho gmoXmhaU
ñnï> H$am.

~) g§V am‘XmgH$mbrZ gm‘m{OH$ Am{U amOH$s¶ n[apñWVrMo {MÌU Ë¶m§À¶m dmL²>‘¶mÀ¶m
AmYmao H$am.

H$) noedoH$mbrZ gm‘m{OH$ Am{U gm§ñH¥${VH$ nmíd©̂ y‘r ñnï> H$am.

àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr 200 eãXmn ª̀V CÎmao {bhm. [20]

A) n§{S>Vr dmL²>_`mMr àoaUm ñnï> H$ê$Z ¶m dmL²>‘¶mMr d¡{eï>ço gm§Jm.

~) ‘w³Voídam§À¶m dmL²>‘¶rZ H$V©¥ËdmMm AmT>mdm ¿¶m.

H$) AZ§V ’§$Xr Am{U naeam‘ ¶m§À¶m dmL²>‘¶mMm n[aM¶ H$ê$Z Úm.

P.T.O.
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àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXmn ª̀V CÎmao {bhm. [20]

A) ~Ia dmL²>‘¶mMo ñdê$n gm§JyZ, ~IarMr àoaUm, àd¥Îmr Am{U d¡{eï>ço ñnï> H$am.

~) nm{ZnVÀ¶m ~IarMo ñdê$n ñnï> H$ê$Z d¡{eï>ço gm§Jm.

H$) "{edmOr ‘hmamOm§Mo XÿaXeu {dMma "AmkmnÌmV' {XgVmV' gmoXmhaU ñnï> H$am.


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àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]
A) AmYw{ZH$ H$mb Ho$ Ym{_©H$ n¥ï> ŷ{_ na àH$me S>m{bE &
~) ^maV|Xþ ẁJrZ H$mì` H$s gm_mÝ` {deofVmAm| H$m {ddoMZ H$s{OE &
H$) ^maV|Xþ h[aíM§Ð Ho$ gm{hpË`H$ `moJXmZ H$mo ñnï> H$s{OE &
S>) {ÛdoXr ẁJrZ H$mì` H$s gm_mÝ` {deofVmAm| na àH$me S>m{bE &

àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]
A) N>m`mdmX H$m AW© ~VmH$a {d{^Þ n[a^mfmE± {b{IE &
~) H${d Akò  Or H$m gm{hpË`H$ n[aM` Xr{OE &
H$) àJ{VdmX H$m AW© ~VmH$a ñdê$n ñnï> H$s{OE &
S>) N>m`mdmX H$s gm_mÝ` {deofVmAm| na àH$me S>m{bE &

àíZ 3) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) qhXr JX²̀  H$m CX²̂ d Am¡a {dH$mg ñnï> H$s{OE &

~) ào_M§XmoËVa CnÝ`mg g[hË` H$m n[aM` Xr{OE &

H$) qhXr ZmQ>H$ gm{hË` _| O`e§H$a àgmX Ho$ `moJXmZ H$mo ñnï> H$s{OE &

S>) ào_M§Xnyd© qhXr H$hmZr Ho$ {dH$mgH«$_ H$m {ddoMZ H$s{OE &

P.T.O.
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àíZ 4) {Q>ßn{U`m± {b{IE & (6 _| go 3) [21]

A) A`moÜ`mqgh CnmÜ`m` "harAm¢Y'

~) ~ÐrZmam`U Mm¡Yar "ào_YZ'

H$) am_Yar qgh {XZH$a

S>) _hmXodr d_m©

`) \$moQ>© {d{b`_ H$m°boO

a) CnÝ`mg g_«mQ> ào_M§X

àíZ 5) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| _| go {H$Ýht gmV àíZm| Ho$ CÎma {b{IE & [7]

i) AmYy{ZH$ H$mb H$m àma§̂  {H$g ẁJ go _mZm OmVm h¡?

A) à`moJdmX ~) àJ{VdmX

H$) ^maV|Xþ ẁJ S>) ar{VH$mb

ii) "gañdVr' n{ÌH$m H$m g§nmXZ {H$gZo {H$`m h¡?

A) _mhmdra àgmX {ÛdoXr ~) O`e§H$a àgmX

H$) Akò S>) {XZH$a

iii) "^maV - ^maVr' Ho$ aM{`Vm H$m Zm_ Š`m h¡?

A) Y_©dra ^maVr ~) _¡{WbreaU JwßV

H$) _mIZbmb MVwd}Xr S>) A`moÜ`m qgh CnmÜ`m`

iv) ^maV|Xþ̀ wJrZ H$mì` H$s à_wI àd¥{ËV h¡?

A) Xoe^{ŠV ~) H¥$îU^{ŠV

H$) am_^{ŠV S>) jUdm{XVm

v) BZ_| go {H$g H$d{`Ìr H$mo AmYw{ZH$ _ram H$hm OmVm h¡?

A) __Vm H$m{b`m ~) _hmXodr d_m©

H$) AZm{_H$m S>) H¥$îUm gmo~Vr
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vi) "VmagßVH$' Ho$ g§nmXH$ H$m¡Z h¡?

A) _mohZ amHo$e ~) {dZmoX añVmoJr

H$) Akò S>) O`e§H$a àgmX

vii) {Zambm H$m nyam Zm_ h¡ -

A) ào_M§X ~) gy`©H$m§V {ÌnmR>r

H$) _mohZ amHo$e S>) ZmJmOw©Z

viii) ZmQ>H$ gm{hË` {H$g H$mbI§S> H$s {dYm h¡?

A) ^{ŠVH$mb ~) Am{XH$mb

H$) AmYw{ZH$ H$mb S>) ar{VH$mb

ix) \$moQ>© {d{b`_ H$m°boO H$s ñWmnZm {H$g eha _| hþB©?

A) _w§~B© ~) H$bH$ËVm

H$) nwUo S>) {Xëbr

x) hmoar {H$g CnÝ`mg H$m nmÌ h¡?

A) JmoXmZ ~) godmgXZ

H$) _¡bm Am±Mb S>) Ë`mJnÌ

♦♦♦



Q1) Explain any three gyÌs from the followings : [15]

Imbrbn¡H$s H$moUË`mhr VrZ gyÌm§Mo ñnï>rH$aU H$am.

i) Z nXmÝVmÅ>moaZm_² &

ii) eíN>mo@{Q> &

iii) ^mo-^Jmo-AKmo-Anyd©ñ` A{e &

iv) EVÎmXmo… gwbmonmo@H$moaZÄg_mgo h{b &

Q2) A) Indentify the H$maH$ with relevant gyÌ. [5]

H$maH$ AmoiIyZ, ggyÌ ñnï>rH$aU H$am. (H$moUVohr nmM)

i) JJm©Z² eV§ XÊS>`{V &

ii) d¥jmV² nUª nV{V &

iii) dfQ²> BÝÐm` &

iv) J{UVo é{M… {dX²`Vo &

v) ñWmë`m_² AmoXZ§ nM{V &

vi) am_oU ~mUoZ hVmo dmbr &

Total No. of Questions : 4]

[Total No. of Pages : 3
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B) Identify the g§{Y with relevant gyÌ. [5]

g§{Y AmoiIyZ, Ë`mMo gyÌ {bhm. (H$moUVohr nmM)

i) g±ññH$Vm© &

ii) AmH«§$ñ`Vo &

iii) dm½K[a… &

iv) _mYdmo dÝX²`… &

v) gmo@h_² &

vi) g{ƒV² &

C) Write a note. [5]

Q>rn {bhm (H$moUVrhr EH$) …

i) Rules of AZwñdma g§Yr.

AZwñdma{df`H$ g§YrMo {Z`_

ii) AH${WV H$_© g§km &

Q3) Write essay type answers to any two of the following : [20]

Imbrbn¡H$s H$moUË`mhr Xmohm|Mo àXrK© CÎma {bhm.

i) Explain subject of the Cn{ZfX² and write an essay on the H$R>mon{ZfX².

Cn{ZfXm§Mm {df` ñnï> H$éZ, H$R>mon{ZfXmda {Z~§Y {bhm.

ii) Write an essay on ì`mH$aU and {ZéŠV doXm§J.

ì`mH$aU Am{U {ZéŠV `m XmoZ doXm§Jm§da {Z~§Y {bhm.

iii) Write an essay on AmaÊ`H$

AmaÊ`H$m§da {Z~§Y {bhm.

Q4) A) Write a note. [5]

Q>rn {bhm (H$moUVohr EH$)

i) B©emdmñ`mon{ZfX² &

ii) {ejmdoXmL²>J_² &
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B) C{MVm{Z ẁ½_m{Z {d{MZwV & (H$mÝ`{n n#m) [5]

A ~

i) EoVao`maÊ`H$_² a) AWd©doX… &

ii) ì`mg{ejm b) H¥$îU`Owd}X… &

iii) ZmaXr`m{ejm c) ì`mH$aU_² &

iv) H$m¡{eH$J¥hgyÌ_² d) {ZéŠV_² &

v) àYmZ§ M fQ²>ñdL²>Jofw e) G$½doX… &

vi) dUm©J_dU©{dn ©̀̀ m¡ f) ewŠb`Owd}X… &

g) gm_doXr`m {ejm &

C) Write an essay on any one of the following in the sanskrit language.[10]

Imbrbn¡H$s H$moUË`mhr EH$m {df`mda g§ñH¥$V ^mfoVyZ {Z~§Y {bhm.

i) Üd{ZàXÿfU_² _hVr g_ñ`m &

ii) ^maVmo __ Xoemo@`_² &





Q1) Answer the following questions in one to two sentences each
(Any Eight) : [16]
a) What is ‘Foreign trade’?
b) State full form of ‘OPEC’.
c) What is ‘Foreign capital’?
d) What is ‘Foreign direct investment’?
e) State any two names of institutions of Foreign exchange market.
f) What is ‘Flexible exchange rate’?
g) Write the full form of ‘SAARC’.
h) When was ‘BRICS’ established?
i) State any two merits of ‘Fixed exchange rate’.
j) Write the full form of ‘SEZ’.

Q2) Answer the following questions in brief (any four) : [16]
a) State the objectives of SEZ policy.
b) State the arguments against free trade policy.
c) Explain the concept of Economic Development.
d) Explain any four merits of flexible exchange rate.
e) Expalin the advantages of convertibility of rupee on capital account.
f) State the functions of BRICS.
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Q3) Answer the following questions in 100 words each (Any Three) : [18]

a) Explain the functions of European Economic Community.

b) State the functions of foreign exchange market.

c) Explain the types of foreign investment.

d) State the arguments in favour of protective trade policy.

Q4) Answer the following questions in 200 words each (any two) : [20]

a) Explain the role of foreign trade in Economic Development.

b) Explain the problems of foreign capital.

c) Explain the effects of WTO on Indian Economy.


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[6301]-356
T.Y. B.A.

ECONOMICS
DSE-1D : International Economics - II (Special Paper - III)

(2019 Pattern) (CBCS) (Semester - VI) (36151)
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3) Amdí¶H$ Ë`m {R>H$mUr gw~H$ AmH¥$Ë¶m H$mT>m.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË¶oH$s EH$ Vo XmoZ dmŠ`mV CÎmao {bhm. (H$moUVohr AmR>) … [16]

A) {dXoe ì`mnma åhUOo H$m`?

~) ‘OPEC’ Mo {dñVmarV ê$n {bhm.

H$) naH$s` ^m§S>db åhUOo H$m`?

S>) àË`j naH$s` Jw§VdUwH$ åhUOo H$m`?

B>) naH$s` {d{Z_` ~mOmamVrb XmoZ g§ñWmMr Zmdo {bhm.

’$) ~XbVm {d{Z_` Xa åhUOo H$m`?

¶) gmH©$Mo nyU© én {bhm.

a) {~«ŠgMr ñWmnZm H$moUË`m dfu Pmbr?

b) pñWa {d{Z_` XamMo XmoZ JwU gm§Jm.

d) SEZ Mo {dñVmarV én {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMr WmoS>Š`mV CÎmao {bhm (H$moUVohr Mma) … [16]

A) {deof Am{W©H$ XmoZ YmoaUmMr C{Ôï>ço {bhm.

~) _wº$ ì`mnma YmoaUmÀ`m {damoYr ẁ{º$dmX ñnï> H$am.

H$) Am{W©H$ {dH$mgmMr g§H$ënZm ñnï> H$am.

S>) ~XbË`m {d{Z_` XamMo H$moUVohr Mma JwU ñnï> H$am.

B) ^mS>dbr ImË`mdarb én`mÀ`m n[adV©Zr`VoMo \$m`Xo gm§Jm.

\$) {~«ŠgMr H$m }̀ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) … [18]
A) ẁamo{n`Z Am{W©H$ g_wXm`mMr H$m }̀ ñnï> H$am.
~) {dXoer {d{Z_` ~mOmamMr H$m }̀ gm§Jm.
H$) naH$s` Jw§VdUwH$sMo àH$ma ñnï> H$am.
S>) g§a{jV ì`mnma YmoaUmÀ`m ~mOyMo ẁ{º$dmX ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË¶oH$s 200 eãXm§V CÎmao [bhm. (H$moUVohr XmoZ) … [20]
A) Am{W©H$ {dH$mgmVrb {dXoer ì`mnmamMr ŷ{_H$m ñnï> H$am.
~) naH$s` ^m§S>dbmÀ`m g_ñ`m ñnï> H$am.
H$) OmJ{VH$ ì`mnma g§KQ>ZoMo ^maVr` AW©ì`dñWodarb n[aUm_ ñnï> H$am.





Q1) Attempt any eight questions of the following. (in 20 words) [16]

a) Write the definition of bureaucracy.

b) What is an administrative reform?

c) Mention the importance of Retirement.

d) Mention the names of the scholars of the study of bureaucracy.

e) What do you mean by 'Political Neutrality'?

f) Mention any two objectives of Training.

g) Define balanced budget.

h) Define administrative accountability.

i) Give the meaning of promotion.

j) Mention any two objectives of Whitley council.

Q2) Attempt any four short notes. (in 50 words) [16]

a) Characteristics of bureaucracy.

b) Necessity of Administrative Reforms.

c) Types of Training.

d) Principles of Promotion.

e) Budgetary process in India.

f) Types of Budget.
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Q3) Attempt any three questions of the following. (in 100 words) [18]

a) Discuss Legislative control over the administration.

b) Mention the organization and functions of comptrollor and Auditor
General of India.

c) Discuss the principles of sound Budget.

d) Discuss the causes responsible for disciplinary action.

Q4) Attempt any two questions of the following. (in 200 words) [20]

a) Define administrative accountability. Discuss the judicial control over
the administration with its limitations.

b) Define Recruitment. Explain General and special qualifications required
for the public servant in recruitment.

c) Write an essay on 'Bureaucracy'.





Total No. of Questions : 4]
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gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-915

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (àË¶oH$s 20 eãXmV) [16]
A) ZmoH$aemhrMr ì¶m»¶m {bhm.
~) àemgH$s¶ gwYmaUm åhUOo H$m¶?
H$) godm{Zd¥ÎmrMo ‘hËd {bhm.
S>) ZmoH$aemhrMm Aä¶mg H$aUm§è¶m Aä¶mgH$m§Mr Zmdo {bhm.
B) amOH$s¶ ZQ>ñWVm åhUOo H$m¶?
\$) à{ejUmMr XmoZ C{Ôï>ço {bhm.
`) g‘Vmob A§XmOnÌH$mMr ì¶m»¶m {bhm.
a) àemgH$s¶ CÎmaXm{¶ËdmMr ì¶m»¶m {bhm.
b) ~T>Vr åhUOo H$m¶?
d) pìhQ>bo H$m¡pÝgbMr XmoZ C{Ôï>ço {bhm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mmada Q>rnm {bhm. (àË¶oH$s 50 eãXmV) [16]
A) ZmoH$aemhrMr d¡{eï>ço.
~) àemgH$s¶ gwYmadm§Mr JaO.
H$) à{ejUmMo àH$ma.
S>) ~T>VrMr VËdo.
B) ^maVmVrb A§XmOnÌH$mMr à{H«$¶m.
\$) A§XmOnÌH$mMo àH$ma.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr VrZ àíZ gmoS>dm. (100 eãXmV) [18]

A) àemgZmdarb H$m¶Xo‘§S>imMo {Z¶§ÌU ñnï> H$am.

~) ^maVmMm {Z¶§ÌH$ d ‘hmboIm narjH$mMr aMZm d H$m¶} Z‘yX H$am.

H$) AmXe© A§XmOnÌH$mMr VËdo ñnï> H$am.

S>) "àemgH$s¶ A{YH$mè¶m§darb {^ñV §̂J H$madmB©Mr H$maUo' ¶m§Mr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. (200 eãXmV) [20]

A) "àemgH$s¶ CÎmaX{¶Ëd' ¶mMr ì¶m»¶m {bhm. àemgZmdarb Ý¶m¶mb¶rZ {Z‘§ÌU d Ë¶mÀ¶m
‘¶m©Xm ¶m§Mr MMm© H$am.

~) ^aVrMr ì¶m»¶m {bhm. ^aVrgmR>r Amdí¶H$ AgUmar gm‘mÝ¶ ¶mo½¶Vm d {deof ¶mo½¶Vm
BË¶mXrMo {ZH$f ñnï> H$am.

H$) ZmoH$aemhrda {Z~§Y {bhm.





Q1) Answer the following questions in 300 words (any One) : [15]

a) Explain the application of history in various subjects.

b) Discuss the importance of industrial and military Archives.

Q2) Answer the following questions in 300 words (any One) : [15]

a) State the importance of archaelogical sources for medieval Indian
historiography.

b) Explain the role of government in world heritage conservation.

Q3) Answer the following questions in 200 words (any two) : [20]

a) Explain the importance of natural heritage sites in India.

b) Write a brief visit report of one historical place.

c) Define mass media and describe it’s types.

d) Briefly describe the archival sources for the study of modern India.
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Q4) Write short notes (Any four) : [20]

a) Willam Jones.

b) Sociology and history

c) Tajmahal.

d) World heritage committee.

e) Radio.

f) You tube.

♦♦♦



Total No. of Questions : 4]

[6301]-358
T.Y. B.A.

HISTORY
DSE -1D : Applied History

(2019 Pattern) (CBCS) (Semester - VI) (36171)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [15]

A) B{VhmgmMo {d{dY {df`mVrb Cn`moOZ ñnï> H$am.

~) Am¡X²̀ mo{JH$ d bîH$ar nwam{^boImJmamMo _hÎd `mda MMm© H$am.

àíZ 2) Imbrb àíZm§Mo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [15]

A) _Ü` ẁJrZ ^maVr` B{VhmgboIZmgmR>r nwamVÎdr` gmYZm§Mo _hÎd gm§Jm.

~) OmJ{VH$ dmagm ñWim§Mo OVZ d g§dY©ZmgmR>r gaH$maMr ŷ{_H$m {deX H$am.

àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) ^maVmVrb Z¡g{J©H$ dmagm ñWim§Mo _hÎd ñnï> H$am.

~) EImX²̀ m Eo{Vhm{gH$ ñWimÀ`m ôQ>rMm g§{jßV Ahdmb {bhm.

H$) OZ _mÜ`_mMr ì`m»`m gm§JyZ àH$mam§Mo dU©Z H$am.

S>) AmYw{ZH$ ^maVmÀ`m Aä`mgmg§X^m©V nwam{^boIr` gmYZm§Mo WmoS>Š`mV dU©Z H$am.

P.T.O.
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àíZ 4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) {dë`_ OmoÝg

~) g_mOemó Am{U B{Vhmg

H$) VmO_hb

S>) OmJ{VH$ dmagm g{_Vr

B) Z^modmUr (aoS>rAmo)

\$) ỳ - Q²> ỳ~

♦♦♦



Q1) Write answers of the following questions in about 20 words  (any Eight) :
[16]

a) Name any two holy books of Hinduism.
b) Write the definition of dialect.
c) Name any two tribes of India.
d) Name any two international airports in India.
e) Name any two National Highways.
f) Write any two names of print media.
g) Name any two manganese producing states in India.
h) Name any two major hydroelectric power projects in Maharashtra.
i) Name any two major sugar producing states in India.
j) What is the White Revolution?

Q2) Write short notes in about 50 words (any three) : [18]
a) Sikhism
b) Advantages of rail transport
c) Types of Iron ores
d) Sugar industry in Maharashtra

Total No. of Questions : 4]
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Q3) Write the answer of questions in 150 words (any two) : [16]

a) Explain the characteristics of Hinduism.

b) Explain the advantages and disadvantages of water transport.

c) Explain the factors affecting hydropower generation.

Q4) Write the answer of questions in 300 words (any one) : [20]

a) Explain in detail the importance of agriculture in Indian economy.

b) Write a detailed account of Gond tribe of India.


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2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao [bhm. (H$moUVohr AmR>) [16]

A) qhXÿ Y_m©À`m H$moUË`mhr XmoZ n{dÌ J«Wm§Mr Zmdo {bhm.

~) ~mobr ^mfoMr ì`m»`m {bhm.

H$) ^maVmVrb H$moUË`mhr XmoZ Am{Xdmgr O_mVtMr Zmdo {bhm.

S>) ^maVmVrb H$moUË`mhr XmoZ Am§Vaamï´>r` {d_mZVim§Mr Zmdo {bhm.

B>) H$moUË`mhr XmoZ amï´>r` _hm_mJmªMr Zmdo {bhm.

’$) H$moUË`mhr XmoZ _wÐrV àgma_mÜ`_m§Mr XmoZ Zmdo {bhm.

¶) ^maVmV _°J|{ZO CËnmXH$ H$moUË`mhr XmoZ amÁ`m§Mr Zmdo {bhm.

a) _hmamï´>mVrb H$moUË`mhr XmoZ à_wI Ob{dX²̀ wV {Z{_©Vr H|$ÐmMr Zmdo {bhm.

b) ^maVmVrb H$moUË`mhr XmoZ à_wI gmIa CËnmXH$ amÁ`m§Mr Zmdo {bhm.

d) œoV H«$m§Vr åhUOo H$m`?

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) àË¶oH$s 50 eãXm§V CÎmao [bhm. (H$moUVohr VrZ) [18]

A) {eI Y_©

~) aoëdo dmhVyH$sMo \$m`Xo

H$) bmohI{ZOm§Mo àH$ma

S>) _hmamï´>mVrb gmIa CX²̀ moJ

àíZ àíZ àíZ àíZ àíZ 3) àË¶oH$s 150 eãXm§V CÎmao [bhm. (H$moUVohr XmoZ) [16]

A) qhXÿ Y_m©Mr d¡{eîQ>ço ñnï> H$am.

~) Ob dmhVyH$sMo \$m`Xo VmoQ>o ñnï> H$am.

H$) Ob{dX²̀ wV {Z{_©Vrda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) àË¶oH$s 300 eãXm§V CÎmao [bhm. (H$moUVohr EH$) [20]

A) ^maVr` AW©ì`dñWoVoVrb eoVrMo _hÎd g{dñVa ñnï> H$am.

~) ^maVmVrb Jm|S> Am{Xdmgr O_mVrMm g{dñVa d¥Îmm§V {bhm.





Q1) Write the answers of the questions in about 20 words each. (Any Eight) [16]

a) Write two government schemes to improve girl's education in rural area.

b) What is meant by school drop out?

c) Write two objectives of desert development programme.

d) When Western ghat development programme Launched.

e) Micro Finance-Definition.

f) What is the current name of NRLM.

g) In which state Mendha Lekha Village located.

h) Who has the main role in Hivare Bajar Village development?

i) Which poem is written to promote Sarv Shiksha Abhiyan?

j) To which movement Mohan Hirabail Hiralal is associated.

Q2) Write the answers of the questions in about 50 words each. (Any Three) [18]

a) Describe the problems of rural education in India.

b) Command Area Development Programme.

c) Write the features of National Rural Livelihood Mission.

d) Describe the socio-economic situation of Hivare Bazar.

Total No. of Questions : 4]
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Q3) Write the answers of the questions in about 100 words each. (Any Two) [16]

a) Explain Sarv Shiksha Abhiyan.

b) Explain Indira Gandhi canal command area development programme.

c) Describe the role of government in Microfinance.

Q4) Write the answers of the questions in about 300 words each. (Any one) [20]

a) Explain in detail the target group programme for rural development.

b) Give an account of about of Mendha Lekha Village.


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gyMZm : 1) gd© àíZ Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m d AmamISo> H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) J«m‘rU ^mJmVrb ‘wbtMo {ejUmMo à‘mU dmT>dÊ¶mgmR>r XmoZ emgH$s¶ ¶moOZm.

~) embo¶ JiVr åhUOo H$m¶?

H$) dmid§Q>r àXoe {dH$mg H$m¶©H«$‘mMr XmoZ C{Ôï>o {bhm.

S>) npíM‘ KmQ> {dH$mg H$m¶©H«$‘ H$Yr gwê$ Pmbm?

B) "gyú‘ {dÎmnwadR>m' ì¶m»¶m {bhm.

\$) amï´>r¶ J«m‘rU Cn{OdrH$m A{^¶mZmMo gÜ¶mMo Zmd H$m¶?

`) ‘|T>mboIm Jmd H$moUË¶m amÁ¶mV Amho?

a) {hdao ~mOma JmdmÀ¶m {dH$mgm‘Ü¶o H$moUmMr ‘hËdnyU© ŷ{‘H$m Amho?

b) gd© {ejm A{^¶mZmbm MmbZm XoÊ¶mgmR>r H$moUVr H${dVm {bhrbr Amho?

d) ‘mohZ {ham~mB© {hambmb ho H$moUË¶m Am§XmobZmer g§~§YrV AmhoV?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) ^maVmVrb J«m‘rU {ejUmÀ¶m g‘ñ¶m {deX H$am.

~) bm^ joÌ {dH$mg H$m¶©H«$‘

H$) amï´>r¶ J«m‘rU Cn{OdrH$m A{^¶mZmMr d¡{eï>o {bhm.

S>) {hdao ~mOma JmdmMr Am{W©H$-gm‘m{OH$ pñWVr.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) gd© {ejm A{^¶mZ H$m¶©H«$‘mMo dU©Z H$am.

~) B§{Xam Jm§Yr H$mbdm bm^ joÌ {dH$mg H$m¶©H«$‘ ñnï> H$am.

H$) gyú‘ {dÎmnyadR>m ¶moOZoVrb emgZmÀ¶m ŷ{‘Ho$Mo dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) J«m‘rU {dH$mgmH$arVm bú¶ JQ> H$m¶©H«$‘mMo g{dñVa dU©Z H$am.

~) ‘|T>mboIm Jmd joÌmä¶mgmMo dU©Z H$am.





Q1) Answer the following questions in 50 words each (any four) [20]

a) What is an Experiment? State the types of experiments.

b) State the sources of problem statement.

c) State the formulations of hypothesis.

d) Explain the types of variables

e) State the weber’s law.

f) What is sampling errors?

Q2) Answer the following questions in 100 words each (any two). [20]

a) Define Hypothesis. Discuss the types of hypotheses.

b) Define psychophysics. Discuss and calculate the DL by methods of
constant stimuli.

c) Discuss the characteristics of experiments.

d) Describe the signal ditection theory.

Total No. of Questions : 4]
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Q3) Answer the following question in 500 words  (any one) [20]

a) Define sampling. Discuss the probability sampling.

b) Describe the methods of human learning.

Q4) Write short notes. (Any two) [10]

a) Sampling

b) Serial learning

c) Threshold

d) Qualitative Research

♦♦♦



Total No. of Questions : 4]

[6301]-361
T.Y. B.A.

PSYCHOLOGY
DSE -1D : Experimental Psychology

(2019 Pattern) (Semester - VI) (36221)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi BJ«§OrMr àíZ n{ÌH$m nhm.

àíZ 1) Imbrb n¡H$s Mma àíZm§Mr CÎmao  50 eãXm§V {bhm. [20]

A) à`moJ åhUOo H$m`? à`moJm§Mo àH$ma gm§Jm.

~) g_ñ`m {dYmZmMo ómoV gm§Jm.

H$) Aä ẁnJ_ {Z{_©Vr/gwÌrH$aU ñnï> H$am.

S>) n[adË`m©Mo àH$ma ñnï> H$am.

B) do~aMm {gÓm§V gm§Jm.

`) Z_yZm à_mX åhUOo H$m`?

àíZ 2) Imbrb n¡H$s XmoZ àíZm§Mr CÎmao  100 eãXm§V {bhm. [20]

A) Aä ẁnJ_ ì`m»`m X²̀ m. Aä ẁnJ_mMo àH$mam§da MMm© H$am.

~) _Zmo^m¡{VH$s ì`m»`m X²`m. pñWa C{XX²nH$ nÕVrZo ^oX{ZH$ gr_m_wë` H$go emoYmê$Z,
`mda MMm© H$am.

H$) à`moJmMo d¡{eï> ò MMm© H$am.

S>) g§Ho$V emoY CnnÎmr g{dñVa ñnï> H$am.

P.T.O.
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àíZ 3) Imbrb n¡H$s EH$m àíZm§Mo CÎma  500 eãXm§V {bhm. [20]

A) Z_wZmM`Z ì`m»`m X²̀ m. g§̂ mì` Z_wZmM`Zm§da MMm© H$am.

~) _mZdr AÜ``Z nÕVr g{dñVa ñnï> H$am.

àíZ 4) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Z_wZmM`Z

~) lmo{UH$ AÜ``Z

H$) gr_m_wë`

S>) JwUmË_H$ g§emoYZ

♦♦♦



Q1) Answer the following questions in 100 words each. (Any Three)
[3 × 5 = 15]

a) Explain the Future of SAARC.
b) What are the Objectives of European Union.
c) Explain the Structure of ASEAN.
d) Explain the Importance of OPEC.
e) Explain the role of BIMSTEC.

Q2) Answer the following questions in 300 Words each. (any One)
[1 × 15 = 15]

a) What are the Problems before SAARC? Explain.
b) Explain the Challenges and Present Situation of European Union.

Q3) Answer the following questions in 200 words each. (Any Two)
[2 × 10 = 20]

a) Explain the relation between India and ASEAN.
b) Explain the Aims and Objectives of OPEC.
c) Describe the aims and Objectives of BIMSTEC.
d) Trace the BRICS Summit.

Total No. of Questions : 4]

[Total No. of Pages : 4

[6301]-362
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1D SPL.-3 : Regional Organization

(2019 Pattern) (CBCS) (Semester - VI) (36271)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-920
SEAT No. :

P.T.O.



[6301]-362 2

Q4) Write Short Notes (Any Four) : [4 × 5 = 20]

a) Success of SAARC

b) Structure of European Union

c) ASEAN Summit

d) Structure of OPEC

e) Role of BIMSTEC on Counter Terrorism

f) Present Situation of BRICS.


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Total No. of Questions : 4]

[6301]-362
T.Y. B.A.
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doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PC-920

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË¶oH$s 100 eãXm§V [bhm. (H$moUVohr VrZ) [3 × 5 = 15]
A) gmH©$Mo ^{dVì` ñnï> H$am.

~) ẁamo{n`Z ẁ{Z`ZMr C{Ôï>o H$moUVr?

H$) Am{e`mZMr aMZm ñnï> H$am.

S>) AmonoH$Mo _hËd ñnï> H$am.

B>) {~_ñQ>oH$ (BIMSTEC) Mr ŷ{_H$m ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË¶oH$s 300 eãXm§V [bhm. (H$moUVmhr EH$) [1 × 15 = 15]
A) gmH©$ nwT>rb g_ñ`m H$moUË`m? ñnï> H$am.

~) ẁamo{n`Z ẁ{Z`Z g_moarb AmìhmZo Am{U gÚpñWVr ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË¶oH$s 200 eãXm§V [bhm. (H$moUVohr XmoZ) [2 × 10 = 20]
A) ^maV Am{U Am{e`mZ _Yrb g§~§Y ñnï> H$am.

~) AmonoH$ (OPEC) Mo hoVy Am{U C{Ôï>o ñnï> H$am.

H$) {~_ñQ>oH$Mo hoVy Am{U C[Ôï>o {deX H$am.

S>) {~«Šg (BRICS) À`m n[afXm§Mm AmT>mdm ¿`m.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr Mma) [4 × 5 = 20]

A) gmH©$Mo `e

~) ẁamo{n`Z ẁ{Z`ZMr aMZm

H$) Am{e`mZ {eIa n[afX

S>) AmonoH$ (OPEC) Mr aMZm

B) {~_ñQ>oH$Mr XheVdmX {damoYr ŷ{_H$m

\$) {~«Šg Mr gÚpñWVr





Q1) Attempt any three of the following questions : [15]

a) How does war affect love in ‘A Farewell to Arms’?

b) Comment on the theme of friendship between Henry and Rinaldi in ‘A
Farewell to Arms’.

c) Describe the use of symbols in ‘A farewell to Arms’.

d) What role does Helen Ferguson play in ‘A farewell to Arms’?

e) Discuss catherine as a tragic heroine in ‘A Farewell to Arms’.

Q2) Attempt any three of the following questions : [15]

a) Comment on the narrative techniques used by Ernest Hemingway in ‘A
Farewell to Arms’.

b) Attempt a character sketch of Henry in ‘A Farewell to Arms’.

c) Elaborate the importance of the title of the novel ‘A Farewell to Arms’.

d) Write a note on the eviding of the novel ‘A Farewell to Arms’.

e) Write a brief note on the plot and structure of ‘A Farewell to Arms’.

Total No. of Questions : 5]
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Q3) Attempt any three of the following questions : [15]

a) Explain the regional setting of the novel ‘The Painter of Signs’.

b) How does R.K. Narayan depicf Raman as a protagonist of the novel?
c) Comment on the beginning of the novel ‘The Painter of Signs’.
d) Compare and contrast the characters of Laxmi and Daisy.
e) How do the villagers react to the family Planning Policy in ‘The Painter

of Signs’?

Q4) Attempt any three of the following questions : [15]
a) What is ending of the novel ‘The Painter of Signs’?
b) Attempt a character sketch of Daisy.
c) Coment on the narrative techniques of the novel ‘The Painter of Signs’.
d) Describe the rustic background used in ‘The Painter of Signs’.
e) Explain the elements of irony and pathos reflected in ‘The Painter of

Signs’.

Q5) Attempt any one of the following questions : [10]
a) Compare and contrast the characters of Catherine Barkley and Daisy in

the novels ‘A Farewell to Arms’ and ‘The Painter of Signs’.
b) Comment on the political upheavals as depicted in the novels ‘A Farewell

to Arms’ and ‘The Painter of Signs’.





Q1) Attempt any five of the following. [10]

a) Show that limit of the function ( ) z
f z

z
   
 

 as z tends to 0 does not

exists.

b) Find 6 2

0

ite dt


 .

c) Find a repressentation of function 
1( )

1
f z

z



 in negative powers of z

that is valid when 1 < |z| <  .

d) Find all z such that ez = –2.

e) Find the singular points for the function 3 2
1( )

( 1)
z

f z
z z





.

f) Define residue of f (z) at the isolated singular point z0.

g) Evaluate z

c

e dz , where c is the unit circle |z| = 1.

Total No. of Questions : 4]
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Q2) Attempt any four of the following : [20]

a) State Liouville theorem and fundamental theorem of algebra.
b) Show that u(x, y) = y3 – 3x2y is harmonic and find its harmonic conjugate.
c) Write the two Laurent series in powers of z that represent the function

2
1( )

(1 )
f z

z z


  in certain domain and specify those domain.

d) If C is any simple closed contour, then show that 3( ) 0
c

exp z dz  .

e) Using Cauchy's residue theorem, evaluate 2
1
2c

z
dz

z z

 ,  where C is the

circle |z| = 3 in the positive sense.
f) Prove that a function f that is analytic at a point z0 has a zero of order

m there if and only if there is a function g, which is analytic and
f (z) = (z – z0)m g(z).

Q3) Attempt any four of the following : [20]

a) Without evaluating integral show that 3
4 6
1 7c

z
dz

z
 


  where c is the are

of circle |z| = 2 from z = 2 to z = 2i that lies in the first quadrant.
b) Show that for all z

i) sin sinz z

ii) cos cosz z

c) If f is an entire and bounded function in the complex plane, then prove
that f (z) is constant throughout the plane.

d) If f be continuous in domain D. If ( ) 0
c

f z dz   for every closed contour

lying in D, then show that f is analytic throughout D.
e) Find all the roots in rectangular coordinates, exhibit them as vertices of

certain squares and point out which is principal root for (–16)¼.

f) Find the Laurent series that represents the function 2
2

1( ) sinf z z
z

   
 

.



[6301]-364 3

Q4) Attempt any two of the following : [20]
a) i) Show that when z  0

2 2 6 10

4 2
sin( ) 1 ...

3! 5! 7!
z z z z

z z
    

ii) Show that f (z) = |z|2 is differentiable only at z = 0.
b) i) Show that :

   10 111 3 2 1 3i i


    .

ii) Determine whether f '(z) exits for 1( )f z
z

 , Find f '(z), if exists.

c) Find the value of the integral of g(z) around the circle |z – i| = 2 in the
positive sense when

i) 2
1( )

4
g z

z




ii) 2 2
1( )

( 4)
g z

z




d) i) Find Maclaurin series expansion of 4( )
9

z
f z

z



.

ii) Define three types of isolated singularity. Give examples of essential
singularity and removable singularity.





Q1) Write short note (Any three) [15]

a) Meaning of Qualitative Research.

b) Questionnaire

c) Non - participant observation.

d) Meaning of case study method.

e) Uses of graphs in data anlysis.

Q2) Answer the following questions in 50 words each (any three). [15]

a) Explain the concept of Dispersion.

b) Write the meaning of Quantitative Research.

c) Write the advantages of survey (Any two)

d) What is mean?

e) Write the advantages of observation techniques (Any Two)

Total No. of Questions : 4]
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Q3) Answer the following question in 200 words Each (Any two) [20]

a) Explain the nature of case study method.

b) Discuss the types of questionnaire Techniques.

c) Elaborate the Nature of survey method.

d) Explain the Report writing in brief.

Q4) Answer the following question in 300 words Each (Any one) [20]

a) Analyse the measures of central Tendency.

b) Define Interview. Explain the advantages and disadvantages of Interview.

♦♦♦



Total No. of Questions : 4]

[6301]-365
T.Y. B.A.

SOCIOLOGY
DSE -1D : Techniques of Social Research

(2019 Pattern) (CBCS) (Semester - VI) (36371)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrb n¡H$s H$moUË`mhr VrZ {Q>nm {bhm. [15]

A) JwUmË_H$ g§emoYZmMm AW©

~) àíZmdbr

H$) Agh^mJr {ZarjU

S>) ì`îQ>r AÜ``Z nÕVrMm AW©

B) VÏ` {díbofUmV AmboImMo Cn`moJ

àíZ 2) Imbrb n¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]

A) An{H$aU g§H$ënZm ñnï> H$am.

~) g§»`mË_H$ g§emoYZmMm AW© {bhm.

H$) gd}jUmMo \$m`Xo {bhm. (H$moUVohr XmoZ)

S>) _mÜ` åhUOo H$m`?

B) {ZarjU V§ÌmMo \$m`Xo {bhm. (H$moUVohr XmoZ)

P.T.O.
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àíZ 3) Imbrb n¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) ì`îQ>r AÜ``Z nÕVrMo ñdê$n ñnï> H$am.

~) àíZmdbr V§ÌmÀ`m àH$mamMr MMm© H$am.

H$) gd}jU nÕVrÀ`m ñdê$nmMo dU©Z H$am.

S>) Ahdmb boIZ WmoS>Š`mV ñnï> H$am.

àíZ 4) Imbrb n¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 300 eãXm§V {bhm. [20]

A) H|$Ðr` àd¥ËVrMo n[a_mUo `mMo {díbofU H$am.

~) _wbmIVrMr ì`m»`m gm§JyZ _wbmIVrMo \$m`Xo Am{U VmoQ>o ñnï> H$am.

♦♦♦



Q1) Answer the following questions in 100 words each. (Any Three) [15]

a) What is Synthetic Proposition?

b) State the criteria of verifiability.

c) State the influence of Socrates on Plato.

d) Explain the dialectical method of Socrates.

e) What is Appearance according to Russell?

Q2) Answer the following questions in 200 words each. (Any Two) [20]

a) Briefly write Russell’s problem of a prior knowledge.

b) Explain class division characteristic of Plato’s ideal state.

c) Briefly describe Plato’s radical views on justice.

d) Briefly explain the concept of pragmatic Verifiability.

Total No. of Questions : 4]
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Q3) Write Short notes in 100 words each. (Any Three) [15]

a) Morality : A. J. Ayer

b) Criticism of Plato’s concept of Ideal state

c) Problem of Induction: Russell

d) The allegory of Plato’s cave.

e) Russell’s concept of Probability.

Q4) Answer the following question in 400 words. (Any One) [20]

a) Write in detail about Wittgenstein’s picture theory.

b) Explain any four philosophical problems faced by Russell.


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(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo A{Zdm ©̀ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àýn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àým§Mr àË¶oH$s 100 eãXm§V CÎmao [bhm. [15]

A) g§íbofH$ {dYmZ åhUOo H$m`?

~) à{MVr j_VoMo {ZH$f gm§Jm.

H$) ßboQ>modarb gm°H«o${Q>gMm à^md gm§Jm.

S>) gm°H«o${Q>gMr Û§ÛmË_H$ nÕVr {deX H$am.

B>) agbobm AZwgê$Z Am^mg åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àým§Mr àË¶oH$s 200 eãXm§V CÎmao [bhm. [20]

A) agobÀ`m nwd©àmá kmZmMr g_ñ`m WmoS>Š`mV {bhm.

~) ßboQ>moÀ`m AmXe© amÁ`mÀ`m d¡{eîQ>çm§n¡H$s dJ© {d^mOZ d¡{eîQ>çmMr _m{hVr Úm.

H$) ßboQ>moMm Ý`m`{df`H$ CJ«dmXr {dMma WmoS>Š`mV gm§Jm.

S>) ì`mdhm[aH$ à{M{Vj_Vm g§H$ënZm WmoS>Š`mV gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZmdma àË òH$ 100 eãXm§V Q>rnm {bhm. [15]

A) {Z{Vemó … E. Oo. E`a

~) ßboQ>moÀ`m AmXe© amÁ` g§H$ënZodarb Q>rH$m

H$) {dJ_Z g_ñ`m … agob

S>) ßboQ>moÀ`m JwhoMo ê$nH$

B) agobMr g§̂ mì`Vm g§H$ënZm

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àýmMo 400 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [20]

A) {dQ²>JoÝñQ>mZMr {MÌ CnnÎmr g{dñVa {bhm.

~) agobbm ôS>gmdUmè`m VÎdkmZmVrb H$moUË`mhr Mma g_ñ`m§Mo ñnï>rH$aU Úm.





Q1) Answers any 8 of the following (20 words) : [16]
a) State the function of comptroller and Auditor General of India?
b) Explain the role of finance commission of India?
c) State the challenges facing comptroller and Auditor General of India?
d) Who was the first finance commission of India?
e) Who was appointed as the Eleventh finance commission?
f) State the utility of Estimates committee?
g) Write the structure of estimates committee?
h) State the function of public Accounts committee.
i) State the challenges faced by globalization?
j) State the role of liberalization?

Q2) Write any 4 short Notes (50 words) : [16]
a) State the challenges facing privatization?
b) Discuss new Economic Policy of India?
c) Explain the meaning of liberalization and state its merits and demerits?
d) State the powers and duties of comptroller and Auditor General of India?
e) State the function of Estimates committee?
f) Write the characteristics of an Indian auditor?

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer Any 3 of the following (100 words) : [18]

a) Explain the structure of finance commisttees?

b) State the characteristics and function of comptroller and Auditor General
of India?

c) Explain the function and role of finance commission of India?

d) Explain the meaning of Audit and write the function of financial
administration?

Q4) Answer any 2 of the following (200 words) : [20]

a) Define globalization and state its merits and demerits?

b) Critically examine the new Economic policy of India?

c) Explain the role of finance commission in Indian economy?


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Total No. of Questions : 4]

[6301]-368
T.Y. B.A.

PUBLIC ADMINISTRATION
DSE-1D : Financial Administration

(2019 Pattern) (CBCS) (Semester - VI) (36441)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-925

àíZ àíZ àíZ àíZ àíZ 1) H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm (20 eãXmV>) … [16]

A) ^maVmÀ`m {Z §̀ÌH$ d _hmboImnarjH$mMo H$m ©̀ gm§Jm.

~) ^maVr` {dÎm Am`moJmMr ŷ{_H$m ñnï> H$am.

H$) ^maVmÀ`m {Z §̀ÌH$ d _hmboImnarjH$m g_moarb AìhmZo gm§Jm.

S>) ^maVmMo n{hbo {dÎm Am`moJ H$moU hmoVo?

B>) 11 do {dÎm Am`moJ åhUyZ H$moUmMr Zo_ZyH$ Pmbr.

’$) A§XmO g{_VrMr Cn ẁº$Vm gm§Jm.

¶) AZw_mZ g{_VrMr aMZm {bhm.

a) bmoH$boIm g{_VrMr H$m }̀ gm§Jm.

b) OmJ{VH$sH$aUm g_moarb AìhmZo gm§Jm.

d) CXmarH$aUmMr ŷ{_H$m gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) H$moUVohr Mma> àíZ gmoS>dm (50 eãXmV>) [16]

A) ImOJrH$aUm g_moarb AìhmZo gm§Jm.

~) ^maVmÀ`m ZdrZ Am{W©H$ YmoaUmMr MMm© H$am.

H$) CXmarH$aUmMm AW© ñnï> H$éZ Ë`mMo JwUXmof gm§Jm.

S>) ^maVmÀ`m {Z §̀ÌH$ d _hmboImnarjH$mMr A{YH$ma d H$V©ì` gm§Jm.

B) AZw_mZ g{_VrMo H$m ©̀ gm§Jm.

\$) ^maVr` boImnarjUmMr d¡{eï>ço {bhm.

àíZ àíZ àíZ àíZ àíZ 3) H$moUVohr VrZ àíZ gmoS>dm (100 eãXmV) … [18]

A) {dÎmr` g{_Ë`mMr aMZm ñnï> H$am.

~) ^maVmÀ`m {Z §̀ÌH$ d _hmboImnarjH$mMo d¡{eï>ço d H$m ©̀ gm§Jm.

H$) ^maVr` {dÎm Am`moJmMo H$m ©̀ d ŷ{_H$m ñnï> H$am.

S>) boImnarjUmMm AW© ñnï> H$ê$Z {dÎmr` àemgZmMo H$m ©̀ {bhm.

àíZ àíZ àíZ àíZ àíZ 4) H$moUVohr XmoZ àíZ gmoS>dm (200 eãXmV) … [20]

A) OmJ{VH$sH$aUmMm AW© gm§JyZ Ë`mMo JwUXmof gm§Jm.

~) ^maVmÀ`m ZdrZ Am{W©H$ YmoaUmMo {Q>H$mË_H$ narjU H$am.

H$) ^maVmÀ`m AW©H$maUmV {dÎm Am`moJmMr ŷ{_H$m ñnï> H$am.


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DSE - 2D : {deofñVa Aä¶mgn{ÌH$m dU©ZmË‘H$ ^mfm{dkmZ ^mJ - 2

(2019 Pattern) (Semester - VI) (36022)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PC-926

àíZ 1) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§n¶©V {bhm. [10]

A) "‘w³V ê${nH$m' Mr g§H$ënZm ñnï> H$am.

~) Ho$dbdm³¶ åhUOo H$m¶ ho gmoXmhaU ñnï> H$am.

H$) e¡brJV AW© åhUOo H$m¶ ho gmoXmhaU ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶©V {bhm. [20]

A) ê${n‘m§Mo àH$ma gmoXmhaU ñnï> H$am.

~) "ê${nH$m-ê${n‘-ê${nH$m§Va' ¶mVrb nañnag§~§Y ñnï> H$am.

H$) ê${n‘ {d{Z¶moJmMr g§H$ënZm ñnï> H$am.

àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶©V {bhm. [20]

A) dm³¶ aMZoMo ñdê$n gmoXmhaU ñnï> H$am.

~) dm³¶mMo à‘wI àH$ma gmoXmhaU ñnï> H$am.

H$) "àW‘monpñWV g§KQ>H$' hr g§H$ënZm gmoXmhaU ñnï> H$am.

P.T.O.
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àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶©V {bhm. [20]

A) AWm©Mo ñdê$n d g§H$ënZm ñnï> H$am.

~) AWm©Mo à‘wI àH$ma gmoXmhaU ñnï> H$am.

H$) AW©{dÝ¶mgmMr g§H$ënZm ñnï> H$am.


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Total No. of Questions : 5
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Instructions to the candidates:  

1)       All the questions are compulsory.

2) Figures to the left side indicate full marks.

 

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
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
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[6301]-371
T.Y. B.A.

HINDI (qhXr)
DSE-2D (S-4) : qhXr ^mfm Am¡a CgH$m {dH$mg

(2019 Pattern) (CBCS) (Semester - VI) (36092)

g_` :  2½ K§Q>o ] [ nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢ &
2) Xm{hZr Amoa àíZ Ho$ nyUmªH$ h¡ &

PC-928

SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) ^mfm H$s nar^mfm Ed§ ñdê$n H$mo ñnï> H$s{OE &

~) "^mfm n¡V¥H$ g§n{Îm Zht h¡' gmoXmhaU ñnï> H$s{OE &

H$) A§Vam©ï´>r` ^mfm H$m gm_mÝ` n[aM` {b{IE &

S>) ~mobr Am¡a ^mfm H$m gm_mÝ` A§Va ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) "nydu qhXr' H$s ~mo{b`m| H$m n[aM` {b{IE &

~) "_madmS>r ~mobr' H$m joÌ Ed§ {deofVmE± {b{IE &

H$) VX²̂ d eãXmdbr H$m n[aM` Xr{OE &

S>) {dXoer eãXm| H$m gmoXmhaU n[aM` {b{IE &

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) XodZmJar {b{n Ho$ {dH$mg na àH$me S>m{bE &

~) ZmJar {b{n H$s AdYmaUm ñnï> H$s{OE &

H$) XodZmJar {b{n H$s Mma {deofVmAm| H$mo ñnï> H$s{OE &

S>) XodZmJar {b{n _| gwYma Ho$ à`mg H$mo ñnï> H$s{OE &

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV _| go {H$Ýht VrZ {Q>ßn{U`m| H$mo {b{IE … [21]

A) ^mfm A{O©V g§n{Îm h¡

~) ~mobr

H$) XoeO eãX

S>) AdYr H$m n[aM`

B) ZmJar {b{n H$s d¡km{ZH$Vm

\$) XodZmJar {b{n H$m Zm_H$aU

àíZ àíZ àíZ àíZ àíZ 5) {ZåZ{b{IV _| go {H$Ýht gmV ~hþ{dH$pën` àíZm| Ho$ C{MV n`m©̀  {b{IE … [7]

i) ~mobr go ^mfm .............. hmoVr h¡ &

A) N>moQ>r ~) g_mZ

H$) {df_ S>) ~‹S>r

ii) ""Cƒ[aV Üd{Zg§Ho$Vm| H$s ghm`Vm go ^md `m {dMma H$s nyU© A{^ì`{º$ ^mfm h¡'' àñVwV
n[a^mfm {H$gH$s h¡?

A) ^mobmZmW {Vdmar ~) Xod|ÐZmW e_m©

H$) S>m°. ga ỳ àgmX S>) ào_M§X

iii) {díd^mfm H$m n`m©̀ dmMr Zm_ Š`m h¡?

A) A§Vam©ï´>r` ̂ mfm ~) g§Mma ^mfm

H$) g§nH©$ ^mfm S>) amO^mfm

iv) ^mfm n[adV©Zerb hmoVr h¡ - `h {dYmZ ................. h¡ &

A) ghr ~) JbV

H$) Am{W©H$ S>) Ym{_©H$

v) ^maVr` g§{dYmZ Ho$ AZwgma qhXr ............... h¡ &

A) g§nH©$ ^mfm ~) amO^mfm

H$) amï´>^mfm S>) ~mobr

vi) Bg_| go npíM_r qhXr H$s ~mobr h¡ -

A) AdYr ~) H$m¡adr

H$) ~Kobr S>) _¡{Wbr

vii) AdYr {H$g joÌ H$s ~mobr h¡?

A) _hmamï´> ~) A`moÜ`m

H$) n§Om~ S>) H$Zm©Q>H$
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viii) ~«O^mfm H$s à{gÕ aMZm H$m¡Z-gr h¡?

A) am_M[aV_mZg ~) gyagmJa

H$) nX²_mdV S>) H$m_m`Zr

ix) ""EH$ Üd{Z Ho$ {bE EH$ {b{n {Mh²Z'' `h {deofVm {H$g {b{n H$s h¡?

A) XodZmJar ~) ~«mh²_r

H$) Iamoð>r S>) amo_Z

x) qhXr ^mfm H$m CX²^d .............. go hþAm h¡ &

A) g§ñH¥$V> ~) A§J«oOr

H$) CX©þ S>) OnmZr





Q1) Write a reference to context to any three of following. [15]

Imbrbn¡H$s H$moUË`mhr {VKm§Mo gg§X ©̂ ñnï>rH$aU Úm.

i) `Wm Xrnmo {ZdmVñWmo ZoL²>JVo gmon_m ñ_¥Vm &

ii) AVñVÎmØmgH§$ {ZË`ewÕ~wÕ_wº$gË`ñd^md§ àË`H²$ M¡VÝ`_odmË_dpñËd{V doXmÝV{dXZŵ d… &

iii) VÌmZw~ÝYmo Zm_m{YH$m[a{df`g§~ÝYà`moOZm{Z &

iv) AÌ JL²>Jm`m§ Kmof… à{Vdg{V B{V dmŠ`d‚mh„jUm{n Z g§JÀN>Vo &

Q2) A) Write any ten answer. [10]

H$moUË`mhr Xhm àým§Mr CÎmao {bhm.

A ~

i) Ho$dbmÛ¡VdmXàdV©H$… a) {Z{fÕH$_m©{U

ii) gXmZÝX`Vo… Jwé… b) ~«÷¡d ̂ d{V

iii) OmVo{ï>… c) MËdm[a

iv) ZaH$mÚ{Zï>gmYZm{Z d) AkmZ_²

v) gÝÜ`mdÝXZ_² e) OmJ«VmdñWm

vi) ~«÷ doX f) A{dÚmonm{Y ẁV§ M¡VÝ`_²

Total No. of Questions : 4]

[Total No. of Pages : 2

[6301]-372
T.Y. B.A.

SANSKRIT (g§ñH¥$V)
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vii) A{YH$m[abjUo gmYZm{Z g) OhXOhëbjUm

viii) ^mdê$n_² h) ^mÅ>_r_m§gH$m…

ix) {dœ i) AmÚlrbreL²>H$mamMm`©…

x) àmk… j) {ZË`H$_©

xi) àkmZKZ EdmZÝX_`… k) Z¡{_{ÎmH$H$_©

xii) gmo@ §̀ XodXÎm AÌ bjUm l) Jmo{dÝXnmXmMm ©̀…

m) AÛ`mZÝX…

B) Write answers in the Sanskrit language. (Any Five) [5]

g§ñH¥$V ^mfoV CÎma Úm. (H$moUVohr nm§M)

i) gyú_earao H${V Ad`dm{Z gpÝV?

ii) CXmZ dm`mo… ñWmZ§ {bIV?

iii) Bhm_wÌ\$b^moJ{damJ BË`pñ_Z² nXo A_wÌ eãXñ` AW©… H$…?

iv) JL²>Jm`m§ Kmof ApñV BË`pñ_Z² dmŠ ò H$m bjUm?

v) {Z{d©H$ëng_mYm¡ {dKm… H${V?

vi) ñWybearaì`îQ>çwn{hVñ` M¡VÝ`ñ` g§km H$m?

Q3) Write a broad answer. (Any One) [20]

XrKm}Îma {bhm. (H$moUVohr EH$)

i) doXmÝVemóm{YH$marbjU_² &

ii) n#mH$mof{ddaU_² &

Q4) Write a short note in English or Marathi [20]

Q>rnm {bhm. (H$moUË`mhr XmoZ)

i) OrdÝ_wº$bjU_² &

ii) VmËn`m©dYmaUñ` f{S>bL²>J{dMma… &

iii) AndmX… &



ö



Q1) Answer the following questions in 20 words. (Any Eight) [16]

a) What is meant by Fiscal Policy?

b) What is meant by Deficit budget?

c) Who was the chairman of the 15th Finance commission?

d) State the two functions of central government.

e) Define deficit financing.

f) What is meant by surplus budget?

g) State the two instruments of fiscal policy?

h) What is meant by revenue deficit?

i) State the two causes of conflict in the centre-state financial relationship.

j) State the two features of fiscal policy.

Total No. of Questions : 4]

[Total No. of Pages : 4
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T.Y. B.A.

ECONOMICS
DSE-2D : Public Finance - II

(2019 Pattern) (Semester - VI) (36152) (Special Paper - IV)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Draw neat diagram wherever necessary.
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Q2) Answer the following questions in 50 words (any four) : [16]

a) State the objectives of Fiscal Policy.

b) Explain the nature of budget.

c) Explain the favourable effects of deficit financing.

d) State the functions of finance commission.

e) State the features of budget.

f) State the taxes under the purview of central government.

Q3) Answer the following questions in 100 words (Any three) [18]

a) Explain the types of Budget.

b) Explain the limitations of Fiscal policy.

c) Explain the objectives of deficit Financing.

d) Explian the recommendation of 15th Finance Commission.

Q4) Answer the following questions in 200 words each (Any two) [20]

a) Review of Fiscal Policy in India Since 2011.

b) Explain the role of deficit financing in Developing countries.

c) What is gender budget? Explain the importance of gender budget.


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Total No. of Questions : 4]

[6301]-373
T.Y. B.A.

ECONOMICS
DSE-2D : Public Finance - II

(2019 Pattern) (Semester - VI) (36152) (Special Paper - IV)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) CÎmao Zo_H$s d _wX²XogwX Agmdr.
4) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
5) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

PC-930

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 20 eãXm§V [bhm. (H$moUVohr AmR>) [16]

A) amOH$mofr` YmoaU åhUOo H$m`?

~) VwQ>rMo A§XmOnÌH$ åhUOo H$m`?

H$) 15 ì`m {dÎm Am`moJmMo AÜ`j H$moU hmoVo?

S>) H|$Ð gaH$maMr XmoZ H$m ©̀ gm§Jm.

B>) VwQ>rÀ`m AW©̂ aÊ`mMr ì`m»`m Xçm.

\$) {ebH$sMo A§XmOnÌH$ åhUOo H$m`?

`) amOH$mofr` YmoaUmMr XmoZ gmYZo gm§Jm.

a) _hgwbr VwQ> åhUOo H$m`?

b) H|$Ð d amÁ` {dÎmr` g§~§YmVrb g§Kfm©Mr XmoZ H$maUo gm§Jm.

d) amOH$mofr` YmoaUmMr XmoZ d¡{eîQ>ço gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V [bhm. (H$moUVohr Mma) [16]
A) amOH$mofr` YmoaUmMr CpX²Xï>o gm§Jm.

~) A§XmOnÌH$mMo ñdê$n ñnï> H$am.

H$) VwQ>rÀ`m AW©̂ aÊ`mMo AZwHw$b n[aUm_ ñnï> H$am.

S>) {dÎm Am`moJmMr H$m ©̀ gm§Jm.

B) A§XmOnÌH$mMr d¡{eîQ>ço gm§Jm.

\$) H|$Ð gaH$maÀ`m H$m ©̀joÌmVrb H$a gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 100 eãXm§V [bhm. (H$moUVohr VrZ) [18]
A) A§XmOnÌH$mMo àH$ma ñnï> H$am.

~) amOH$mofr` YmoaUmÀ`m _`m©Xm ñnï> H$am.

H$) VwQ>rÀ`m AW©̂ aÊ`mMr CX²XrîQ>ço ñnï> H$am.

S>) 15 ì`m {dÎm Am`moJmÀ`m {e\$maer ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CËVao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) 2011 nmgwZÀ`m ^maVmÀ`m amOH$mofr` YmoaUmMm AmT>mdm ¿`m.

~) {dH$gZerb Xoem§Vrb VwQ>rÀ`m AW©̂ aÊ`mMr ŵ{_H$m ñnï> H$am.

H$) qbJmYm[aV A§XmOnÌH$ åhUOo H$m`? qbJmYm[aV A§XmOnÌH$mMo _hËd ñnï> H$am.





Q1) Answers any eight of the following questions (20 words) : [16]
a) Meaning of Non-Alignment.
b) What is colonialism?
c) Define Privatisation.
d) Give two examples of South-South Cooperation.
e) What is development?
f) Write the meaning of International Terrorism.
g) Name two Environmental Organisations.
h) Write any two principles of NAM.
i) Give two types of Globalisation.
j) What is New International Economic Order.

Q2) Write any four of the following Short Notes (50 words) : [16]
a) Evolution of NAM.
b) Limits of Globalisation.
c) Hunger
d) North-South divide.
e) Two features of Non Alignment.
f) Neo-Colonialism.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer Any three of the following questions (100 words) : [18]

a) Explain the relevance of NAM.

b) Discuss the need for South-South cooperation.

c) Explain the types of Human Rights.

d) State the nature of Terrorism.

Q4) Answer any two of the following questions (200 words) : [20]

a) Critically examine the Role of the state in the context of Globalisation.

b) What is Terrorism? Discuss in detail the types of Terrorism.

c) Analyse the need for a New International Economic Order.


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Total No. of Questions : 4]

[6301]-374
T.Y. B.A.

POLITICAL SCIENCE
DSE-2D : International Relations

(2019 Pattern) (CBCS) (Semester - VI) (36162)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-931

àíZ àíZ àíZ àíZ àíZ 1) H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm (20 eãXmV>) … [16]

A) A{báVmdmXmMm AW©

~) dgmhVdmX åhUOo H$m`?

H$) ImOJrH$aUmMr ì`m»`m

S>) X{jU-X{jU ghH$m`m©Mr XmoZ CXmhaUo Úm.

B>) {dH$mg åhUOo H$m`?

’$) Am§Vaamï´>r` XheVdmXmMm AW© {bhm.

¶) XmoZ n`m©daUmÀ`m g§ñWm§Mr Zmd gm§Jm.

a) NAM Mr H$moUVrhr XmoZ VËdo {bhm.

b) OmJ{VH$sH$aUmMo XmoZ àH$ma gm§Jm.

d) ZdrZ Am§Vaamï´>r` Am{W©H$ ì`dñWm åhUOo H$m`?

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) H$moUË`mhr Mma àíZm§Mr CÎmao {bhm (50 eãXmV>) [16]

A) ‘NAM’ Mr CËH«$m§Vr

~) OmJ{VH$sH$aUmÀ`m _`m©Xm

H$) ^yH$

S>) CÎma-X{jU {d^mJUr

B) A{báVmdmXmMr XmoZ d¡{eï>ço

\$) Zd dgmhVdmX

àíZ àíZ àíZ àíZ àíZ 3) H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm (100 eãXmV) … [18]

A) ‘NAM’ Mr àmg§{JH$Vm {deX H$am.

~) X{jU-X{jU ghH$m`m©Mr JaO `mda MMm© H$am.

H$) _mZdr hŠH$m§Mo àH$ma {deX H$am.

S>) XheVdmXmMo ñdê$n Z_yX H$am.

àíZ àíZ àíZ àíZ àíZ 4) H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm (200 eãXmV) … [20]

A) OmJ{VH$sH$aUmÀ`m g§X^m©V amÁ`mÀ`m ŷ{_Ho$Mo {Q>H$mË_H$ n[ajU H$am.

~) XheVdmX åhUOo H$m`? XheVdmXmÀ`m àH$mam§Mr g{dñVa MMm© H$am.

H$) ZdrZ Am§Vaamï´>r` Am{W©H$ ì`dñWoÀ`m JaOoMo {díbofU H$am.





Q1) Answer any one of the following questions in 300 words : [15]

a) Explain the work of Rajarshi Chhatrapati Shahu Maharaj in detail.

OR

b) What is Industrialization? Explain the causes and effect of industrialization.

Q2) Answer any one of the following questions in 300 words : [15]

a) State the nature of the Non-Brahmin movement and explain the rationate
behind it's rise.

OR

b) Brief review of the Maharashtra - Karnataka border dispute.

Q3) Answer any two following questions in 200 words each : [20]

a) Explain the educational works of Karmaveer Bhaurao Patil in detail.

b) What is urbanization? Explain the problems of urbanization by saying
that.

c) Take a look at the Peasant Movement in Maharashtra.

d) Explain the contribution of Swami Ramanand Teerth in Marath Wada
Mukti Sangram.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q4) Write the short notes (any Four) : [20]

a) Depressed Classes Mission.

b) Kalaram Temple Satyagraha.

c) Sharda Sadan.

d) Sugar Industry.

e) Educational Policy of Maharaja Sayajirao Gaikwad.

f) Yashwantrao Chavhan and Samyukt Maharashtra Movement.





Total No. of Questions : 4]

[6301]-375
T.Y. B.A.

B{Vhmg
DSE - 2D : History of Maharashtra in the 20th Century

({dgmì¶m eVH$mVrb ‘hmamï´>mMm B{Vhmg)
(2019 Pattern) (CBCS) (Semester - VI) (36172)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ A{Zdm¶© Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-932

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo 300 eãXm§V CÎma {bhm. (H$moUVohr EH$) [15]

A) amOfu N>. emhþ ‘hmamOm§Mo ¶moJXmZ g{dñVa ñnï> H$am.

qH$dm

~) Am¡Úmo{JH$sH$aU åhUOo H$m¶? Vo gm§JyZ Am¡Úmo{JH$sH$aUmMr H$maUo d n[aUm‘ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mo 300 eãXm§V CÎma {bhm. (H$moUVohr EH$) [15]

A) ~«måhUoÎma MidirMo ñdê$n gm§JyZ VrÀ¶m CXçmMr H$maU‘r‘m§gm ñnï> H$am.

qH$dm

~) ‘hmamï´>-H$Zm©Q>H$ gr‘m àíZmMm g{dñVa d¥Îmm§V Úm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) H$‘©dra ^mD$amd nmQ>rb ¶m§Mo e¡j{UH$ joÌmVrb ¶moJXmZ {deX H$am.

~) ZmJarH$aU åhUOo H$m¶? Vo gm§JyZ ZmJarH$aUmÀ¶m g‘ñ¶m§ ñnï> H$am.

H$) ‘hmamï´>mVrb eoVH$ar MidirMm AmT>mdm ¿¶m.

S>) ‘amR>dmS>m ‘w³Vr g§J«m‘mV ñdm‘r am‘mZ§X VrW© ¶m§Mo ¶moJXmZ ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) {S>àoñS> ³bmgog {‘eZ

~) H$mimam‘ ‘§{Xa gË¶mJ«h

H$) emaXm gXZ

S>) gmIa CÚmoJ

B) ‘hmamOm g¶mOramd Jm¶H$dmS> ¶m§Mo e¡j{UH$ YmoaU

\$) ¶ed§Vamd MìhmU d g§¶w³V ‘hmamï´> Midi





Q1) Answer the following question in 300 words (any one) [15]
a) Explain the important provisions of the India Act, 1891 and evaluate this

law.
OR

b) Explain the important provisions and significance of the Montagu - chelms
ford Amendment Act of 1919.

Q2) Answer the following question in 300 words (any one) [15]
a) State the salient features of Government of India Act, 1935 and evaluate

it.
OR

b) State the salient features of the Indian constitution.

Q3) Answer the following question in 200 words (any two) [20]

a) Explain the causes for the Government of India Act of 1861 and state the
major provisions concerning the central and provincial ligislatures.

b) Explain the provisions and significance of the Morley - Minto reforms
Act, 1909.

c) Explain information about working of provincial Autonomy.

d) Review briefly the cabinet mission plan.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q4) Short notes (Any four) [20]

a) Queen’s proclamation

b) Montague’s Declaration of August 1917.

c) Nehru Report

d) Second Round Table conference

e) Wavell plan

f) Indian Independence Act, 1947.

♦♦♦



Total No. of Questions : 4]

[6301]-376
T.Y. B.A.

HISTORY
DSE 2D : Constitutional Developments in India (1858-1950)

(2019 Pattern) (CBCS) (Semester - VI) (36173)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma Xçm (H$moUVmhr EH$) [15]
A) B. g. 1891 À`m ^maV {df`H$ H$m`XçmVrb _hËdmÀ`m VaVwXr ñnï> H$am Am{U `m

H$m`XçmMo _wë`_mnZ H$am.

qH$dm
~) B. g. 1919 À`m _m±Q>o½ ỳ - Moåg\$moS>© gwYmaUm H$m`XçmVrb _hËdmÀ`m VaVwXr Am{U

_hËd ñnï> H$am.

àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma Xçm (H$moUVmhr EH$) [15]
A) B. g. 1935 À`m ̂ maV{df`H$ H$m`XçmMo R>iH$ d¡{eï>ço gm§JyZ Ë`m H$m`XçmMo _wë`_mnZ

H$am.

qH$dm
~) ^maVr` amÁ`KQ>ZoMr R>iH$ d¡{eï>ço gm§Jm.

àíZ 3) Imbrb àíZmMo 200 eãXm§V CÎma Xçm (H$moUVohr XmoZ) [20]
A) B. g. 1861 À`m ^maV{df`H$ H$m`XçmMr H$maUo gm§JyZ B. g. 1861 À`m H$m`XçmÀ`m

H|$Ðr` d àm§Vr` {dYr_§S>imÀ`m à_wI VaVwXr gm§Jm.
~) B. g. 1909 À`m _mob} - q_Q>mo gwYmaUm H$m`XçmÀ`m VaVwXr Am{U _hËd ñnï> H$am.
H$) àm§Vr` ñdm`VÎmm gÎmoÀ`m H$m_H$mOm{df`r _m{hVr ñnîQ> H$am.

S>) H°${~ZoQ> {_eZ `mooOZoMm WmoS>Š`mV AmT>>mdm ¿`m.

P.T.O.

PC-933
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àíZ 4) {Q>nm {bhm (H$moUVohr Mma) [20]

A) amUrMm OmhraZm_m

~) Am°JñQ> 1917.Mr _m±Q>o½ ỳ KmofUm

H$) Zohê$ Ahdmb

S>) Xþgar Jmob_oO n[afX

B) d°ìhob `moOZm

\$) ^maVr` ñdmV§Í`mMm H$m`Xm, 1947.

♦♦♦



Q1) Answer the following questions in 100 words each. (Any Three)

[3 × 5 = 15]

a) Explain the Meaning and Concept of Nuclear Warfare.

b) What are the Methods of Economic Warfare.

c) Explain the Scope of Electronics Warfare.

d) Explain the Objectives of Star war.

e) Explain the Effects of Environmental warfare.

Q2) Answer the following questions in 300 Words each. (any One)

[1 × 15 = 15]

a) Explain in details the Origin and Development of Nuclear Warfare.

b) Describe in details Means and Methods of Psychological Warfare.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer the following questions in 200 words each. (Any Two)

[2 × 10 = 20]

a) Explain in details the Nature of Nuclear Weapons and delivery system.

b) Describe the Consequences /effects of Economic Warfare.

c) Explain the Sources of Electronics Warfare.

d) State the Consequences and Preventive measures of Space Warfare.

Q4) Write Short Notes (Any Four) : [4 × 5 = 20]

a) Effects of Nuclear War

b) Mental health Problems of Soldier

c) Scope of Information Warfare

d) Concept of Space Warfare

e) Strategic Defence Initiative (SDI)

f) Scope of Environmental Warfare


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Total No. of Questions : 4]

[6301]-377
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-2D SPL-4 : Modern Warfare

(2019 Pattern) (CBCS) (Semester - VI) (36272)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àým§Mo nyU© JwU Xe©{dVmV.

PC-934

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË¶oH$s 100 eãXm§V [bhm. (H$moUVohr VrZ) [3 × 5 = 15]
A) AmpÊdH$ ẁÕ nÕVrMm AW© Am{U g§H$ënZm ñnï> H$am.

~) Am{W©H$ ẁÕmÀ`m nÕVr H$moUË`m?

H$) BboŠQ´>m°{ZŠg ẁÕ nÕVrMr ì`már ñnï> H$am.

S>) ñQ>ma / VmaH$m ẁÕmMr C{Ôï>o ñnï> H$am.

B>) n`m©daUr` ẁÕ nÕVrMo n[aUm_ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË¶oH$s 300 eãXm§V [bhm. (H$moUVmhr EH$) [1 × 15 = 15]
A) AmpÊdH$ ẁÕ nÕVrMm CJ_ Am{U {dH$mg g{dñVa ñnï> H$am.

~) _mZgemór` ẁÕ nÕVrMr gmYZo Am{U nÕVr g{dñVa {deX H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË¶oH$s 200 eãXm§V [bhm. (H$moUVohr XmoZ) [2 × 10 = 20]
A) AmpÊdH$ eóm§Mo ñdê$n Am{U {dVaU ì`dñWm g{dñVa ñnï> H$am.

~) Am{W©H$ ẁÕ nÕVrMo n[aUm_ {deX H$am.

H$) BboŠQ´>m°{ZŠg ẁÕnÕVrMo ómoV ñnï> H$am.

S>) AdH$me ẁÕ nÕVrMo n[aUm_ Am{U à{V~§YmË_H$ Cnm` gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr Mma) [4 × 5 = 20]

A) AmpÊdH$ ẁÕmMo n[aUm_

~) g¡{ZH$m§À`m _mZ{gH$ ñdmñWmÀ`m g_ñ`m

H$) _m{hVr ẁÕmMr ì`már

S>) AdH$me ẁÕmMr g§H$ënZm

B) gm_[aH$ g§ajU CnH«$_ (SDI)

\$) n`m©daU ẁÕmMr ì`már





Q1) Answer the following questions in about 50-60 words each. (Any Two)[10]
a) What do you understand by theory of impersonality as put forth by T.S.

Eliot?
b) In what sense T.S. Eliot views poet as a catalyst and explain the anology?
c) Explain the concept of ‘Ambiguity’.
d) How does Empson differentiate between ambiguity of metaphor and

that of simile?

Q2) Answer the following questions in about 50-60 words each. (Any Two) [10]
a) How does George Lukac’s define concept of realism?
b) Examine the tenets of Marxist Criticism in Lukac’s idea of realism.
c) What is the structure of human mind, according to Sigmund Freud?
d) Write a note on Freud’s concept of super ego.

Q3) Answer the following questions in about 150 words each. (Any Two) [20]
a) Discuss Allen Tate’s concept of ‘Tension’.
b) How does Cleanth Brooks view Paradox as fundamental aspect of poetry?
c) What is ‘Intentional Fallacy’, according to Wimsatt and Beardsley?
d) What Central focus defines ‘New Criticism’ in literary analysis?

Total No. of Questions : 5]

[Total No. of Pages : 3

[6301]-378
T.Y. B.A.

ENGLISH
DSE-2D : Discipline Specific Elective

Introduction to Literary Criticism
(2019 Pattern) (CBCS) (Semester - VI) (36332)

 (Old Special Paper IV)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compuslory.
2) Figures to the right indicate full marks.

PC-935

SEAT No. :

P.T.O.



[6301]-378 2

Q4) Explain the following literary and Critical terms (Any Five) [20]
a) Irony.
b) Motif and Theme.
c) Point of view.
d) Genre
e) Allegory.
f) Satire.
g) Diction.

Q5) Read the following poem / passage and answer the questions that follow
(Any one) [10]
Poem:

Hope is the thing with feathers

That perches in the Soul,

And sings the tune without the words,

And never stops at all,
And sweetest in the gale is heard;
And sore must be the storm
That could abash the little bird
That kept so many Warm
I’ve heard it in the chillest land,
And on the strangest sea;
Yet, never, in extremity,
It asked a crumble of me.

Questions:
a) What is the Central metaphor in the poem?
b) What is the Central idea of the poem?
c) State the rhyme scheme of the poem and suggest a suitable title to the

poem.
d) Comment on the setting of the poem.
e) How does the poet describe ‘hope’ in the poem?
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OR

Passage :

She stood alone in the vast field, the wind tousling her hair as the golden rays
of the setting sun painted the sky in hues of orange and pink. The tall grass
swayed gently around her, whispering secrets of centuries past. She closed
her eyes inhaling the infinitely earthy scent of the land feeling a deep sense of
peace wash over her. In that moment. she felt connected to the universe, a
mere speck in the grand scheme of things yet significant.

Questions:

a) Describe the setting depicted in the passage?

b) What is central theme of the passage?

c) What is the tone of the passage?

d) How does the author use Sensory imagory to evoke the scene?

e) How does the Character feel in the passage?





Q1) Attempt any FIVE of the following : [10]
a) Eliminate the arbitrary function f from the equation z = 2x + f (xy).
b) Find the complementary function of the equation (D2 – D''2) z = 0.
c) Eliminate the arbitrary constants a and b from the equation

z = (x – a) + (y – b).

d) Classify the equation 
2 2

2 2 0u u
x y

¶ ¶
- =

¶ ¶
.

e) Define surface.
f) True or False. Parametric equations of surface are unique.

g) If G = x + 2y + 3z and F = 2x + y, then find ( , )
( , )
F G
x y

¶
¶

.

Q2) Attempt any FOUR of the following : [20]
a) Prove that the direction cosines of the tangent to the curve

x = x(s), y = y(s) and z = z(s) at a point P(x, y, z) are , ,dx dy dz
ds ds ds

æ ö÷ç ÷ç ÷çè ø .

b) Prove that a necessary and sufficient condition that the pfaffian differential
equation . 0X dr =  should be integrable is that . 0X curlX = .

c) Show that the direction cosines of the tangent at a point P(x, y, z)
to the conic ax2 + by2 + cz2 = 1, x + y + z = 1 are proportional to
(by – cz, cz – ax, ax – by).

Total No. of Questions : 4]

[Total No. of Pages : 3

[6301]-379
T.Y. B.A.

MATHEMATICS
DSE-2D, MS-8 : Partial Differential Equations
(2019 Pattern) (CBCS) (Semester - VI) (36342)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compuslory.
2) Figures to the right indicate full marks.

PC-936

SEAT No. :

P.T.O.



[6301]-379 2

d) Solve the equations 
( ) ( ) ( )

dx dy dz
x y z y z x x x y

= =
- - -

.

e) Using separation of variable method obtain the solution of one dimensional

wave equation 
2 2

2
2 2 , 0 , 0u uc x L t

t x
¶ ¶

= £ £ >
¶ ¶

 subject to conditions

u(0, t) = 0, t > 0; u(L, t) = 0, t > 0.

f) Find a particular integral of the equation (D2 – D')z = ex+y.

Q3) Attempt any FOUR of the following : [20]

a) Verify that the differential equation y(y + z)dx + z(x + z)dy + y(y – x)dz = 0
is integrable and find its primitive.

b) Reduce the partial differential equation Rr + Ss + Tt + f (x, y, z, p, q) = 0
to a canonical form.

c) If u is function of x, y and z which satisfies the partial differential equation

( ) ( ) ( ) 0u u uy z z x x y
x y z

¶ ¶ ¶
- + - + - =

¶ ¶ ¶
. Then show that u contains

x, y and z only in combination of x + y + z and x2 + y2 + z2.

d) If u is the complimentary function and z1 is a particular integral of a linear
partial differential equation then prove that u + z1 is general solution of
the equation.

e) Verify that the partial differential equation 
2 2

2 2 2

2z u z
x y x

¶ ¶
- =

¶ ¶
 is satisfied

by 1 ( ) ( )z y x y x
z
f f¢= - + -  where  is arbitrary function.

f) Prove that a Pfaffian differential equation in two variable always possesses
an integrating factor.
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Q4) Attempt any TWO of the following : [20]
a) Solve the equation (y + z)dx + (z + x)dy + (x + y)dz = 0 by Natani’s

method.

b) Reduce the equation 
2 2 2

2 23 3 10 0z z z
x y x y

¶ ¶ ¶
+ + =

¶ ¶ ¶ ¶
 to canonical form.

c) Solve (D2 + 3DD' + 2D'2)z = x – y.

d) Solve 
2

2

u uk
x t

¶ ¶
=

¶ ¶
 by separation of variable method.


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Q1) Write short notes on (any Three) : [15]

a) Urbanization.

b) Media.

c) Transnational investment.

d) Garbage issues.

e) Private Health Sectors Quality.

Q2) Answer the following questions in 50 words each (any Three) : [15]

a) Explain the characteristics of urbanization.

b) Elaborate the commercialization of media.

c) Discuss the characteristices of Social Movement.

d) Discuss the transport issues in urban society.

e) Explain the features of new education policy in India.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in 200 words each (any Two) : [20]

a) Explain the necessity and challenges of online teaching.

b) Media in post-truth era. Discuss.

c) Elaborate impact of media on Indian Democracy.

d) Explain the importance of Democracy in India.

Q4) Answer the following question in 300 words each (any One) : [20]

a) Explain the concept of Democracy and it's challenges in the contemporary
Indian Society.

b) Explain the concept of the public and private health sectors it's availability,
quality and affordability, health facilities.


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2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-937

àíZ 1) WmoS>³¶mV {Q>nm {bhm (H$moUVohr VrZ) : [15]

A) eharH$aU

~) àgma ‘mÜ¶‘o

H$) amï´>m§VrV Jw§VdUyH$

S>) H$Mam g‘ñ¶m

B) ImOJr Amamo½¶ joÌmVrb JwUdÎmm

àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) eharH$aUmMr d¡{eï>ço ñnï> H$am.

~) àgma ‘mÜ¶‘m§Mo ì¶dgm¶rH$aU {deX H$am.

H$) gm‘m{OH$ MidirÀ¶m d¡{eï>çm§Mr MMm© H$am.

S>) ehar g‘mOmVrb dmhVyH$sÀ¶m àíZm§da MMm© H$am.

B) Z{dZ e¡j{UH$ YmoaUmMr d¡{eï>ço ñnï> H$am.

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Am°ZbmB©Z {ejUmMr JaO Am{U AmìhmUo ñnï> H$am.

~) gÎ¶moÎma H$mimVrb àgma ‘mÜ¶‘o, MMm© H$am.

H$) ^maVr¶ bmoH$emhr darb àgma ‘mÜ¶‘mMm n[aUm‘ {deX H$am.

S>) ^maVmVrb bmoH$emhrMo ‘hËd {deX H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr EH$) [20]

A) bmoH$emhrMr g§H$ënUm ñnï> H$ê$Z g‘H$mbrZ ^maVr¶ bmoH$emhr g‘moarb AmìhmUo ñnï>
H$am.

~) gmd©OZrH$ d ImOJr Amamo½¶ joÌmMr g§H$ënZm gm§JyZ CnbãYVm JwUdÎmm, nadS>Umè¶m
Amamo½¶ gy{dYm ñnï> H$am.





Q1) Answer any Three of the following questions in 100 words each. [15]

a) Briefly elaborate the concept of Karma.

b) Briefly explain Cause of Suffering as one of Four Noble Truth.

c) Dhamma as a way of Religion Explain in Brief

d) Briefly explain the concept of Sramana as explained by Gautama Buddha.

e) Briefly discuss ‘Suffering as one of four Noble Truth.

Q2) Answer any Two of the following questions in 200 words each. [20]

a) Explain the problem of Negligence.

b) Explain Gautama Buddha’s view of Nature.

c) Describe in the path of cessation of suffering practiced by Gautama
Buddha.

d) Explain the characteristics of an Ideal Person.

Total No. of Questions : 4]
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Q3) Write short notes in 100 words each (any three). [15]

a) Shila - Gautam Baudha

b) Centrality of Mind

c) Magga - Gautam Baudha

d) Pradnya

e) Craving - Gautam Baudha

Q4) Answer any one of the following questions in 400 words. [20]

a) Explain in detail the nature of the Four Noble Truths taught by Gautama
Buddha

b) Explain in detail Gautama Buddha’s approach to Health.

♦♦♦



Total No. of Questions : 4]
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(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 100 eãXmV {bhm. [15]

A) H$_© gH$ënZm WmoS>Š`mV ñnï> H$am.

~) Xþ:I H$maU ho Am ©̀gË` WmoS>Š`mV ñnîQ> H$am.

H$) Yå_ : Y_m©Mm _mJ©, WmoS>Š`mV ñnï> H$am.

S>) Jm¡V_ ~wÕm§Zr gm§{JVbobr l_U g§H$ënZm WmoS>Š`mV {deX H$am.

B) Xþ:I `m Am ©̀ gË`m§~Ôb WmoS>Š`mV MMm© H$am.

àíZ 2) nwT>rbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXmV {bhm. [20]

A) {ZfoY/ZmH$mabonUm hr g_ñ`m ñnîQ> H$am.

~) {ZgJ©{df`H$ Jm¡V_ ~wÕ `m§Mm Ñï>rH$moZ ñnï> H$am.

H$) Jm¡V_ ~wÕ à{UV Xþ:I {ZamoY _mJm©Mo dU©Z H$am.

S>) AmXe© ì`º$sMr JwU-d¡{eï>ço ñnï> H$am.

P.T.O.

PC-938

3
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àíZ 3) àË òH$s 100 eãXm§V Q>rnm {bhm (H$moUË`mhr VrZ). [15]

A) erb - Jm¡V ~wÕ

~) _ZmMr EH$mJ«Vm

H$) _½J : Jm¡V_ ~wÕ

S>) àkm

B) bmbgm - Jm¡V_ ~wÕ

àíZ 4) nwT>rbn¡H$s H$moUË`mhr EH$m àíZm§Mr CÎma àË òH$s 400 eãXmV {bhm. [20]

A) Jm¡V_~wÕ à{UV Mma Am ©̀gË`m§Mo ñdê$n g{dñVa {deX H$am.

~) Amamo½`{df`H$ Jm¡V_ ~wÕ `m§Mm Ñï>rH$moZ g{dñVa ñnîQ> H$am.

♦♦♦



Q1) Write the answers to the following question in 20 words (any eight) : [16]

a) What is socialism according to Nehru?

b) State the two books of Karl Marx.

c) Who proposed the theory of needs?

d) What is knowledge society?

e) Marx’s communism emerged in which country?

f) Who wrote the book Discovery of India?

g) Write the name of two books by Abraham Maslow.

h) Who introduced the concept of knowledge workers?

i) According to Peter Druker which is the most important factor in human
progress?

j) Who is called the Pioneer of ‘Panchayat Raj’ institution in India?

Total No. of Questions : 4]
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Q2) Write the answers to the following questions in 50 words (any four) : [16]

a) Explain Karl Marx’s nature of bureaucracy.

b) Describe Maslow’s lower level needs.

c) Explain Peter Druker’s concept of knowledge society.

d) Drucker’s views on new public management.

e) State the characteristics of Nehru’s Socialism.

f) Explain the Karl Marx views on class approach.

Q3) Write the answers to the following questions in 100 words : (any three) [18]

a) Explain Maslow’s theory of human motivation.

b) State Druker’s management by objective.

c) Explain Nehru’s views on administration.

d) State the characteristics of Marx’s bureaucracy.

Q4) Write the answers to the following questions in 200 words. (any two) [20]

a) Explain Maslow’s need Hierarchy theory.

b) State Nehru’s views on Decentralization.

c) Explain Peter Drucker’s concept of knowledge workers.


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2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC-939

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 20 eãXm§V [bhm. (H$moUVohr AmR>) [16]

A) ZohéÀ`m _Vo g_mOdmX åhUOo H$m`?

~) H$mb© _mŠg©À`m XmoZ nwñVH$mMr Zmdo gm§Jm?

H$) JaO {gX²Ym§V H$moUr _m§S>bm?

S>) kmZ g_mO åhUOo H$m`?

B>) H$mb© _mŠg©Mm g_mOdmX H$moUË`m XoemV CX`mg Ambm.

\$) "{S>ñH$ìhar Am°\$ B§{S>`m' hm nwñVH$ H$moUr {b{hbm?

`) A~«mh²_ _mñbmoÀ`m XmoZ nwñVH$mMr Zmdo {bhm.

a) kmZ H$m_Jma hr g§H$ënZm H$moUr _m§S>br?

b) {nQ>a S´>H$aÀ`m _Vo _mZdr àJVrVrb _hËdmMm KQ>H$ H$moUVm?

d) ^maVmVrb "n§Mm`VamO' Mo OZH$ H$moUmg åhUVmV?

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V [bhm. (H$moUVohr Mma) [16]
A) H$mb© _mŠg©À`m ZmoH$aemhrMo ñdén ñnï> H$am.

~) _mñbmoÀ`m H${Zð> JaOm§Mo dU©Z H$am.

H$) {nQ>a S´>H$aMr kmZ g_mO g§H$ënZm ñnï> H$am.

S>) S´>H$aMr Zd bmoH$ ì`dñWmnZmMr _Vo.

B) ZohéÀ`m g_mOdmXmMr d¡{eîQ>ço gm§Jm.

\$) H$mb© _mŠg©À`m dJ© Ñ{ï>H$moZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 100 eãXm§V [bhm. (H$moUVohr VrZ) [18]
A) _mñbmoMm _mZdr A{^àoaU {gX²Ym§V ñnï> H$am.

~) S´>H$aMr C{Ôï>mZwén ì`dñWmZ gm§Jm.

H$) ZohéMr àemgZm~m~VMr _Vo ñnï> H$am.

S>) _mŠg©À`m ZmoH$aemhrMr d¡{eîQ>ço gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CËVao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) _mñbmoMm JaO nXgmonmZ {gX²Ym§V ñnï> H$am.

~) ZohéMr {dH|$ÐrH$aUm~m~VMr _Vo gm§Jm.

H$) {nQ>a S´>H$aMr kmZ H$m_Jma g§H$ënZm ñnï> H$am.


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doi :  2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PC-940

SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§n ª̀V {bhm. [15]

A) _hmamï´> emgZmMo _amR>r ^mfm{df`H$ YmoaU ñnï> H$am.

~) amÁ`KQ>ZoVrb _amR>r ^mfm{df`H$ VaVwXtMm AmT>mdm ¿`m.

H$) "H${dVm' `m gm{hË`àH$mamMr d¡{eï>ço {bhm.

S>) "hm`Hw$' `m H$mì`àH$mamMo ñdê$n CXmhaUmgh ñnï> H$am.

B) H$dr àdrU AŠH$Zdé `m§À`m "AmB©bm H$im`À`m ZmhrV _mÂ`m H${dVm' `m H${dVoVrb
Ame` ñnï> H$am.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n ª̀V {bhm. [20]

A) _amR>r amO^mfm A{Y{Z`_m§Mm n[aM` H$éZ Úm.

~) _amR>r ^mfm{df`H$ H$m ©̀ H$aUmÀ`m emgH$s` g§ñWm§Mr AmoiI H$éZ Úm.

H$) H${dVoMo àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n ª̀V {bhm. [20]

A) H$dr {ZVrZ ^aV dmK `m§À`m "ê$n H${dVoMo' `m nmR>çnwñVH$mVrb H${dVm§Mo agJ«hU
H$am.

~) H$dr Xo{dXmg Mm¡Yar `m§À`m "ê$n H${dVoMo' `m nmR>çnwñVH$mVrb H${dVm§Mm Ame` Vw_À`m
eãXm§V {bhm.

H$) "ê$n H${dVoMo' `m nmR>çnwñVH$mVrb H$d{`Ìr àkm Úm ndma `m§À`m H${dVm§Mm n[aM`
H$éZ Úm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§n ª̀V {bhm. [15]

A) H$dr g§Vmof nX²_mH$a ndma `m§À`m "ê$n H${dVoMo' `m nmR>çnwñVH$mVrb H${dVm§Mo
Ame`gm¢X ©̀ ñnï> H$am.

~) "ê$n H${dVoMo' `m nmR>çnwñVH$mVrb H$dtMm n[aM` H$éZ Úm.


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àíZ 1) nwT>rbn¡H$s ghm n¡H$s Mma àíZm§Mr CÎmao {bhm. [20]

A) d¥ÎmnÌmÀ¶m Om{hamVrMo ñdê$n ñnï> H$am.

~) g§Ho$V ñWimMr JaO d ‘hËd gm§Jm.

H$) do~gmB©Q> åhUOo H$m¶ Vo gm§Jm.

S>) Om{hamVrMr ‘mÜ¶‘o H$moUVr Amho Vo gm§Jm.

B) g§{hVm boIZ åhUOo H$m¶ Vo gm§JyZ H$moUH$moUË¶m àgma-‘mÜ¶‘mgmR>r boIZ H$amdo bmJVo
Vo gm§Jm.

’$) AmH$medmUrdarb Om{hamVrVrb KQ>H$ gm§Jm.

àíZ 2) nwT>rb VrZ n¡H$s XmoZ àíZmMr CÎmao g{dñVa {bhm. [20]

A) {MÌnQ> n[ajU H$aVm§Zm {MÌnQ>mVrb H$moUË¶m Jmoï>rda àH$me Q>mH$bm OmVmo Vo {bhm.

~) ‘{bH$m n[ajU d {MÌnQ> n[ajU ¶mVrb gmå¶ ôX ñnï> H$am.

H$) Vwåhr nm{hboë¶m§ EH$m {MÌnQ>mMo n[ajU H$am.

P.T.O.

SEAT No. :



[6301]-384 2

àíZ 3) nwT>rb VrZ n¡H$s XmoZ àíZm§Mr CÎmao g{dñVa {bhm. [20]

A) àgma‘mÜ¶‘o d Om{hamV ¶m§Mm AZw~§Y ñnï> H$am.

~) ãbm°J (AZw{XZr) ~XbVo ì¶dgm¶mda Z‘wZm ãbm°J boIZ H$am.

H$) H$moUH$moUË¶m KQ>H$m§‘yio d¥ÎmnÌr¶ Om{hamV AmH$f©H$ d dmMZr¶ hmoVo gm§Jm.

àíZ 4) nwT>rbn¡H$s EH$m àíZmMo CÎma g{dñVa {bhm. [10]

A) Zdg‘mO‘mÜ¶‘o d ~mobr^mfm ¶mMm AZw~§Y ñnï> H$am.

~) Ý¶wO nmoQ>©bMr ì¶m»¶m gm§JyZ VrMo ñdê$n ñnï> H$am.





Total No. of Questions : 4]

[Total No. of Pages : 3

[6301]-385
T.Y. B.A.
FRENCH

CC-1F : UPPER INTERMEDIATE FRENCH
(2019 Pattern) (Semester - VI) (36033)

Time : 2½ Hours] [Max. Marks : 70

PC-942
SEAT No. :

P.T.O.



2[6301]-385



3[6301]-385

♦♦♦



Total No. of Questions : 3]

[Total No. of Pages : 3

[6301]-386
T.Y. B.A.

GERMAN
CC-1F GG6 : German General

(2019 Pattern) (CBCS) (36043) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-943
SEAT No. :

P.T.O.

[16]

[6]

[10]

[30]
[20]
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[3]

[3]

[10]

[6]

[2]

[6]

[2]

[24]
[4]
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[4]

[4]

[6]

[10]





[6301]-387
T.Y.B.A. (Semester - VI)

  URDU    

CC-1F-Urdu Fiction : Study of Dastan & Afsana

  (2019 Pattern) (CBCS) (36073) (G-3)

PC-944 

Total No. of Questions : 5

[Time :2½ HoursTotal Marks :70]

P.T.O.

 Instructions to the candidates:

1)       All the questions are compulsory.

2) Figures to the left side indicate full marks.

 :1 





  2 





 3 





[10]

SEAT No.

Total No. of Pages : 2

[15]

[10]



  4 





   5 

  (i     

 (ii       

 (iii 

 (iv 

 (v          

               (vi          

       



- 2 - [6301] - 387

[15]

[20]



Total No. of Questions : 3]

[Total No. of Page : 1

[6301]-388

T.Y. B.A.

MARATHI (_amR>r)
SEC - 2D (2) : H$m ©̀H«$_ g§̀ moOZmVrb ^m{fH$ H$m¡eë ò : ^mJ - 2

(2019 Pattern) (CBCS) (Semester - VI) (36025)

doi : 2 Vmg]                      [EHy$U JwU : 25

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PC-945

àíZ 1) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma g{dñVa {bhm. [10]

A) ‘amR>r ^mfm n§YadS>m H$m¶©H«$‘mMo Ahdmb boIZ H$am.

~) ‘hm{dÚmb¶mV ‘amR>r {d^mJmZo Am¶mo{OV Ho$boë¶m H${dg§‘obZmMr nyd©V¶mar H$er H$amb?
Vo {bhm.

àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma g{dñVa {bhm. [10]

A) "‘amR>r ^mfm Jm¡ad {XZ' H$m¶©H«$‘mMr H$m¶©H«$‘n{ÌH$m boIZ H$am.

~) Am^mgr (Am°ZbmB©Z) H$m¶©H«$‘m§Mo ‘hËd gm§Jm d Am¶moOZmV ¶oUmè¶m AS>MUt{df¶r
g{dñVa {bhm.

àíZ 3) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [5]

A) "dmMZ àoaUm {XZ' H$m¶©H«$‘mgmR>r à‘wI A{VWtMo {Z‘§ÌUnÌ V¶ma H$am.

~) Py‘/JwJb {‘Q> darb H$m¶©H«$‘mV ¶oUmè¶m AS>MUr H$moUË¶m?



SEAT No. :



[6301]-389
T.Y.B.A. (Semester - VI)

  URDU    

SEC-2D : Introduction to Mass Media in Urdu

  (2019 Pattern)  (36074) 

PC-946 

Total No. of Questions : 2

[Time :2 HoursTotal Marks :25]

     

 (1

 (2

 


 :1 



 




 


 2 



 



[15]

SEAT No.

Total No. of Pages : 1

[10]



Total No. of Questions : 3]

[Total No. of Page : 1

[6301]-390
T.Y. B.A.

HINDI (qhXr)
SEC - 2D : Skill Enhancement Course

 nmR²>`M`m© : gm{hË` Am¡a {\$ë_m§VaU
(2019 Pattern) (CBCS) (Semester - VI) (36096)

g_` : 2 K§Q>o]                      [nyUmªH$ : 25
gyMZm : 1) g^r àíZ A{Zdm ©̀ h¢ &

2) Xm{hZr Amoa àíZm| Ho$ nyUmªH$ h¢ &

PC-947

àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [10]

A) "{gZo_m' Ho$ {bE à ẁŠV hmoZodmbo {d{^Þ eãXm| Ho$ AmYma na {gZoo_m H$m ñdê$n ñnï>
H$s{OE &

~) {gZo_m Ho$ {H$gr EH$ VËd H$m {ddoMZ H$s{OE &

H$) ^maVr` _yH$ {gZo_m H$m n[aM` Xr{OE &

S>) gm{hË` Am¡a {gZo_m Ho$ A§V: g§~§Y na àH$me S>m{bE &

àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [10]

A) gm{hË` Ho$ {\$ë_m§VaU H$m _hËd {b{IE &

~) "gmam AmH$me' {\$ë_ H$m Ame` {b{IE &

H$) "gX²J{V' [\$ë_ H$m n[aM` Xr{OE &

S>) qhXr CnÝ`mg na ~Zr {H$gr EH$ {\$ë_ H$m n[aM` Xr{OE &

àíZ 3) {ZåZ{b{IV _| go {H$gr EH$ {df` na {Q>ßnUr {b{IE & [5]

A) BŠH$sgdt gXr _| qhXr {gZo_m &

~) "Vrgar H$g_' {gZo_m Ho$ JrV &

♦♦♦

SEAT No. :



Q1) lr_ØJdÒrVmnR>ZñnYm©̀ m§ ^mJ§ J«hrVw§ àYmZmMm`m©̀  àmW©ZmnÌ§ {bIVw & [7]

Q2) dmŠ §̀ ewÕ§ H¥$Ëdm nwZ{b©IV & [5]
i) "G$Vwg§hma' ZmpåZ H$mì §̀ fS²> G$VwZm§ dU©Z§ {dÚVo &

ii) nwam Ymam ZJao àOmdËgbmo {gÝYwbmo Zm_ amk… AmgrV² &

iii) `Xm g… amJ§ Ûof§ M A{VH«$_pÝV VXm g… _moj§ àmßZmo{V &

iv) `Xm _oK… AmH$meo JO©pÝV VXm _ ỳam… àgÞm… ^dpÝV Z¥Ë`pÝV M &

v) CÎmaàXoeo AZoH$m… VrW©ñWbm{Z gpÝV &

Q3) {ejH${XZg_mamohñ` gyÌg§MmbZg§{hVm ñdeãX¡… {bIV & [7]

Q4) _ÄOyfmV… g_w{MVm{Z nXm{Z {MËdm [aº$ñWmZm{Z nya`V & [6]
(ghgm, Xÿao, H«$_e…, `Xm, VXm, naÝVw, `{X, V{h©)

EH$pñ_Z² dZo H$üZ ì`mY… Omb§ {dñVr ©̀ ..................... pñWV… & ..................... AmH$meo
gn[adma… H$nmoVamO… {MÌJ«rd… {ZJ©V… & ............ VÊSw>bH$UmZm_wn[a H$nmoVmZm§ bmô mo OmV… &..............
............ amOm VÌ gh_V… ZmgrV² & Vñ` ẁ{º$ AmgrV² ......... {ZO©Zo dZo H$mo@{n _Zwî`mo ZmpñV ..........
........... Hw$Vmo dm VÊSw>bH$UmZm§ gå^d…?



Total No. of Questions : 4]

[Total No. of Page : 1

[6301]-391
T.Y. B.A.

SANSKRIT (g§ñH¥$V)
SEC-2D Sanskrit Writing Skill

(2019 Pattern) (Credit) (Semester - VI) (36114)

Time : 2 Hours] [Max. Marks : 25
Instructions : 1) All questions are compulsory.

gd© àíZ  A{Zdm ©̀ AmhoV.
2) Figures to right indicate full marks.

COdrH$S>rb A§H$ JwU Xe©{dVmV.

PC-948

SEAT No. :



Q1) Answer any one question of the following in 200 words (any 1) : [10]
a) Discuss on rethinking of Bilingual Bombay State.
b) What is Regional imbalance? Explain the nature of Regional imbalance.

Q2) Answer any one question of the following in 200 words (any 1) : [10]
a) Discuss on the formation of samyukt Maharashtra movement.
b) Explain the aftermath of samyukt Maharashtra movement on the politics

of Maharashtra.

Q3) Write short note (any one) : [5]

a) Demond of separate vidarbha.

b) Regional Development Board.



Total No. of Questions : 3]

[Total No. of Pages : 2

[6301]-392
T.Y. B.A.

POLITICAL SCIENCE/PUBLIC ADMINISTRATION
SEC-2D : Samyukta Maharashtra Movement

(2019 Pattern) (CBCS) (Semester - VI) (36165/36447)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-949

SEAT No. :

P.T.O.



[6301]-394 2

Total No. of Questions : 3]

[6301]-392
T.Y. B.A.

POLITICAL SCIENCE/PUBLIC ADMINISTRATION
SEC-2D : Samyukta Maharashtra Movement

(2019 Pattern) (CBCS) (Semester - VI) (36165/36447)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-949

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm (H$moUVohr EH$) … [10]

A) {Û^m{fH$ _w§~B© amÁ`mMm nwZ©a{dMma `mda MMm© H$am.

~) àmXo{eH$ Ag_Vmob åhUOo H$m`? àmXo{eH$ Ag_VmobmMo ñdê$n ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm (H$moUVohr EH$) … [10]

A) g§̀ wº$ _hmamï´>mMr {Z{_©Vr `mda MMm© H$am.

~) g§̀ wº$ _hmamï´> {Z{_©VrZ§VaMo _hmamï´>mMo amOH$maU ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVrhr EH$) … [5]

A) ñdV§Ì {dX^m©Mr _mJUr

~) àmXo{eH$ {dH$mg _§S>i





Total No. of Questions : 3]

[Total No. of Pages : 2

[6301]-393
T.Y. B.A.

HISTORY
SEC - 2(D) (2) : Heritage Management
(2019 Pattern) (Semester - VI) (36176)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-950

Q1) Write the answer to the following questions in 200 words (any one) : [10]

a) What are the challenges of preserving Heritage? Explain it.

b) Describe the Government Authority's role in development of Heritage.

Q2) Write the answer to the following questions in 200 words (any one) : [10]

a) Do you think that the study of urban Heritage is important in the subject
of architectural design? Give the examples from ancient to medieval period.

b) Explain the public policy for the conservation of cultural Heritage.

Q3) Write short note (any one) : [5]

a) Sanchi stupa.

b) Kailasa Temple.



SEAT No. :

P.T.O.



2

Total No. of Questions : 3]

[6301]-393
T.Y. B.A.

B{Vhmg
SEC - 2(D) (2) : dmagm ì¶dñWmnZ

(2019 Pattern) (Semester - VI) (36176)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25

gyMZm : 1) gd© àíZ A{Zdm`© AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

PC-950

àíZ 1) Imbrb àíZm§Mo CÎma 200 eãXmV {bhm. (H$moUVohr EH$) [10]

A) dmagm OVZ H$aÊ¶mMo AmìhmZo H$m¶ AmhoV? Vo ñnï> H$am.

~) dmagm {dH$mgmV gaH$mar àm{YH$aUm§À¶m ŷ{‘Ho$Mo dU©Z H$am.

àíZ 2) Imbrb àíZm§Mo CÎma 200 eãXmV {bhm. (H$moUVohr EH$) [10]

A) ñWmnË¶ aMZm ¶m {df¶mV ehar dmaemMm Aä¶mg ‘hËdmMm Amho Ago Vwåhmbm dmQ>Vo H$m?
àmMrZ Vo ‘Ü¶¶wJrZ H$mimVrb CXmhaUo Úm.

~) gm§ñH¥${VH$ dmaemÀ¶m g§dY©ZmgmR>r gmd©O{ZH$ YmoaU ñnï> H$am.

àíZ 3) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr EH$) [5]

A) gm§Mr ñVyn

~) H¡$bmg ‘§Xra





Q1) Write the answer to the following questions in 200 words. [10]

a) Explain the similirities and differance between History and Archaeology.

OR

b) What is Archaeology? Explain the importance of Archaeology.

Q2) Write the answer to the following questions in 200 words. [10]

a) Explain the charactristic and importance of cultural Heritage.

OR

b) Write detailed information about Archaeological Survey of India. (ASI).

Q3) Write short note. (any 1) [5]

a) Deccan college, Pune.

b) Historical Monuments.

♦♦♦

Total No. of Questions : 3]

[Total No. of Pages : 2

[6301]-394
T.Y. B.A.

HISTORY
(Skill Enhancement Course)

SEC - 2D : ARCHAEOLOGY
(2019 Pattern) (CBCS) (Semester - VI) (36177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-951

SEAT No. :

P.T.O.



Total No. of Questions : 3]

[6301]-394
T.Y. B.A.

HISTORY
(Skill Enhancement Course)

SEC - 2D : ARCHAEOLOGY
(2019 Pattern) (CBCS) (Semester - VI) (36177)

(_amR>r ê$nm§Va)
doi : 2 Vmg ]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. [10]

A) B{Vhmg d nwamVËd{dX`m `m§Vrb gmå` d \$aH$ ñnï> H$am.

qH$dm

~) nwamVÎd {dÚm åhUOo H$m`? nwamVÎd {dX òMo _hÎd ñnï> H$am.

àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. [10]

A) gm§ñH¥${VH$ dmaemMo d¡{eï>ço Am{U _hËd ñnï> H$am.

qH$dm

~) ^maVr` nwamVËd gd}jU (A.S.I.) Mr g{dñVa _m{hVr {bhm.

àíZ 3) {Q>nm {bhm. (H$moUË`mhr EH$) [5]

A) S>oŠH$Z H$m°boO, nyUo

~) Eo{Vhm{gH$ ñ_maHo$

♦♦♦
P.T.O.

PC-951

2



Q1) Write the Answer to the following question in 200 words (Any one) : [10]

a) Explain the importance of numismatics in reconstruction Economic
history.

OR

b) Briefly review the Post-Maurya Coins.

Q2) Write the Answer to the following question in 200 words (Any one) : [10]

a) Explain about coins of Delhi Sultanate Period.

OR

b) Explain the types of coins in independent India.

Q3) Short Note (any one) [5]

a) Karshapanas Coins

b) Shivrai


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Total No. of Questions : 3]
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T.Y. B.A.
B{Vhmg

SEC-2D : ZmUH$emó
(2019 Pattern) (Semester - VI) (36178)

(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PC-952

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]
A) Am{W©H$ B{VhmgmÀ`m nwZa©MZoV ZmUH$emómMo _hËd ñnï> H$am.

qH$dm

~) _m¡̀ ©Îma H$mimVrb ZmÊ`m§Mm WmoS>Š`mV AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]
A) {Xëbr gëVZVH$mimVrb ZmÊ`m§{df`r _m{hVr ñnï> H$am.

qH$dm

~) ñdV§Ì ^maVmVrb ZmÊ`m§À`m àH$am{df`r _m{hVr Xçm.

àíZ àíZ àíZ àíZ àíZ 3) Q>rn {bhm (H$moUVohr EH$) [5]
A) H$mfm©nU ZmUr

~) {edamB©





Q1) Answer the questions in 20 words each (any five) : [10]
a) Write any two sources of secondary data.
b) Define questionnaire?
c) Define thesis?
d) Name the types of questionnaire.
e) What is footnotes?
f) What is Research paper?
g) Name any two elements of research report writing.

Q2) Write short note in 100 words (any two) : [8]
a) Merits of questionnaire
b) Review Article
c) Government sources of secondary data.

Q3) Write the answer in 150 words (any one) : [7]
a) Concept of case study.
b) Write characteristics of good research report writing.


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[6301]-396
T.Y. B.A.

GEOGRAPHY
SEC-2D : Research Methodology - II

(2019 Pattern) (CBCS) (Semester - VI) (36206)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) Amdí`H$ VoWo AmH¥$Ë`m H$mT>m.

3) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.

4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-953

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 20 eãXm§V {bhm (H$moUVohr nmM) … [10]
A) Xþæ`_ _m{hVrMo H$moUVohr XmoZ ómoV gm§Jm.
~) àíZmdbrMr ì`m»`m {bhm.
H$) à~§YmMr ì`m»`m {bhm.
S>) àíZmdbrMo àH$ma {bhm.
B>) Vi{Q>n åhUOo H$m`?
’$) emoY{Z~§Y åhUOo H$m`?
¶) g§emoYZ Ahdmb boIZmMo H$moUVohr XmoZ KQ>H$ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 100 eãXm§V {bhm (H$moUVohr XmoZ) … [8]
A) àíZmdbrMo JwU {bhm.
~) nwZamdbmoH$Z boI
H$) Xþæ`_ _m{hVrMo emgH$s` ómoV

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 150 eãXm§V {bhm. (H$moUVmhr EH$) … [7]
A) {d{eï> {df`JV Aä`mg (case study)
~) CËH¥$ï> g§emoYZ AhdmbmMo d¡{eï>ço {bhm.


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PC-954

Q1) Answer the following (any one) : [10]

a) Write the advantage of positive self esteem with special tips for women.

b) What is Lateral Thinking? Describe Idea Generating Tools.

Q2) Answer the following (any one) : [10]

a) Describe Non-verbal communication with some example.

b) Describe 360 degree assessment.

Q3) Answer the following (any one) : [5]

a) Explain dangers of negative self-esteems.

b) Give the advantages of written communication.


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gyMZm : 1) gd© àíZ A{Zdm`© AmhoV.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PC-954

àíZ 1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr EH$) [10]

A) gH$mamË‘H$ AmË‘AmXamMo ’$m¶Xo {bhm d ‘{hbm§gmR>r Ë¶mVrb ‘hËdmÀ¶m {Q>ßg² gm§Jm.

~) g‘J« {dMma åhUOo H$m¶? H$ënZm {Z{‘©VrÀ¶m gmYZm§Mo dU©Z H$am.

àíZ 2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr EH$) [10]

A) A^m{fH$ g§dmX CXmhaUo XodyZ dU©Z H$am.

~) 360º Mo ‘yë¶‘mnZ dU©Z H$am.

àíZ 3) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr EH$) [5]

A) ZH$mamË‘H$ AmË‘AmXamMo YmoHo$ ñnï> H$am.

~) boIr g§dmXmMo ’$m¶Xo gm§Jm.





Q1) Select the correct option for and rewrite the statement : [5]
a) According to the freedom from fear understanding, the core of human

security is embodied in which of the following:
i) The UN Charter
ii) US Security Doctrine
iii) Soviet Security Doctrine
iv) International Monetary Fund

b) UDHR stands for:
i) Universal Declaration of Human Rights
ii) United Declaration of Human Rights
iii) Universal Decrease in Human Rights
iv) Universal Declaration of Humanity Rights

c) What are Human Rights
i) rights that belong to an individual or group of individuals simply for

being human
ii) are moral principles or norms formed for all human beings
iii) are often described as Fundamental Rights
iv) All of the above

d) In which of the following congressional sessions did the “Indian people
want to pursue a policy of friendship and peace with other nations?”
There should be lasting peace in the world.And to stop imperialism and
human exploitation.
i) Ahmednagar ii) Haripur

iii) Allahabad iv) Delhi

Total No. of Questions : 3]

[Total No. of Pages : 4
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e) 1987, the Dalai Lama proposed a ______ for the restoration of peace
and human rights in Tibet.

i) Six point peace plan

ii) Four point peace plan

iii) Five point peace plan

iv) Two point peace plan

Q2) Write the answers in 100 words (any three) : [12]

a) Explain the Fundamental rights.

b) Explain the role of Maharashtra State Women’s Commission

c) Explain the National Commission for the Protection of Child Rights.

d) State the Charter of Indian Rights

e) Explain the concept of Sarvodaya.

Q3) Write the answers in 200 words (any one) [8]

a) Explain the role of the National Commission for Scheduled Castes and
Scheduled Tribes.

b) Explain the role of the National Human Rights Commission.

♦♦♦



Total No. of Questions : 3]

[6301]-398
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
SEC - 2D : Human Rights and Indian

(2019 Pattern) (CBCS) (Semester - VI) (36274)
(_amR>r ê$nm§Va)

doi : 2 Vmg ]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm ©̀.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

àíZ 1) `mo½` n`m©̀  {ZdS>m Am{U nwÝhm {bhm. [5]

A) ^` g_OyZ KoÊ`mÀ`m ñdmV§Í`mZygma, _mZdr gyajoMm Jm^m Imbrbn¡H$s H$emV A§V ©̂yV
Amho.

i) ỳEZ MmQ>©a

ii) ỳEg gwajm {gÕm§V

iii) gmopìhEV gwajm {gÕm§V

iv) Am§Vaamï´>r` ZmUo{ZYr

~) UDHR åhUOo :

i) _mZdr hŠH$m§Mr gmd©{ÌH$ KmofUm

ii) _mZdr hŠH$m§Mr g§̀ wŠV KmofUm

iii) _mZdr hŠH$m§_Ü ò gmd©{ÌH$ KQ>

iv) _mZdVoÀ`m hŠH$m§Mr gmd©{ÌH$ KmofUm

H$) _mZdr hŠH$ H$m` AmhoV?

i) ì`ŠVr qH$dm ì`ŠVtÀ`m g_whmer g§~§{YV Agbobo A{YH$ma \$ŠV _mZd åhUyZ

ii) Z¡{VH$ VÎdo qH$dm gd© _mZdm§gmBr V`ma Ho$bobo {Z`_ AmhoV

iii) AZoH$Xm _yb ŷV hŠH$ åhUyZ dU©Z Ho$bo OmVo

iv) darb gd©

P.T.O.

PC-955
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S>) ""Irbrbn¡H$s H$moUË`m H$m±J«ogÀ`m A{YdoeZmV ""^maVr` bmoH$ BVa amï´>m§er _¡Ìr Am{U
em§VVm ẁŠV YmoaU R>ady BpÀN>VmV. OJmV H$m`_ em§VVm amhmdr Am{U gm_«mÁ`dmX d _mZdr
emofU Wm§~mdo'' Agm R>amd nmg H$aÊ`mV Ambm.
i) Ahmednagar  Ah_XZJa
ii) Haripur  h[anya
iii) Allahabad  Abmhm~mX
iv) Delhi {Xëbr

B) 1987 _Ü ò, XbmB© bm_m `m§Zr {V~oQ>_Ü ò em§VVm Am{U _mZdr hŠH$m§À`m nwZñ©WmnZogmR>r
....... àñVmd{V Ho$bo.
i) ghm H$b_r em§VVm `moOZm
ii) Mma H$b_r em§VVm `moOZm
iii) nmM H$b_r em§VVm `moOZm
iv) XmoZ H$b_r em§VVm `moOZm

àíZ 2) 100 eãXm§V CÎma {bhm. (H$moUVohr VrZ) [12]

A) _yb^yV A{YH$ma ñnï> H$am.

~) _hmamï´> amÁ` _{hbm Am`moJmMr ŷ{_H$m ñnï> H$am.

H$) amï´>r` ~mb hŠH$ g§ajU Am`moJmMo ñnï>rH$aU Úm.

S>) ^maVr` hŠH$m§Mr gZX gm§Jm

B>) gdm}X`mMr g§H$ënZm ñnï> H$am.

àíZ 3) 200 eãXm§V CÎma {bhm. (H$moUVohr EH$) [8]

A) amï´>r` AZwgy{MV OmVr Am{U AZwgy{MV O_mVr Am`moJmMr ŷ{_H$m ñnï> H$am.

~) amï´>r` _mZdm{YH$ma Am`moJmMr ŷ{_H$m ñnï> H$am.

♦♦♦



Q1) Attempt any one of the following in about 150 words. [10]

a) State the importance of psychological values.

b) Define core life values and state its scope.

Q2) Attempt any one of the following in about 150 words. [10]

a) Describe any five aesthetic values in brief.

b) Illustrate the concepts self-awareness and self management.

Q3) Attempt any one in about 50 words. [5]

a) Differentiate between ethical values and moral values.

b) Write a short on ‘Effective Implementation of professional values at the
workplace’.


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Q1) Answer any one of the following with in 250 words : [10]
a) What is violence? Explain the different types of violence.
b) Explain gender-based discrimination and violence in India.

Q2) Answer any one of the following with in 250 words : [10]
a) Discuss on issues related to violence.
b) Critically analyse the Criminal Law Amendment Act 2013.

Q3) Write short note (Any One) : [5]

a) LGBTQ

b) Mahatma Gandhi Tanta Mukti Yojana



Total No. of Questions : 3]

[Total No. of Pages : 2

[6301]-400
T.Y. B.A.

SOCIOLOGY
SEC-2D : Understanding and Mitigating Violence
(2019 Pattern) (CBCS) (Semester - VI) (36375)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-957

SEAT No. :

P.T.O.



[6301]-400 2

Total No. of Questions : 3]

[6301]-400
T.Y. B.A.

SOCIOLOGY
SEC-2D : Understanding and Mitigating Violence
(2019 Pattern) (CBCS) (Semester - VI) (36375)

(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC-957

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr EH$ àýmMo CÎma {bhm. (250 eãX>) … [10]

A) qhgm åhUOo H$m`? qhgmMmamMo {d{dY àH$ma ñnîQ> H$am.

~) ^maVmVrb qbJ^md AmYm[aV ôX^md Am{U qhgm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$ àýmMo CÎma {bhm. (250 eãX>) … [10]

A) qhgmMmamMr g§~§{YV àým§da MMm© H$am.

~) JwÝhoJmar H$m`Xm XþéñVr 2013 Mo {M{H$ËgH$ {dûcofU H$am.

àíZ àíZ àíZ àíZ àíZ 3) H$moUË`mhr EH$ àým§da {Q>n {bh. [5]

A) LGBTQ

~) _hmË_m J§mYr V§Q>m _wº$s `moOZm


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Q1) Write a short note on any three of the following in 50 words each. [15]

a) Meaning of yoga

b) Bhakti yoga

c) Buddha’s concept of ‘Samyak-Vacca’

d) Health and Yoga

e) Vipassana

Q2) Answer the following question in 200 words. (Any one) [10]

a) Explain the terms ‘Jnyana yoga’ and ‘Bhakti yoga’ in Bhagavadgita.

b) How can one improve his/her Vipassana, explain?


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[6301]-401
T.Y. B.A.

PHILOSOPHY

SEC - 2D : Course on Yoga and Vipassana : Way of Good Life
(2019 Pattern) (CBCS) (Semester - VI) (36425)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PC-958

àíZ 1) Imbrbn¡H$s H$moUË¶mhr VrZmda 50 eãXmV Q>rnm {bhm. [15]

A) ¶moJ g§H$ënZoMm AW©

~) ^³Vr¶moJ

H$) ~wÕmMr g§H$ënZm "gå¶H$ dmH²$'

S>) Amamo½¶ Am{U ¶moJ

B) {dní¶Zm

àíZ 2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo 200 eãXmV CÎmao {bhm. [10]

A) ^JdÒrVoVrb kmZ ¶moJ Am{U ^³Vr ¶moJ ñnï> H$am.

~) EImXr ì¶³Vr Ë¶mMr/{VMr {dní¶Zm H$er gwYmê$ eH$Vo, ñnï> H$am.


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[6301]-403
T.Y.B.A.

HINDI ({hÝXr)
CC-1F : JµOb {dYm Am¡a nÌmMma

nmR²>¶nwñVH$ … gm¶o ‘| Yyn … g§nm. Xþî¶ÝV Hw$‘ma
(2019 Pattern) (CBCS) (Semester - VI) (36093)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

PC959

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) JµOb eãX H$m AW© ~VmVo hþE JµOb Ho$ ñdê$n H$mo ñnï> H$s{OE&

~) Xþî¶ÝV Hw$‘ma H$m gm‘mÝ¶ n[aM¶ Xr{OE&

H$) "gm¶o ‘| Yyn' H$m gm‘mÝ¶ n[aM¶ Xr{OE&

S>) "Bg ZXr H$s Yma ‘| R>§S>r hdm AmVr Vmo h¡' JµOb Ho$ ‘mÜ¶‘ go H${d Xþî¶ÝV Hw$‘ma ³¶m H$hZm MmhVo
h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) "¶o gM h¡ {H$ nm±dmo Zo ~hþV H$ï> CR>mE±' JµOb H$m Ame¶ AnZo eãXm| ‘| {b{IE&

~) "~m‹T>> H$s g§̂ mdZmE± gm‘Zo h¡' JµOb H$m ^mdmW© AnZo eãXm| ‘| {b{IE&

H$) Xþî¶ÝV Hw$‘ma H$s JµObm| ‘| amOZr{VH$ MoVZm H$m {MÌU {H$g àH$ma hþAm h¡?

S>) "gm¶o ‘| Yyn' JµOb g§J«h ‘| Am‘ AmX‘r H$s nrS>m H$m {MÌU {H$g àH$ma hþAm h¡?

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo {df¶m| na {Q>ßn{U¶m± {b{IE … [14]

A) JµOb H$s ^mfm&

~) JµOb H$s {d{dY n[a^mfmE±&

H$) JµOb Ho$ {d{dY àH$ma&

S>) JµOb Ho$ {d{dY VËd&

[Total No. of Pages : 2
SEAT No. :

P.T.O.
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à.à.à.à.à.4) A) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE … [7]

i) ""IwXm Zhr§, Z ghr, AmX‘r H$m »dm~ ghr,

H$moB© hgrZ ZOmam Vmo h¡ ZOa Ho$ {bE&''

ii) ""Bg eha ‘| dmo H$moB© ~mamV hmo ¶m dmaXmV,

A~ {H$gr ^r ~mV na IwbVr Zht h¡ {IS>{H$¶m±&''

~) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE … [7]

i) ""ha gS>H$ na ha JmS>r ‘|, ha ZJa, ha Jm±d ‘|,

hmW bhamVo hþE ha bme MbZr Mm{hE&''

ii) ""VwPo H$g‘ h¡ IwXr H$mo ~hþV hbmH$ Z H$a,

Vy Bg ‘erZ H$m nwOm© h¡, Vy ‘erZ Zht&''

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo {df¶ na nÌ boIZ H$m Z‘yZm V¡¶ma H$s{OE … [14]

A) ^maV gaH$ma, ImÚ ‘§Ìmb¶ Ho$ Cng{Md, lr amHo$e, h[a¶mUm Ho$ AH$mb nr{S>V bmoJm| H$mo AÞ
gm‘J«r nhÿ±MmZo Ho$ g§X ©̂ ‘| h[a¶mUm gaH$ma H$mo gaH$mar nÌ ôOVo h¡& gaH$mar nÌ H$m Z‘yZm
V¡¶ma H$s{OE&

~) H|$Ðr¶ qhXr {ZXoemb¶ Ho$ {ZXoeH$ g^r gaH$mar H$m¶m©b¶m| ‘| qhXr H$m à¶moJ A{Zdm¶© H$aZo Ho$
g§~§Y ‘| H$m¶m©b¶ kmnZ ôOVo h¡& kmnZ H$m Z‘yZm V¡¶ma H$s{OE&

H$) S>m°. Á¶mo{V, Mr’$ H$‘reZa, ‘mZd g§gmYZ {dH$mg ‘§Ìmb¶, ZB© {X„r, g^r {díd{dÚmb¶m| Ho$
Hw$bn{V¶m| H$mo ‘hmË‘m Jm§Yr H$s O¶§Vr ‘ZmZo hoVw n[anÌ Omar H$aVr h¡& n[anÌ H$m Z‘yZm V¡¶ma
H$s{OE&

S>) lr. à¶mJ ñdm‘r emIm à~§YH$ ñQ>oQ> ~¢H$ Am°’$ B§{S>¶m Jm§YrZJa AnZr emIm Ho$ H$‘©Mm[a¶m| H$mo
emIm H$s ’$mBb| AnZo Ka Z bo OmZo g§~§Yr H$m¶m©b¶ AmXoe Omar H$aVo h¡& nÌ H$m Z‘yZm V¡¶ma
H$s{OE&





Total No. of Questions : 5]

[6301]-404
T.Y.B.A.

HINDI ({hÝXr)
CC-1F: à¶moOZ‘ybH$ qhXr … ‘mÜ¶‘ boIZ

(2019 Pattern) (CBCS) (Semester - VI) (36094)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

PC960

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýhr§ Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) g§Mma ‘mÜ¶‘ H$m ‘hËd ñnï> H$s{OE&

~) g§Mma ‘mÜ¶‘ Ho$ àH$ma {b{IE&

H$) Ñí¶ ‘mÜ¶‘ Am¡a lì¶ ‘mÜ¶‘ ‘| ³¶m A§Va h¡?

S>) g§Mma ‘mÜ¶‘ H$s ^mfm na àH$me S>m{bE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýhr§ Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) à{VdoXZ H$s n[a^mfm ~VmH$a à{VdoXZ H$m ‘hËd ñnï> H$s{OE&

~) à{VdoXZ H$s {d{^Þ n[a^mfmE± {b{IE&

H$) n¥ð> g‚mm (‘oH$-An) Ho$ {d{dY A§J ñnï> H$s{OE&

S>) à{VdoXZ H$m ñdê$n ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýhr§ Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) g§Mma H$m ‘hËd ñnï> H$s{OE&

~) ZoQ> ~±qH$J H$m ñdê$n ñnï> H$s{OE&

H$) gm¶~a {ejm H$m ‘hËd AnZr ^mfm ‘| {b{IE&

S>) B©-g§gmYZm| H$s gr‘mAm| na àH$me S>m{bE&

[Total No. of Pages : 2
SEAT No. :

P.T.O.
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à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýhr§ VrZ na {Q>ßn{U¶m± {b{IE& [21]

A) g§Mma ‘mÜ¶‘ H$s AdYmaUm

~) Ñí¶ ‘mÜ¶‘ Ho$ àH$ma

H$) g‘mMma boIZ

S>) à{VdoXZ H$m ñdê$n

B) gm¶~a gwajm

’$) gwMZm àm¡X²¶mo{JH$s H$m ‘hËd

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýhr§ EH$ àíZ H$m CÎma {b{IE& [7]

A) g§Mma ‘mÜ¶‘ H$s ì¶m»¶m ~VmH$a Ñí¶ g§Mma ‘mÜ¶‘m| na àH$me S>m{bE&

~) à{VdoXZ [anmoQ>© H$s n[a^mfm ~VmH$a à{VdoXZ H$m ñdê$n ñnï> H$s{OE&

H$) gm¶~a {ejm H$m ‘hËd ñnï> H$s{OE&





[6301]-405
T.Y.B.A. 

PERSIAN 
CC-1E : Poetry, Poetic Terms and Figures of Speech

 (2019 Pattern ) (Semester - VI) (CBCS) (36103) 

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

 1) All questions are compulsory.

2) Figures to the right side indicate full marks.

Q1) Write a short note on any three of the following poetic terms: [12]



Q2) Define and illustrate any five of the following with example: [10]

    

Q3) Write the summery of any two of the following poems: [12]



Q4) Write a detailed note on any two of the following poets: [16]



P.T.O.
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Q5) A) Translate or explain any seven of the following couplets: [14]

 
   
 
 
 
 
  
 
   
 

   
 

Q5) B) Translate the following English passage in to your own language:

[6]

Meeting new people and dealing with unfamiliar situations helps

children develop social skills. They'll learn how to interact with people

of different ages, backgrounds, and cultures. In some cases, they get to

learn new languages. They'll also learn how to compromise and work as

a team. Studies show that children who travel frequently have higher

grades and test scores than those who don't. They're also more likely to

enroll in college and graduate. Travel enables children to learn new

things and think critically about the world around them.

[6301]-405 2



Total No. of Questions : 4]

[6301]-406
T.Y.B.A.

SANSKRIT (g§ñH¥$V)
SEC-1D : H${d^V©wh[a{da{MV§ Zr{VeVH$‘²

(2019 Pattern) (CBCS) (Semester - VI) (36113)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) All questions are compulsory.

gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) Figures to the right indicate full marks.

COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC962 [Total No. of Pages : 2
SEAT No. :

P.T.O.

Q1) Translate into English or Marathi. (any three) [15]

nwT>rbn¡H$s H$moUË¶mhr {VÝhtMo B§J«Or qH$dm ‘amR>rV ^mfm§Va H$am.

i) àgø ‘{U‘wÕaoÝ‘H$ad³Ì X§ï´>m  amV²&

g‘wÐ‘{n g§VaoV² àMbXÿ{‘©‘mbmHw$b‘²&

ŵO“m‘{n H$mo{nV§ {ea{g nwîndÕma¶oZ²&

Z Vw à{V{Z{dï>‘yI©OZ{MÎm‘mamY¶oV²&&

ii) {X¸$mbmÚZd{N>ÞmZÝV{MÝ‘mÌ‘yV©¶o&

ñdmZŵ yË¶oH$‘mZm¶ Z‘: emÝVm¶ VoOgo&&

O¶pÝV Vo gwH¥${VZmo ag{gÕm: H$drídam:&

ZmpñV ¶ogm§ ¶e:H$m¶o Oam‘aUO§ ^¶‘²&&

iii) ^dpÝV Z‘«mñVI: ’$bmoX²J‘¡

Z©dmå~w{^Xÿ©a{dbpå~Zmo KZm:&

AZwÕVm gËnwê$fm g‘¥{Õ{^:

ñd^md Ed¡f namonH$m[aUm‘²&

iv) qgh {eewa{n {ZnV{V ‘X‘{bZH$nmob{^{Îmfw JOofw&

àH¥${V[a¶§ gÎddVm§ Z Ibw d¶ñVoOgmo hoVw:&&

‘w
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Q2) a) Reference to the context in English or Marathi. (any two) [10]
gg§X ©̂ ñnï>rH$aU H$am. (H$moUË¶mhr Xmohm|Mo)
i) Z ̂ d{V {~gVÝVwdm©aU§ dmaUmZm‘²&
ii) jr¶ÝVo Ibw ̂ yfUm{Z gVV§ dm½ ŷfU§ ̂ yfU‘²&
iii) gËg“{V: H$W¶ qH$ Z H$amo{V n§wgm‘²&

b) Write answers in Sanskrit (any 5) : [5]
g§ñH¥$VmV CÎmao {bhm. (H$moUVrhr nmM)
i) ^Vw©hao: Zr{VeVH§$ {dhm¶ AÝ¶eVH$ñ¶ Zm‘{H$‘²?
ii) ^Vw©hao: ‘Z{g H${V eë¶m{Z?
iii) gd©{dXm§ g‘mOo AnpÊS>VmZm§ {d ŷfU§ {H$‘²?
iv) {dÎmñ¶ H${V JV¶: H$m: Vm:?
v) H$ñ¶ Am¡fY§ ZmpñV?
vi) ‘mZem¡¶© nÕË¶m‘² AmXm¡ H$: d{U©V:?

Q3) a) C{MV§ ¶w½‘§ {d{MZwV [5]
i) ‘yI©nÕ{V: a) nmdH$:
ii) {dÛËnÕ{V: b) kmZbdXþ{d©X½Y:
iii) ‘mZem¡¶©nÕ{V: c) JOnw“md:
iv) OwhdmZ§ Xh{V d) h§g:
v) na‘JhZ: e) godmY‘©:

b) Explain "gwOZnÕ{V:' [15]
"gwOZnÕ{V:' ñnï> H$am.

OR/qH$dm
Explain "H$‘©nÕ{V:'
"H$‘©nÕ{V:' ñnï> H$am.

Q4) Write short notes (Any two) : [20]
Q>rnm {bhm. (H$moUË¶mhr Xmohm|da)
i) A{gYmamd«V‘²
ii) namonH$ma:
iii) Y¡¶©nÕ{V:


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T.Y.B.A.
ARABIC

CC-1F : Classical Poetry & Grammar
 (2019 Pattern) (CBCS) (Semester - VI) (36141)  

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Write short notes on any two eminent poets in English/Urdu/Marathi of

the following: [30]

 (1

 (2

 (3

Q2) Translate and explain following Poem in English/Urdu/Marathi: [20]

    (1

    (2

    (3

  (4

      (5

  (6

  (7

P.T.O.

PC963

Total No. of Questions : 3] 

[Total No. of Pages : 2
SEAT No. :



Q3) Define and illustrate any two of the following grammatical terms: [20]

 (1

  (2

 (3

[6301]-407 2



Q1) Answer the following questions in 20 words (any eight) : [16]

a) What is Economic Planning?

b) State any two objectives of Economic Planning.

c) When was NITI Aayog established?

d) Who is the Chairperson of NITI Aayog?

e) State the meaning of sustainable development.

f) When India adopted the concept of sustainable development?

g) State the concept of Economic Development.

h) When was the Government of India announce the National Environment
Policy?

i) What is Global Warming?

j) State any two renewable energy sources.

Total No. of Questions : 4]

[Total No. of Pages : 4

[6301]-408
T.Y. B.A.

ECONOMICS (General Paper - III)
CC-1F : Indian Economic Development - II

(2019 Pattern) (CBCS) (Semester - VI) (36153)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever in necessary.

PC-964
SEAT No. :
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Q2) Answer the following questions in 50 words (any four) : [16]

a) State the need of Economic Planning.

b) State the Objectives of NITI Aayog.

c) State the importance of Sustainable Development.

d) Explain the objectives of National Environment - Policy, 2006

e) Suggest measures to Control Global - Warming.

f) Explain the Structure of NITI Aayog.

Q3) Answer the following questions in 100 words : (any three) [18]

a) Explain the features of Economic Planning.

b) Explain the difference between planning Commission and NITI Aayog.

c) State the relation between environment and Economic Development.

d) Explain the Causes of Global Warming.

Q4) Answer the following questions in 200 words (any two) : [20]

a) Explain the objectives of Economic Planning in India.

b) Explain the sustainable development goals.

c) Explain the provisions of the National Conservation Strategy - 1992


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àíZ àíZ àíZ àíZ àíZ 1) nwT>rb àíZm§Mr àË òH$s 20 eãXm§V CÎmao [bhm. (H$moUVohr AmR>) [16]

A) Am{W©H$ {Z`moOZ åhUOo H$m`?

~) Am{W©H$ {Z`moOZmMr H$moUVrhr XmoZ C{Ôï>o gm§Jm.

H$) ZrVr Am`moJmMr ñWmnZm Ho$ìhm Pmbr?

S>) ZrVr Am`moJmMo AÜ`j H$moU Amho?

B>) emídV {dH$mgmMm AW© gm§Jm.

\$) ^maVmZo emídV {dH$mg g§H$ënZm Ho$ìhm ñdrH$mabr?

`) Am{W©H$ {dH$mgmMr g§H$ënZm gm§Jm.

a) ^maV gaH$maZo amï´>r` n`m©daU {df`H$ YmoaU Ho$ìhm Omhra Ho$bo.

b) OmJ{VH$ Vmn_mZ dmT> åhUOo H$m`?

d) H$moUVohr XmoZ Aj` D$Om© ómoV gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) nwT>rb àíZm§Mr 50 eãXm§V CÎmao [bhm. (H$moUVohr Mma) [16]

A) Am{W©H$ {Z`moOZmMr JaO gm§Jm.

~) ZrVr Am`moJmMr C{Ôï>o gm§Jm.

H$) emídV {dH$mgmMo _hÎd gm§Jm.

S>) amï´>r` n`m©daU YmoaU 2006 Mr C{Ôï>o ñnï> H$am.

B) d¡pídH$ Vmn_mZ dmT> {Z §̀ÌUmgmR>r Cnm``moOZm gyMdm.

\$) ZrVr Am`moJmMr aMZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) nwT>rb àíZm§Mr 100 eãXm§V CÎmao [bhm. (H$moUVohr VrZ) [18]

A) Am{W©H$ {Z`moOZmMr d¡{eîQ>ço ñnï> H$am.

~) {Z`moOZ Am`moJ Am{U ZrVr Am`moJ `mVrb \$aH$ ñnï> H$am.

H$) n`m©daU Am{U Am{W©H$ {dH$mg `m§À`mVrb g§~§Y gm§Jm.

S>) OmJ{VH$ Vmn_mZdmT>rMr H$maUo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) nwT>rb àíZm§Mr 200 eãXm§V CËVao {bhm. (H$moUVohr XmoZ) [20]

A) ^maVmVrb Am{W©H$ {Z`moOZmMr C{Ôï>o ñnï> H$am.

~) emídV {dH$mgmMr Ü ò̀ o ñnï> H$am.

H$) amï´>r` g§dY©Z ì ỳhaMZm 1992 VaVwXr ñnï> H$am.





Q1) Attempt any eight questions of the following (in 20 words) : [16]

a) Mention any two features of Influence.

b) Who is the author of the book 'The Power Elite'?

c) Which science, Karl Deutsch Political Communication theory is based?

d) Mention any two reasons for political participation.

e) Mention the names of any four scholars of political elite.

f) Mention any two bases of Legitimacy.

g) Define Legitimacy.

h) Who has written the book 'The Ruling Class'?

i) Mention any two examples of direct and indirect political participation.

j) Mention the nature of Political Communication
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Q2) Attempt any four short notes ( in 50 words) : [16]

a) Levels of political participation.

b) Features of political communications.

c) State Mosca's Elitist theory.

d) Mention the features of Elite class.

e) Functions of political power.

f) Methods of exercising Authority.

Q3) Attempt any three questions in short (in 100 words) : [18]

a) Discuss various sources of Authority.

b) Discuss various Bases and importance of power.

c) Explain, nature and various functions of political communication.

d) Explain various types of political participation with examples and also
mention the importance of political participation.

Q4) Answer in detail any two (in 200 words) : [20]

a) Discuss various channels of political communication.

b) Define the term 'Authority'. Explain the nature and features of Authority.

c) Explain various elements and sources of political power.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) [16]

A) à^mdmMr XmoZ d¡{eîQ>ço {bhm.

~) "{X nm°da E{bQ>' `m nwñVH$mMm boIH$ H$moU Amho?

H$) H$mb© S²>dmB©Q>mMm amOH$s` g§gyMZmMm {gÕm§V H$moUË`m emómda AmYmarV Amho?

S>) amOH$s` gh^mJ KoÊ`mMr H$moUVrhr XmoZ H$maUo {bhm.

B>) H$moUË`mhr Mma A{^OZdmXr Aä`mgH$m§Mr Zmdo {bhm.

\$) A{Y_mÝ`VoMo H$moUVohr XmoZ AmYma {bhm.

`) A{Y_mÝ`VoMr ì`m»`m {bhm.

a) "{X ê$qbJ H$bmg' ho nwñVH$ H$moUr {bhrbo?

b) àË`j d AàË`j amOH$s` gh^mJmMr àË òH$s XmoZ CXmhaUo Úm.

d) amOH$s` g§gyMZmMo ñdê$n {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm. (H$moUË`mhr Mma) (50 eãXm§V) [16]

A) amOH$s` gh^mJmÀ`m nmVù`m

~) amOH$s` g§gyMZmMr d¡{eîQ>ço

H$) _moñH$mMm A{^OZdmXr {gÕm§V

S>) A{^OZdJm©Mr d¡{eîQ>ço

B) amOH$s` gÎmoMr H$m }̀

\$) A{YgÎmoMm dmna H$aÊ`mÀ`m nÕVr

àíZ àíZ àíZ àíZ àíZ 3) WmoS>Š`mV CÎmao {bhm. (H$moUVohr VrZ) (100 eãXm§V) [18]

A) A{YgÎmoMo {d{dY ómoV ñnï> H$am.

~) gÎmoMo AmYma d _hÎd {bhm.

H$) amOH$s` g§gyMZmMo ñdê$n Am{U {d{dY H$m }̀ ñnï> H$am.

S>) amOH$s` gh^mJmMo {d{dY àH$ma CXmhaUmg{hV ñnï> H$am. VgoM amOH$s` gh^mJmMo
_hËd {bhm.

àíZ àíZ àíZ àíZ àíZ 4) g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) (200 eãXm§V) [20]

A) "amOH$s` g§gyMZmMr {d{dY _mÜ`_o!' MMm© H$am.

~) "A{YgÎmm' `m g§H$ënZoMr ì`m»`m {bhÿZ A{YgÎmoMo ñdê$n Am{U d¡{eîQ>ço ñnï> H$am.

H$) gÎmoMo {d{dY KQ>H$ (VËdo) Am{U ómoV ñnï> H$am.





Q1) Attempt any Eight of the following (20 words)  : [16]
a) Which are they Income sources of Municipal Corporation.
b) Explain the meaning of Urban Local Self Government.
c) How many lakhs populations need to Establish of Municipal Council.
d) How many year is the tenure of Municipal Council.
e) Explain the two provisions of 74th constitutional Amendment.
f) Explain the two functions of Municipal Council.
g) Who’s control on urban Local Self Government.
h) Explain the two function of State Finance Commission.
i) When was State Election Commission established?
j) How many lakhs populations need to establish of Municipal Corporation.

Q2) Attempt any four short notes (50 words) : [16]
a) Vice-Mayor
b) District collector
c) Qualification of members of Municipal Council
d) State Election Commission
e) Article-243
f) State Finance Commission
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Q3) Attempt any three of the following (100 words) : [18]

a) Explain the limitations of Local Self Government.

b) Explain the challenges before of State Election Commission.

c) Explain the functions of Mayor.

d) Explain the functions of Nagar Panchayat.

Q4) Attempt any two of following (200 words) : [20]

a) Explain the structure and function of Municipal Corporation.

b) Explain the challenges before Local Self Government.

c) Explain the 74th Constitutional Amendment.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm (20 eãXm§V) … [16]

A) _hmZJa nm{bHo$À`m CËnZm§Mr gmYZo H$moUVr Amho.

~) "ehar ñWm{ZH$ ñdamÁ` g§ñWm' AW© ñnï> H$am.

H$) ZJanm{bH$m ñWmnZogmR>r ehamMr bmoH$g§»`m {H$Vr bmI AgUo Amdí`H$ Amho.

S>) ZJa nm{bHo$Mm H$m ©̀H$mi {H$Vr dfm©Mm AgVmo.

B>) 74 ì`m KQ>ZmXþê$ñVrVrb XmoZ VaVwXr ñnï> H$am.

’$) ZJa nm{bHo$Mr XmoZ H$m }̀ ñnï> H$am.

¶) ehar ñWm{ZH$ ñdamÁ` g§ñWoda {Z §̀ÌU H$moU R>odVo?

a) amÁ` {dÎm Am`moJmMo XmoZ H$m }̀ ñnï> H$am.

b) {ZdS>UwH$ Am`moJmMr ñWmnZ H|$ìhm Pmbr.

d) _hmZJa nm{bH$m ñWmnZogmR>r ehamMr bmoH$g§»`m {H$Vr bmI AgUo Amdí`H$ Amho.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma àíZm§Mr CÎmao {bhm. (50 eãXm§V) … [16]

A) Cn_hmnm¡a

~) {Oëhm{YH$mar

H$) ZJa n§Mm`V gXñ`m§Mr nmÌVm

S>) amÁ` {ZdS>UwH$ Am`moJ

B) H$b_ - 243

\$) amÁ`{dÎm Am`moJ

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm (100 eãXm§V) … [18]
A) ñWm{ZH$ ñdamÁ` g§ñWoÀ`m _`m©Xm ñnï> H$am.
~) amÁ`{ZdS>UwH$ Am`moJmnw{T>b AmìhmUo ñnï> H$am.
H$) _hmnm¡amMo H$m }̀ ñnï> H$am.
S>) ZJa n§Mm`VrMo H$m }̀ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm (200 eãXm§V) … [20]
A) _hmZJa nm{bHo$Mr aMZm d H$m }̀ ñnï> H$am.
~) ñWm{ZH$ ñdamÁ` g§ñWo g_mo[ab AmìhmUo ñnîQ> H$am.
H$) 74 dr KQ>Zm XþéñVr ñnï> H$am.





Q1) Answer the following questions in 300 words (Any 1). [15]

a) Discuss how the princely states of Kashmis and Junagadh got integrated
into India.

OR

b) What were the consequences of the partition. State its impact on post -
independence India.

Q2) Answer the following questions in 300 words (Any 1). [15]

a) Explain the background and nature and impact of the Emergency.

OR

b) Describe the work done in Indian space research till 1992.

Q3) Answer the following questions in 200 words (Any 2). [20]

a) Write a note on the Birth of Bangladesh.

b) State the salient features of the Indian constitution.

c) What was the Hindu code Bill.

d) Explain the concept of Globalization in the context of India.
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Q4) Short notes (Any four) : [20]
a) Indo - Sri Lanka relations.
b) Nationalization of banks.
c) Liberation of French colonies.
d) Panchsheel.
e) Frist Demonitization of India.
f) Indo - Pak war of 1971.

♦♦♦
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àíZ 1) Imbrb n¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]

A) H$mí_ra Am{U OwZmJT> hr g§ñWmZ| ^maVmV H$er {dbrZ Pmbr `m~Ôb MMm© H$am.

qH$dm

~) \$miUrMo H$m` n[aUm_ Pmbo Ë`m§Mm ñdmV§Í`moËVa ^maVmda Pmbobm n[aUm_ gm§Jm.

àíZ 2) Imbrb n¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]

A) Am{U ~mUrMr nmíd©̂ y_r ñdê$n Am{U n[aUm_ ñnï> H$am.

qH$dm

~) 1992 n ª̀V ^maVr` A§Vami g§emoYZmV Ho$boë`m H$m`mªMo dU©Z H$am.

àíZ 3) Imbrb n¡H$s H$moUË`mhr XmoZ àíZmMr CÎma 200 eãXm§V CÎmao {bhm. [20]

A) ~m§JbmXoeÀ`m OÝ_mda EH$ {Q>n {bhm.

~) ^maVr` g§{dYmZmMr R>iH$ d¡{eï>o gm§Jm.

H$) qhXÿ H$moS> {~b H$m` hmoVo ho {deX H$am.

S>) ^maVmÀ`m g§X^mªV OmJ{VH$sH$aUmMr g§H$ënZm ñnï> H$am.

P.T.O.
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àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma)- [20]
A) ^maV lrb§H$m g§~§Y
~) ~±H$m§Mo amîQ´>r`rH$aU
H$) \«|$M dgmhVr _wŠVr
S>) nMerb
B) ^maVmMo n{hbo ZmoQ>~§Xr
\$) 1971 Mo ^maV nmH$ ẁÕ

♦♦♦
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Q1) Write short notes on any three of the following : [15]

a) Rajarshi Shahu Maharaj - Social Reforms Movement.

b) V.D. Savarkar - Political Movement.

c) Dr. Babasaheb Ambedkar - Educational Reforms.

d) Dalit Panthers - Protest Movement

e) Contribution of Maharshi Karve in Educational Movement.

Q2) Answer any three of the following in 50 words each  : [15]

a) What is Protest Movement?

b) Write in brief the role of Social Reformist.

c) Elaborate the contribution of tribals in Political Movement.

d) Explain the Contribution of G.G. Agarkar in Social Reform Movement.

e) Explain the Ethnic Movement as a Political Movement.

SEAT No. :

P.T.O.
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Q3) Answer any two of the following questions in 200 words each  : [20]

a) Elaborate the work of Godatai Parulekar for Warli tribes.

b) Explain the History of Social Reforms movement in Maharashtra.

c) Describe the EK Gaon-EK-Panvatha Movement.

d) Explain the contribution of Maharshi Shinde in Social Reforms Movement.

Q4) Answer any one of the following questions in 300 words each  : [20]

a) Discuss the Contribution of Mahatma Phule and Savitribai Phule in
Educational field.

b) Explain the contribution of Scheduled Costes and women in Political
Movement.


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àíZ 1) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) amOfu emhþ ‘hmamO - gm‘m{OH$ gwYmaUm Midi

~) {d.Xm. gmdaH$a - amO{H$¶ Midi

H$) S>m°. ~m~mgmho~ Am§~oS>H$a - e¡j{UH$ gwYmaUm

S>) X{bV n°ÝWa - à{VH$ma Midi

B) ‘hfu H$d} ¶m§Mo e¡j{UH$ MidirVrb ¶moJXmZ

àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) à{VH$ma Midi åhUOo H$m¶?

~) gm‘m{OH$ gwYmaH$m§Mr ŵ{‘H$m WmoS>³¶mV {bhm.

H$) amO{H$¶ MidirVrb Am{XdmgtMo ¶moJXmZ {deX H$am.

S>) gm‘m{OH$ gwYmaUm MidirVrb Jmo.J. AmJaH$a ¶m§Mo ¶moJXmZ ñnï> H$am?

B) dm§{eH$ Midi EH$ amO{H$¶ Midi åhUyZ ñnï> H$am?

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) JmoXmVmB© nê$ioH$amMo dmabr O‘mVrgmR>rMo H$m¶© {deX H$am.

~) ‘hmamï´>mVrb gm‘m{OH$ gwYmaUm MidirMm B{Vhmg ñnï> H$am?

H$) EH$Jmd-EH$ nmUdR>m MidirMo dU©Z H$am.

S>) ‘hfu qeXo ¶m§Mo gm‘m{OH$ gwYmaUm MidirVrb ¶moJXmZ ñnï> H$am?

àíZ 4) Imbrb àíZmMo CÎma 300 eãXm§V {bhm. (H$moUVmhr EH$) [20]

A) ‘hmË‘m ’w$bo Am{U gm{dÌr~mB© ’w$bo ¶m§Mo e¡j{UH$ joÌmVrb ¶moJXmZmMr g{dñVa MMm©
H$am.

~) amO{H$¶ MidirVrb AZwgy{MV OmVr Am{U {ñÌ¶m§Mo AgUmao ¶moJXmZ ñnï> H$am?


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Q1) Write answers the following questions in about 20 words each. (Any Eight)[16]

a) Which unit is used for measurement of Earthquakes.

b) Name the any two states of India which are prone to tsunami.

c) Write the name of any two mountains in India that are prone to landslides.

d) Write two effects of desertification on agriculture.

e) Write any two ecological effects of forest fire.

f) Write any two causes of global warming.

g) State the names of any two gases those responsible for ozone depletion.

h) What is acid rain?

i) Write two cause of tsunami.

j) Write any two effects of nuclear disaster.

Q2) Write short notes on about 50 words each. (any three) [18]

a) Tsunami waves

b) Methods of soil conservation

c) Green house effect

d) Nuclear disaster

P.T.O.
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Q3) Write the answers of questions in 100 words each. (any two) [16]

a) Write the effects of tsumami waves.

b) Write the measures of soil degradation.

c) Explain the effects of global warming.

Q4) Write the answers of questions in 300 words each. (any one) [20]

a) Explain the causes and effects of earthquake disaster.

b) What is flood? Explain causes and effects of flood.


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Total No. of Questions : 4]

[6301]-413
T.Y.B.A.

GEOGRAPHY
CC - 1FGg - 310(B): Geography of Disaster Management - II

(2019 Pattern) (CBCS) (Semester - VI) (36204)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ŷH§$n ‘mnZmÀ¶m EH$H$mMo Zmd {bhm.

~) ËgwZm‘rMm YmoH$m Agboë¶m ^maVmVrb H$moUË¶mhr XmoZ amÁ¶m§Mr Zmdo {bhm?

H$) gdm©{YH$ ŷ{‘nmV hmoUmè¶m ^maVmVrb H$moUË¶mhr XmoZ nd©Vm§Mr Zmdo {bhm?

S>) dmid§Q>rH$aUmMo eoVr ì¶dgm¶mdarb XmoZ n[aUm‘ {bhm.

B) dZ AmJrMo H$moUVohr XmoZ n¶m©daUr¶ n[aUm‘ {bhm?

’$) OmJ{VH$ Vmn‘mZ dmT>rMr H$moUVohr XmoZ H$maUo {bhm?

¶) AmoPmoZ j¶mgmR>r H$maUr ŷV Agboë¶m XmoZ dm¶w§Mr Zmdo {bhm.

a) Amåb nO©Ý¶ åhUOo H$m¶?

b) ËgwZm‘r {Z{‘©VrMr XmoZ H$maUo {bhm.

d) AmpÊdH$ AmnÎmrMo H$moUVohr XmoZ n[aUm‘ {bhm?

à.à.à.à.à.2) àË¶oH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr VrZ) [18]

A) ËgwZm‘r bmQ>m

~) ‘¥XmYyn ì¶dñWmnZ nÕVr

H$) h[aVJ¥h n[aUm‘

S>) AmpÊdH$ AmnÎmr

PC969
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à.à.à.à.à.3) àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ËgwZm‘r bmQ>m§Mo n[aUm‘ {bhm.

~) ‘¥XmYyn Wm§~{dÊ¶mgmR>rÀ¶m Cnm¶¶moOZm§Mr ‘m{hVr {bhm.

H$) OmJVrH$ Vmn‘mZ dmT>rMo n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) àË¶oH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]

A) ŷH§$n ¶m AmnÎmrMr H$maUo Am{U n[aUm‘ ñnï> H$am.

~) ‘hmnya åhUOo H$m¶? ‘hmnyamMr H$maUo Am{U n[aUm‘ ñnï> H$am.


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Q1) Write the answer of the questions about 20 words each. [16]

a) Define Hotels.

b) What is cararans?

c) What is floating hotel?

d) Write any two traditional arts of India.

e) Write any two economic impact of tourism.

f) On which day world tourism day is celebrate.

g) Write a full form of MTDC.

h) Write any two tourist attractions of Mahabaleshwar.

i) In which state Kaziranga National Park is located.

j) Write any two attractions of Taj Mahal.

Q2) Write the answer of the questions about 50 words each. [18]

a) Youth Hostel.

b) Tourism and Employment

c) India tourism development corporation.

d) Raigad fort.

P.T.O.
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Q3) Write the answer of the questions about 100 words each (any two). [16]

a) Describe factor affecting on choice of accommodation.

b) Explain the role of tourism in infrastructure development.

c) Give an account of melghat tourist place.

Q4) Write the answers of the questions about 300 words each (any one) [20]

a) Explain the type of Hotels.

b) Write in detail the role of world tourism organisation in tourism
development.


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Total No. of Questions : 4]

[6301]-414
T.Y.B.A.

GEOGRAPHY
CC - 1F-GG - 310(B): Geography of Tourism - II
(2019 Pattern) (CBCS) (Semester - VI) (36205)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) hm°Q>obMr ì¶m»¶m {bhm.

~) H°$amìh°Z åhUOo H$m¶?

H$) Va§JVo hm°Q>ob åhUOo H$m¶?

S>) ^maVmVrb H$moUË¶mhr XmoZ nma§nmarH$ H$bm§Mr Zmdo {bhm?

B) n¶©Q>ZmMo XmoZ Am{W©H$ n[aUm‘ {bhm.

’$) OmJVrH$ n¶©Q>Z {XZ H$moUË¶m {Xder gmOam Ho$bm OmVmo?

¶) M.T.D.C. Mo nwU© ê$n {bhm.

a) ‘hm~ioída n¶©Q>Z ñWimMr XmoZ AmH$f©Uo gm§Jm.

b) H$mPra§Jm amï´>r¶ CÚmZ H$moUË¶m amÁ¶mV Amho?

d) VmO‘hmb n¶©Q>Z ñWimMr XmoZ AmH$f©Uo {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ>) [18]

A) ¶wdm dgVrJ¥h

~) n¶©Q>Z d amoOJma

H$) ^maV n¶©Q>Z {dH$mg ‘hm‘§S>i

S>) am¶JS> {H$„m

PC970
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ>) [16]

A) {ZdmgñWmZmÀ¶m {ZdS>rda narUm‘ H$aUmao KQ>H$ ñnï> H$am.

~) nm¶m ŷV gw{dYm§À¶m {dH$mgmV n¶©Q>ZmMr ŷ{‘H$m ñnï> H$am.

H$) ‘oiKmQ> n¶©Q>Z ñWimMm d¥Îmm§V {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$>) [20]

A) hm°Q>obÀ¶m àH$mam§Mo dU©Z H$am.

~) n¶©Q>Z {dH$mgmV OmJ{VH$ n¶©Q>Z g§KQ>ZoMo ¶moJXmZ g{dñVa {bhm.


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Q1) Write the answers to the following questions in 20 words (Any Eight): [16]
a) What is personnel administration?

b) Write the definitions of recruitment.
c) What is Bureaucracy?
d) In which country there was a spoil system?
e) What is promotion?

f) Type of Training.
g) Who is introduce the budget in India?
h) State the two methods of legislative control.
i) What is administrative accountability?

j) What is gender budgeting?

Q2) Write the answers to the following questions in 50 words (any four). [16]
a) State the meaning of Bureaucracy.

b) Write the merits of direct recruitment.
c) State the objective of training.
d) State the importance of promotion.
e) Write the principle of budget.

f) Discuss on judicial control.

P.T.O.
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Q3) Write the answers to the following questions in 100 words (any three). [18]

a) Explain the types of budget.

b) Explain the methods of recruitment.

c) Discuss on administrative reforms.

d) Explain the principles of promotion.

Q4) Write the answers to the following questions in 200 words (any two) [20]

a) Explain the budgetary process in India.

b) Explain the control of legislature over administration.

c) Explain the type of Training.


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Total No. of Questions : 4]

[6301]-415
T.Y.B.A.

CC - 1F: PUBLIC ADMINISTRATION
(2019 Pattern) (CBCS) (Semester - VI) (36445)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 20 eãXmV {bhm. (H$moUVohr AmR>) [16]
A) godH$ àemgZ åhUOo H$m¶?

~) ^aVrMr ì¶m»¶m {bhm.

H$) ZmoH$aemhr åhUOo H$m¶?

S>) byQ> nX²YVr H$moUË¶m XoemV hmoVr?

B) ~T>Vr åhUOo H$m¶?

’$) à{ejUmMo àH$ma.

¶) ^maVmV A§XmOnÌH$ H$moU gmXa H$aVmo?

a) H$m¶Xo‘§S>i {Z¶§ÌUmÀ¶m XmoZ nX²YVr gm§Jm.

b) àemgH$s¶ CÎmaXm{¶Ëd åhUOo H$m¶?

d) qbJ AmYm[aV AW©g§H$ën åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXmV {bhm. (H$moUVohr Mma>) [16]
A) ZmoH$aemhrMm AW© gm§Jm.

~) Iwë¶m ^aVrMo JwU {bhm.

H$) à{ejUmMo CÔoe gm§Jm.

S>) ~T>VrMo ‘hÎd gm§Jm.

B) A§XmOnÌH$mMr VËdo {bhm.

’$) Ý¶m¶rH$ {Z¶§ÌUmda MMm© H$am.....

PC971
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 100 eãXmV {bhm. (H$moUVohr VrZ>) [18]

A) A§XmOnÌH$mMo àH$ma ñnï> H$am.

~) ^aVrÀ¶m nX²YVr ñnï> H$am.

H$) àemgH$s¶ gwYmaUmda MMm© H$am.

S>) ~T>VrMr VËdo ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ>) [20]

A) ^maVmVrb AW©g§H$ënr¶ à{H«$¶m ñnï> H$am.

~) àemgZmdarb H$m¶Xo‘§S>imMo {Z¶§ÌU ñnï> H$am.

H$) à{ejUmMo àH$ma ñnï> H$am.


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Q1) Attempt any eight of the following (20 words). [16]
a) Who is the President of gram sabha.
b) How many year is the tenure of sarpanch.
c) Who appoints the district officer.
d) A committee was appointed under whose chairmanship to evaluate the

collective development plan.
e) Which was the first state to adopt Panchayat Raj in India.
f) When was Vasantrao Naik committee established.
g) In which year does 73rd constitutional amendment held.
h) When was Ashok Mehata sammittee established.
i) Explain the function of block development officer.
j) How many members in Zillha Parishad.

Q2) Attempt any four short notes (50 words). [16]
a) Income sources of gram panchayat.
b) Gramsabha.
c) BDO
d) Democratic Decentralization.
e) State finance commission.
f) Empowerment of weaker section.

P.T.O.
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Q3) Attempt any three of the following (100 words). [18]

a) Explain the composition and function of grampanchayat.

b) Explain the features of 74th constitutional amendment.

c) Explain the control of state government over panchayat raj.

d) Explain the composition and function of contonment board.

Q4) Attempt any two of the following (200 words). [20]

a) Explain the power and functions of district collector.

b) Highlighting the problems of rural local bodies.

c) Explain the power and functions of speakers of panchayat sammittee.


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[6301]-416
T.Y.B.A.

PUBLIC ADMINISTRATION
CC - 1F : Local Self Government in India

(2019 Pattern) (CBCS) (Semester - VI) (36446)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§Xämm©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]
A) J«m‘g ôMo AÜ¶j H$moU AgVmV?
~) gan§MmMm H$m¶©H$mi {H$Vr dfm©Mm AgVmo?
H$) {Oëhm A{YH$mè¶mMr Zo‘UwH$ H$moU H$aVo?
S>) gm‘y{hH$ {dH$mg ¶moOZoMo ‘yë¶‘mnZ H$aÊ¶mgmR>r H$moUmÀ¶m AÜ¶jVoImbr g{‘Vr Zo‘Ê¶mV Ambr?
B) ^maVmV n§Mm¶VamO ñdrH$maUmao n{hbo amÁ¶ H$moUVo?

’$) dg§Vamd ZmB©H$ g{‘Vr Ho$§ìhm ñWmnZ Pmbr?
¶) 73 dr KQ>Zm Xþê$ñVr Ho$§ìhm H$aÊ¶mV Ambr?
a) AemoH$ ‘ohVm g{‘VrMr ñWmnZm Ho$§ìhm H$aÊ¶mV Ambr?
b) JQ>{dH$mg A{YH$mè¶mMo XmoZ H$m¶} gm§Jm.
d) {Oëhm n[afXoV {H$Vr gXñ¶ AgVmV?

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr Mma {Q>nm {bhm. (50 eãXmV) [16]
A) J«m‘n§Mm¶VÀ¶m CËnÞm§Mr gmYZo
~) J«m‘g^m
H$) JQ>{dH$mg A{YH$mar
S>) bmoH$emhr {dH|$ÐrH$aU
B) amÁ¶{dÎm Am¶moJ

’$) Xþ~©b KQ>H$m§Mo gj‘rH$aU

PC972
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) J«m‘n§Mm¶VrMr aMZm d H$m¶} ñnï> H$am.

~) 74 ì¶m KQ>ZmXþê$ñVrMr d¡{eîQ>ço gm§Jm.

H$) n§Mm¶V amÁ¶mdarb amÁ¶emgZmMo {Z¶§ÌU ñnï> H$am.

S>) H°$ÝQ>moZ‘|Q> ~moS>m©Mr aMZm d A{YH$ma ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) {Oëhm{YH$mè¶m§Mo A{YH$ma d H$m¶} ñnï> H$am.

~) J«m‘rU ñWm{ZH$ ñdamÁ¶ g§ñWm‘Yrb g‘ñ¶m AYmoao{IV H$am.

H$) n§Mm¶V g{‘Vr g^mgXm§Mo A{YH$ma d H$m¶} ñnï> H$am.


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Q1) Answer the following questions in 100 words each (any four). [20]
a) Explain the identity crisis.
b) Explain the problems in relationship.
c) Explain the stress and strain in adolescents age.
d) Explain the policy level work of psychologist in tacking Social Issues.
e) Explain the causes of Terror.
f) Expalin the Nature of Cyber Crime.

Q2) Answer the following questions in 200 words each (any two). [20]
a) Discuss the contribution of psycholgist in social field.
b) Explain the educational problems and its remedies.
c) Explain the Family and Marital problems.
d) State the meaning of Violence and explain the types of violence.

Q3) Answer the following question in 400 words each (any one). [20]
a) Define applied psychology. Explain the nature and scope of Applied

Psychology.
b) Explain the effective teaching - learning methods.

Q4) Write short notes (any two). [10]
a) Physically challenged
b) Break-ups
c) Law and Psychology
d) Psychology of corruption


P.T.O.
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Total No. of Questions : 4]

[6301]-417
T.Y. B.A.

PSYCHOLOGY
SEC-1D : Applied Psychology

(2019 Pattern) (CBCS) (Semester - VI) (36223)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§‘Ü¶o Úm. (H$moUVohr Mma)$ [20]
A) ñd-AmoiI g§Kf© ñnï> H$am.
~) ZmVog§~§YmVrb g‘ñ¶m ñnï> H$am.
H$) {H$emoad¶rZ VmU-VUmd ñnï> H$am.
S>) gm‘m{OH$ g‘ñ¶m hmViÊ¶mg§X^m©Vrb ‘mZgemñÌkmMr YmoaUmË‘H$ H$m¶} ñnï> H$am.
B) AmV§H$dmXmMr H$maUo {bhm.
’$) gm¶~a JwÝømMo ñdê$n ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXm§‘Ü¶o Úm. (H$moUVohr XmoZ)$ [20]
A) ‘mZgemñÌkm§Mr gm‘m{OH$ joÌmVrb ¶moJXmZmMr MMm© H$am.
~) e¡j{UH$ g‘ñ¶m Am{U Ë¶mdarb Cnm¶¶moOZm ñnï> H$am.
H$) H$m¡Q>§w{~H$ d d¡dm{hH$ g‘ñ¶m ñnï> H$am.
S>) {h§gmMmamMm AW© gm§JyZ àH$ma ñnîQ> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 400 eãXm§V Úm. (H$moUVmhr EH$)$ [20]
A) Cn¶mo{OV ‘mZgemñÌmMr ì¶m»¶m {bhm. Cn¶mo{OV ‘mZgemñÌmMo ñdê$n d ì¶már ñnï> H$am.
~) n[aUm‘H$maH$ AÜ¶mnZ - AÜ¶¶Z nÕVr ñnï> H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]
A) emar[aH$Ñï>²¶m {Xì¶m§JVm
~) ào‘ §̂J (~«oH$-Ang²)
H$) H$m¶Xm Am{U ‘mZgemñÌ
S>) «̂ï>mMmamMo ‘mZgemñÌ


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Q1) Answer any three of the following questions in 100 words each. [15]
a) Briefly explain the role of Nelson Mandela in the Anti - Imperialist

movement.
b) Briefly explain the nature of women empowerment movement.
c) Briefly explain the role of Tribal people in the Chipko movement.
d) Briefly discuss the limitations of Gandhian movement.
e) Philosophy is analysis of ordinary language and concepts : Explain from

Barlinge’s point of view.

Q2) Answer any two of the following questions in 200 words each. [20]
a) Explain the nature of imperialism.
b) Explain the influence of Gandhian thought on Barlinge’s life.
c) Explain the role of Medha Patkar in Narmada Bachao movement.
d) Explain the influence of Gandhian thought on the life of Nagorao Kumbar.

Q3) Write short notes on 100 words each (any three). [15]
a) Ganga Bachao Movement.
b) Gandhi’s model of development.
c) Religion - K.J. Shaha
d) Women Empowerment Pushpa Bhave.
e) Peasant movement Sharad Joshi.

Q4) Answer any one of the following questions in 400 words. [20]
a) Explain in detail the nature of right to information Act 2005.
b) Discuss in detail the role of Baba Adhav in Labour Movement.


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[6301]-418
T.Y. B.A.

GANDHIAN THOUGHTS - GEN - III
CC-1F : Impact of Gandhism on Further Movements and Modern

Philosophers
(2019 Pattern) (CBCS) (Semester - VI) (36233)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) nwT>rbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm.$ [15]
A) dU©Ûof{damoYr MidirVrb ZoëgZ ‘§S>obm ¶m§Mr ŷ{‘H$m WmoS>³¶mV {deX H$am.
~) ‘{hbm g~brH$aU MidirMo ñdê$n WmoS>³¶mV ñnï> H$am.
H$) {MnH$mo Am§XmobZmVrb Am{Xdmgr ì¶º$s¨Mr ŷ{‘H$m WmoS>³¶mV {deX H$am.
S>) Jm§Yr MidirÀ¶m ‘¶m©Xm§{df¶r WmoS>³¶mV MMm© H$am.
B) VÎdkmZ åhUOo gm‘mÝ¶ ^mfm Am{U g§H$ënZm§Mo {dûcofU : ~maqbJo ¶m§À¶m Ñï>rH$moZmVyZ ñnï> H$am.

à.à.à.à.à.2) nwT>rbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm.$ [20]
A) gm‘«mÁ¶dmXmMo ñdê$n ñnï> H$am.
~) ~maqbJo ¶m§À¶m OrdZmdarb Jm§Yr {dMmam§Mm à^md ñnîQ> H$am.
H$) Z‘©Xm ~Mmd Am§XmobZmVrb ‘oYm nmQ>H$a ¶m§Mr ŷ{‘H$m ñnîQ> H$am.
S>) ZmJmoamd Hw§$^ma ¶m§À¶m OrdZmdarb Jm§Yr {dMmam§Mm à^md {deX H$am.

à.à.à.à.à.3) 100 eãXm§V Q>rnm {bhm. (H$moUË¶mhr VrZ) [15]
A) J§Jm ~Mmd Am§XmobZ
~) Jm§YrOtMo {dH$mgmMo àmê$n
H$) Y‘©-Ho$. Oo. ehm
S>) ‘{hbm g~brH$aU  - nwînm ^mdo
B) eoVH$ar Midi - eaX Omoer

à.à.à.à.à.4) nwT>rbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma àË¶oH$s 400 eãXm§V {bhm.$ [20]
A) ‘m{hVrMm A{YH$ma A{Y{Z¶‘ 2005 H$m¶ÚmMo ñdê$n g{dñVa {deX H$am.
~) ~m~m AmT>md ¶m§Mr H$m‘Jma MidirVrb ŷ{‘H$m g{dñVa ñnï> H$am.


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Q1) Answer any five of the following questions in one sentence. [5]
a) Name the two meditetive asanas.
b) What is the bandha applied in the muladhar?
c) In which pranayama does the whistling sound of the cooker occur?
d) What is the kriya of drinking two to three liters of water?
e) Which asana looks like a Vajra?
f) Which meditatieve asana looks like a lotus flower?
g) What is yam?

Q2) Write the short note (any two) [10]
a) Niyam
b) Asana
c) Sihamudra

Q3) Answer any two of the following questions in 150 words. [20]
a) Write how many types of Shudhikriyas, which ones and their benefits.
b) Explain the types and importance of Yama - Niyamas.
c) Give detailed information about Pranav Omkar Sadhana.

Q4) Answer any one of the following questions in detail. [15]
a) Explain the utility of Yoga in promoting mental health.
b) What is spiritual health? Explain the role of Yoga in promoting spiritual

health.


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[6301]-419
T.Y.B.A.
YOGA

CC-1F : Yogvidya - VI (With Practical)
(2019 Pattern) (CBCS) (Semester - VI) (36243)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr EH$m dm³¶mV CÎmao Úm. [5]
A) XmoZ Ü¶mZmË‘H$ pñWVrVrb AmgZm§Mr Zmdo g§mJm.
~) ‘ybmYmamV bmdbm OmUmam ~§Y H$moUVm?
H$) Hw$H$aÀ¶m {eÅ>rMm AmdmO H$moUË¶m àmUm¶m‘mV ¶oVmo?
S>) XmoZ Vo VrZ {bQ>a nmUr {nD$Z nwÝhm ~mhoa H$mT>Uo hr {H«$¶m H$moUVr?
B) dO«mgmaIo {XgUmao AmgZ H$moUVo?
’$) H$‘im gmaIo {XgUmao AmgZ H$moUVo?
¶) ¶‘ H$m¶ Amho?

à.à.à.à.à.2) Q>rnm {bhm. (H$moUVohr XmoZ) [10]
A) {Z¶‘
~) AmgZ
H$) {gh ‘wÐm

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 150 eãXm§V CÎmao Úm. [20]
A) ewÕr{H«$¶m§Mo àH$ma {H$Vr, H$moUVo d ’$m¶Xo {bhm.
~) ¶‘-{Z¶‘m§Mo àH$ma d ‘hÎd ñnï> H$am.
H$) àUd › H$ma gmYZoMr g{dñVa ‘m{hVr Úm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo g{dñVa CÎma Úm. [15]
A) ‘mZ{gH$ Amamo½¶ g§dY©ZmV ¶moJmMr Cn¶mo{JVm ñnï> H$am.
~) AmÜ¶mpË‘H$ Amamo½¶ åhUOo H$m¶? AmÜ¶mpË‘H$ Amamo½¶ g§dY©ZmV ¶moJmMr ŷ{‘H$m ñnï> H$am.


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Q1) Answer the following question in 300 words (any one) [15]
a) Write the Economic Life in Greek Civilization.

OR
b) State the Cultural Life in Arab Civilization.

Q2) Answer the following question in 300 words (any one) [15]
a) Discuss the Philosophy of Roman Civilization.

OR
b) Write the Importance of World Heritage Sites.

Q3) Answer the following questions in 200 words (any two) [20]
a) Write the contribution of Arabs in Historiography.
b) Explain the nature of Feudalism.
c) Write importance of the Church in the culture of the Ancient World.
d) State about Taj Mahal.

Q4) Short notes (any four) [20]
a) Colipha
b) Itza - maxico
c) Great Wall of China
d) Petra - Jordon
e) Pyramids
f) Roman Emperor Charlemagne


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[6301]-420
T.Y. B.A.

HISTORY
CC-2E : History of Civilization-World Civilization and Heritage (Part - II)

(2019 Pattern) (CBCS) (Semester - VI) (36175)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma Xçm. (H$moUVmhr EH$) [15]
A) J«rH$ g§ñH¥$VrVrb Am{W©H$ OrdZ {bhm.

qH$dm
~) Aa~ g§ñH¥$VrVrb gm§ñH¥${VH$ OrdZ gm§Jm.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma Xçm. (H$moUVmhr EH$) [15]
A) amo‘Z gä¶VoÀ¶m VËdkmZmMr MMm© H$am.

qH$dm
~) OmJ{VH$ dmagm ñWimMo ‘hËd {bhm.

à.à.à.à.à.3) Imbrb àíZmMo 200 eãXmV CÎma Xçm. (H$moUVohr XmoZ) [20]
A) Aa~m§Mo B{Vhmg boIZmVrb ¶moJXmZ {bhm.
~) ga§Om‘emhrÀ¶m ñdê$nm{df¶r ‘m{hVr ñnï> H$am.
H$) OmJ{VH$ àmMrZ gä¶VoV MM©Mo ‘hÎd {bhm.
S>) VmO‘hb {df¶r ‘mhrVr gm§Jm.

à.à.à.à.à.4) {Q>nm {bhm (H$moUË¶mhr Mma) [20]
A) I{b’$m
~) BËPm-‘o³grH$mo
H$) MrZMr ^tV
S>) noQ´>m-Om°S>©Z
B) {na°‘rS>
’$) amo‘Z g‘«mQ> emb©‘oZ


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Q1) Write the answers to the following questions in 20 words each. (Any Eight)[16]

a) What is deviation?

b) What is active deviation?

c) Define family.

d) State the two basic characteristics of family.

e) Give two reasons for family change.

f) State the two Psychological functions of the family.

g) Define ‘marriage’.

h) State the types of inter - marriage.

i) What is divorce?

j) What is dowry system?

Q2) Write the answers to the following questions in 50 words each. (Any Four)[16]

a) Explain the concept of comformity?

b) Explain the difference between active deviation and passive deviation.

c) Explain the stages of change in family organization?

d) Explain the biological functions of the family?

e) Explain the types of socially acceptable marriages?

f) Explain the concept of adoption method?

P.T.O.
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Q3) Write the answers to the following questions in 150 words each. (Any three)[18]

a) Explain the types of deviant behaviour?

b) Explain the concept of transformation of India and Family organization.

c) Explain the characteristics of the family.

d) Explain the relationship between marriage and sexuality?

Q4) Write the answers to the following questions in 300 words each. (Any two)[20]

a) What is deviation? Explain the causes of deviant behaviour?

b) Explain the reasons for family change?

c) Explain the effects of dowry system?


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[6301]-421
T.Y. B.A.

HOME ECONOMICS
CC-1F G-3 : Social Changes in Sociology - II

(2019 Pattern) (CBCS) (Semester - VI) (36263)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) AZwMbZmË_H$ dV©Z åhUOo H$m`?

~) gH«$s` {dMbZ åhUOo H$m`?

H$) Hw$Qy>§~mMr ì`m»`m Úm.

S>) Hw$Qy>§~mMr XmoZ d¡{eï²> ò gm§Jm.

B) Hw$Qy>§~ nardV©ZmMr XmoZ H$maUo gm§Jm

\$) Hw$Qy>§~mMr XmoZ _mZgemñÌr` H$m }̀ gm§Jm.

`) {ddmhmMr ì`m»`m Úm.

a) Am§Va {ddmhmMo àH$ma gm§Jm.

b) KQ>ñ\$moQ> åhUOo H$m`?

d) hÿ§S>m nÜXVr åhUOo H$m`?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) ‘AZwMbZ’ g§H$ënZm ñnï> H$am.

~) gH«$s` d {ZîH«$s` {dMbZ `mVrb \$aH$ ñnï> H$am.

H$) Hw$Qy>§~ g§ñWoVrb nardV©ZmÀ`m AdñWm ñnï> H$am.

S>) Hw$Qy>§~mMr O¡{dH$ H$m ©̀o ñnï> H$am.

B) g_mO_mÝ` {ddmhmMo àH$ma ñnï> H$am.

\$) XÎmH$ nÕVr g§H$ënZm ñnï> H$am.

PC977
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË òH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) {dMbZmË_H$ dV©ZmMo àH$ma ñnï> H$am.

~) ^maV Am{U Hw$Qy>§~ g§ñWoMo n[adV©Z hr g§H$ënZm ñnï> H$am.

H$) Hw$Qy>§~mMr d¡{eï²> ò ñnîQ> H$am.

S>) {ddmh Am{U b¢{JH$Vm `mVrb nañna g§~§Y ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXm§V {bhm.(H$moUVohr XmoZ) [20]

A) {dMbZ åhUOo H$m`? {dMbZmË_H$ dV©ZmMr H$maUo ñnï> H$am.

~) H$m¡Qy>§{~H$ nardV©ZmMr H$maUo ñnï> H$am.

H$) hÿ§S>m nÕVrMo narUm_ ñnï> H$am.


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Q1) Answer the Following Questions in 100 words each.( Any Three) [15]
a) State the Russia’s role in South Asia.
b) State the Act East policy.
c) What is the objective of India’s East Look policy?
d) Explain the Russia’s role in South Asia.
e) State the India’s Look East.

Q2) Answer the Following Questions in 300 words each.( Any one) [15]
a) Describe the relation India and Nepal.
b) Explain the India’s role in the Non-Aligned Movement.

Q3) Answer the Following Questions in 200 words each.( Any Two) [20]
a) What are the aims of Non-alignment Movement.
b) State the historical background of India’s policy in South Asia.
c) Explain the Defense agreement between India and Russia.
d) State the India’s maritime policy.

Q4) Write Short notes (Any Four) [20]
a) Aims of India’s East Look policy.
b) Objectives of the Non-Aligned Movement.
c) Strategic importance of the Indian Ocean.
d) Meaning of Non-alignment.
e) India’s Naval Strategy.
f) India and Bhutan.


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Total No. of Questions : 4]

[6301]-422
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
CC-1F-G-3 :  India’s National Security Policy & Strategy - II

(2019 Pattern) (CBCS) (Semester - VI) (36273)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZmMr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]
A) X{jU Am{e¶mV a{e¶mMr ŷ{‘H$m gm§Jm.
~) H$m¶Xm nyd© YmoaU gm§Jm.
H$) ^maVmMo nyd}H$S>o nhm YmoaUmMo CÔoe H$moUVo?
S>) X{jU Am{e¶mV a{e¶mMr ŷ{‘H$m ñnîQ> H$am.
B) ^maVmMo nyd}H$S>o nhm YmoaU gm§Jm.

à.à.à.à.à.2) Imbrb àíZmMr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [15]
A) ^maV d Zonmi g§~§Y {deX H$am.
~) A{báVm MidirV ^maVmMr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZmMr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) A{báVm MidirMo hoVy H$moUVo?
~) ^maVmÀ¶m X{jU Am{e¶mVrb YmoaUmMr Eo{Vhm{gH$ nmœ©̂ y‘r gm§Jm.
H$) ^maV d a{e¶m g§ajU H$ama ñnï> H$am.
S>) ^maVmMo gmJar YmoaU gm§Jm.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]
A) ^maVmMo nyd}H$S>o nhm YmoaUmMo hoVy
~) A{báVm MidirMo C{Xï>o
H$) qhXr ‘hmgmJamMo gm‘[aH$ ‘hËd
S>) A{báVoMm AW©
B) ^maVmMo Zm{dH$ S>mdnoM
’$) ^maV d ŷVmZ


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Q1) Write Short Notes on (Any Two) [14]
a) Evolution
b) Youth Welfare
c) Welfare State
d) Bureaucracy

Q2) Answer any one of the following question: [14]
a) Explain the youth policy along with its development.
b) Welfare policies help in uplifting of the marginalized. Critically examine.

Q3) Answer in one of the following in 500 words: [14]
a) Explain the any two public policies related welfare of children.
b) Explain the role of Legislature as an important organ for policy formulation.

Q4) Answer any one of the following : [14]
a) State the procedure of public policy with its implementation
b) Explain briefly the evolution of public policy.

Q5) Answer any one of the following : [14]
a) Highlight the major features of women’s policy.
b) Explain the scope of public policy.


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Total No. of Questions : 5]

[6301]-423
T.Y. B.A.

SOCIAL WORK
CC-1F : Public Policy

(2019 Pattern) (CBCS) (Semester - VI) (36433)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) ‘yi B§J«Or àíZn{ÌH$mM J«mhç Yamdr.

à.à.à.à.à.1) H$moUË¶mhr XmoZ àíZm§Mr {Q>nm {bhm. [14]
A) CËH«$m§Vr
~) ¶wdH$ H$ë¶mU
H$) H$ë¶mUH$mar amÁ¶
S>) ZmoH$aemhr

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [14]
A) ¶wdm YmoaUmÀ¶m {dH$mgmgh Ë¶mMo ñnï>rH$aU H$am.
~) H$ë¶mUH$mar YmoaUo Cno{jVm§À¶m CÞVrgmR>r ‘XV H$aVmV. MMm© H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 500 eãXmV {bhm. [14]
A) ‘wbm§À¶m H$ë¶mUmer g§~§{YV H$moUVrhr XmoZ gmd©O{ZH$ YmoaUo ñnï> H$am.
~) YmoaU {Z{‘©VrgmR>r H$m¶Xo‘§S>imMr ŷ{‘H$m ‘hÎdmMr Amho ho ñnîQ> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [14]
A) gmd©O{ZH$ YmoaU Am{U Ë¶mÀ¶m A§‘b~OmdUrMr H$m¶©nÕVr gm§Jm.
~) gmd©O{ZH$ YmoaUmMr CËH«$m§Vr WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.5) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [14]
A) ‘{hbm YmoaUmMr à‘wI d¡{eï>ço hm¶bmBQ> H$am.
~) gmd©O{ZH$ YmoaUmMr ì¶már ñnï> H$am.


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Q1) A) Fill in the blanks. [7]
i) The process of getting things done from others is known as _____

(Management, Psychology, Science)

ii) _____ is not a function of management.
(Organizing, Directing, Cleaning)

iii) Planning is nothing but forecasting the _____
(Present, Past, Future)

iv) Process of selecting the best alternatives from various available
option is known as ______
(Marketing, Decision Planning)

v) _____ is the process of developing an orderly arrangement of tasks,
roles and responsibilities to ensure the accomplishment of organiza-
tional objectives.
(Planning, Leading, Organizing)

vi) _______ is not a function of directing.
(Supervision, Leadership, Staffing)

vii) _______ is not a benefit of effective coordination in management.
(Decreased employee morale, Improved decision making, Enhanced
organizational performance)

P.T.O.
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B) State the following statement are true of false. [7]
i) Management is an art.
ii) Planning helps in reducing uncertainty.
iii) Decision-making is an exclusive function of top-level management

and does not involve lower level employee.
iv) Disaster management only involves natural disasters but does not

include human made emergencies.
v) Control function helps to achieve organizational objectives effec-

tively and efficiently.
vi) Directing is not a function of management.
vii) Internal recruitment is the process of filling vacancies within an

organization by promoting or transferring existing employees.

Q2) Answer the following questions one or two sentences. [14]
a) What is planning?
b) What is Management?
c) What is coordination?
d) What is directing?
e) State the two factors affecting decision-making.
f) What is mean by controlling?
g) Define the term staffing.

Q3) a) What does management mean? State its characteristics. [14]
OR

b) What is mean by planning? Explain the process of planning.

Q4) a) What is co-ordination? State the importance of co-ordination. [14]
OR

b) Define Recruitment. Explain the various internal and external sources of
recruitment.

Q5) Write a short notes. (Any Two) [14]
a) Total Quality Management
b) Importance of planning
c) Disaster Management
d) Types of Decision Making

… … …
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [7]

i) BVam§H$Sy>Z H$m‘o H$ê$Z KoÊ¶mMr à{H«$¶m .......... åhUyZ AmoiIbr OmVo.

(ì¶dñWmnZ, ‘mZgemó, {dkmZ)

ii) ............ ho ì¶dñWmnZmMo H$m¶© Zmhr.

(g§KQ>Z, {ZX}eZ g’$mB©)

iii) {Z¶moOZ åhUOo ....... A§XmO dV©dUo hmo¶.

(dV©‘mZmMm, ŷVH$mimMm, ^{dî¶mMm)

iv>) {d{dY CnbãY n¶m©¶m§‘YyZ gdm}Îm‘ n¶m©¶ {ZdS>Ê¶mMr à{H«$¶m ....... åhUyZ AmoiIbr
OmVo.

({dnUZ, {ZU©¶, {Z¶moOZ)

v) ........... hr g§ñWmË‘H$ CX²{Xï>o nyU© H$aÊ¶mgmR>r H$m¶}, ŷ{‘H$m Am{U O~m~Xmè¶m§Mr
gwì¶dpñWV ‘m§S>Ur {dH${gV H$aÊ¶mMr à{H«$¶m Amho.

({Z¶moOZ, {ZX}eZ, g§KQ>Z)

vi) .......... ho {ZX}eZmMo H$m¶© Zmhr.

(n¶©dojU, ZoV¥Ëd, H$‘©Mmar {Z¶wº$s)

vii) .......... hm ì¶dñWmnZmVrb à^mdr g‘Ýd¶mMm ’$m¶Xm Zmhr.

(H$‘©Mmè¶m§Mo ‘ZmoY¡¶© H$‘r hmoUo, {ZU©¶ à{H«$¶oV gwYmaUm, g§KQ>ZmË‘H$ H$m‘{JarV dmT>)



4[6301]-424

~) Imbrb {dYmZo MyH$ {H$dm ~amo~a Vo gm§Jm. [7]
i) ì¶dñWmnZ hr EH$ H$bm Amho.
ii) {Z¶moOZm‘wio A{ZpíMVVm H$‘r hmoÊ¶mg ‘XV hmoVo.
iii) {ZU©¶ KoUo ho Cƒ-ñVar¶ ì¶dñWmnZmMo EH$ {deof H$m¶© Amho Am{U Ë¶mV {ZåZ ñVamdarb

H$‘©Mmar gh^mJr hmoV ZmhrV.
iv) AmnÎmr ì¶dñWmnZm‘Ü¶o Ho$di Z¡g{J©H$ AmnÎmtMm g‘mdoe hmoVmo na§Vw ‘mZd{Z{‘©V

AmnmVH$mbrZ n[apñWVtMm g‘mdoe hmoV Zmhr.
v) g§KQ>ZmË‘H$ CX²{Xï>o à^mdrnUo Am{U H$m¶©j‘VoZo gmÜ¶ hmoÊ¶mgmR>r {Z¶§ÌU H$m¶© ‘XV

H$aVo.
vi) {ZX}eZ ho ì¶dñWmnZmMo H$m¶© Zmhr.
vii) A§VJ©V ^aVr hr {dX²¶‘mZ H$‘©Mmè¶m§Mr nXmoÞVr qH$dm ~Xbr H$ê$Z g§ñWoVrb [aº$ nXo

^aÊ¶mMr à{H«$¶m Amho.

à.à.à.à.à.2) Imbrb àíZm§Mr EH$ qH$dm XmoZ dm³¶mV CÎmao X²¶m. [14]
A) {Z¶moOZ åhUOo H$m¶?
~) ì¶dñWmnZ åhUOo H$m¶?
H$) g‘Ýd¶ åhUOo H$m¶?
S>) {ZX}eZ åhUOo H$m¶?
B) {ZU©¶ à{H«$¶oda n[aUm‘ H$aUmao XmoZ KQ>H$ gm§Jm.
’$) {Z¶§ÌU åhUOo H$m¶?
¶) ^aVr ¶m g§koMr ì¶m»¶m H$am.

à.à.à.à.à.3) A) ì¶dñWmnZ åhUOo H$m¶? Ë¶mMr d¡{eï²>¶o gm§Jm. [14]
qH$dm

~) {Z¶moOZ åhUOo H$m¶? {Z¶moOZmMr à{H«$¶m ñnï> H$am.

à.à.à.à.à.4) A) g‘Ýd¶ åhUOo H$m¶? g‘Ýd¶mMo ‘hÎd gm§Jm. [14]
qH$dm

~) ^aVrMr ì¶m»¶m X²¶m. ^aVrMo {d{dY A§VJ©V Am{U ~mø ómoV ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]
A) EHy$U JwUdÎmm ì¶dñWmnZ
~) {Z¶moOZmMo ‘hÎd
H$) AmnÎmr ì¶dñWmnZ

S>) {ZU©¶mMo àH$ma

… … …
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Q1) Answer the following questions in 50 words each. (Any Three). [15]
a) What is creativity?

b) Write the meaning of personality

c) Write the meaning of heredity.

d) What are the types of sensation?

e) Write the concept of Individual differences.

Q2) Answer the following questions in 100 words each. (Any Two) [20]

a) What is imagination? Explain the educational importance of Imagination.

b) What is environment? Explain the educational importance of
environment.

c) Explain the educational importance of Individual differences.

d) Explain the educational importance of perception.

P.T.O.
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Q3) Answer Any one question in 300 words. [20]

a) Explain factors affecting on personality in detail.

b) Explain the characteristics of physical development, mental development,
emotional development, Social development at adolescence stage.

Q4) Write short notes in 50 words each. (Any Three) [15]

a) Areas of Individual differences.

b) Concept of ‘Concept formation’.

c) Social development at childhood stage.

d) Educational importance of heredity.

e) Role of school in personality development.

… … …
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à.à.à.à.à.1) 50 eãXm§V CÎmao {bhm. (H$moUVohr 3) [15]

A) gO©ZerbVm åhUOo H$m¶?

~) ì¶{º$‘ËdmMm AW© {bhm.

H$) AZwd§emMm AW© {bhm.

S>) g§doXZoMo àH$ma H$moUVo?

B) ì¶{º$ ôXmMr g§H$ënZm {bhm.

à.à.à.à.à.2) 100 eãXm§V CÎmao {bhm. (H$moUVohr 2) [20]

A) H$ënZm åhUOo H$m¶? H$ënZoMo e¡j{UH$ ‘hÎd ñnï> H$am.

~) n[apñWVr åhUOo H$m¶? n[apñWVrMo e¡j{UH$ ‘hÎd ñnï> H$am.

H$) ì¶{º$ ôXmMo e¡j{UH$ ‘hÎd ñnï> H$am.

S>) Ad~moYmMo e¡j{UH$ ‘hÎd ñnï> H$am.
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à.à.à.à.à.3) 300 eãXm§V CÎmao {bhm. (H$moUVmhr 1) [20]

A) ì¶{º$‘Ëdmda n[aUm‘ H$aUmao KQ>H$ g{dñVa ñnï> H$am.

~) Hw$‘mamdñWoMr em[aarH$, ‘mZ{gH$, ^md{ZH$ d gm‘m{OH$ {dH$mgmMr d¡{eï>o> ñnï> H$am.

à.à.à.à.à.4) 50 eãXm§V Q>rnm {bhm. (H$moUVohr 3) [15]

A) ì¶{º$ ôXmMr joÌo

~) gO©ZerbZoMr g§H$ënZm

H$) {H$emoamdñWoVrb gm‘m{OH$ {dH$mg

S>) AZwd§emMo e¡j{UH$ ‘hÎd

B) ì¶{º$‘Ëd {dH$mgmV emioMr ŷ‘rH$m

… … …
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Q1) Attempt any FIVE of the following. [10]
a) Show that intersection of two subrings of a ring is again a subring.
b) Show that a finite integral domain is a field.
c) Show that a2 – b2 = (a–b) (a+b) for all a, b in a ring R if and only if R is

communtative.
d) Find all zero divisors in the ring M2( 2 ).
e) If x is nilpotent element in ring R with unity 1 then show that 1 – x is unit.
f) Let  be Euler’s phi-function. Find  (300).
g) Show that the ring 4 3  is isomorphic to the ring 12 .

Q2) Attempt any four of the following: [20]
a) State and prove Eisentien criterion of irreducibility of a polynomial with

integer coefficients over ring  .
b) Prove that the ring of Guassian integers  [i] is an Euclidean domain.
c) Let R be a commuative ring and 1 2N N  ...... be chain of ideals in R.

Then show that 
1

i
i

N



  is an ideal of R.

d) Let F be a field. Show that : ,
0 0
a b

a b F
  

  
  

is right ideal but not left

ideal of the ring M2(F).
e) Solve the equation x2 – 5x + 6 = 0 in 12 .

f) Find all 5c such that 
5

2

[ ]x
x x c 


is field.

P.T.O.
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Q3) Attempt any FOUR of the following. [20]

a) Let R be ring with unity e then show that the map :f R  defined by

times

( ) . .....
n

f n n e e e e      is a ring homomorphism.

b) Show that characteristic of an integral domain is either 0 or prime.
c) Let R be a commutative ring with unity. Show that I is a maximal ideal if

and only if R/I is a field.

d) Show that 2: M ( )f   defined by (   ) 
x y

f x iy
y x

 
    

, is ring

homomorphism.
e) Find all ring homomorphisms from    to  .

f) S be ring of all functions from �to �. Show that  : (1) (2) 0f S f f  

is an ideal. Is it maximal? Justify.

Q4) Attempt any TWO of the following. [20]

a) Find all zeros of 6x4 + 17x3 + 7x2 + x –10 in  .

b) Let p be prime. Show that in the ring , (a ) p p p
p b a b    for all

a, b p .

c) Show that every ring can be embbeded in a ring with unity with same
characteristic.

d) State and prove the Chinese Remainder Theorem.

… … …



Q1) Attempt each of the following :

A) Choose the correct alternative of the following : [1 each]

i) Let X be random variable with probability density function (pdf)
f (x, ). If H0 :  = 0 and H1 : > 0 then
a) H0 and H1 are both simple hypothesis
b) H0 and H1 are both composite hypothesis
c) H0 is simple hypothesis and H1 is composite hypothesis
d) H0 is composite hypothesis and H1 is simple hypothesis

ii) The Neyman-Pearson and likelihood ratio test (LRT) exist and are
equivalent if
a) H0 and H1 are both simple hypothesis
b) H0 and H1 are both composite hypothesis
c) H0 is simple hypothesis and H1 is composite hypothesis
d) H0 is composite hypothesis and H1 is simple hypothesis

iii) Rejecting H0 when it is true is known as
a) Power of a test b) Type I error
c) Type II error d) Size of test

Total No. of Questions : 4]
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iv) The best procedure in sequential testing is developed by

a) A. Wald b) Mann-Whitney

c) Neyman d) Kolmogorov-Smirnov

v) Which of the following is not a non-parametric test?

a) Sign test

b) Mann-Whitney test

c) Kolmogorov-Smirnov test

d) Sequential Probability Ratio Test (SPRT)

B) State whether the following statement is True or False : [1 each]

i) LRT can be used to test a simple null hypothesis against a composite
alternative hypothesis.

ii) The stopping bounds for SPRT of strength (, ) are given by
A = (1-)/ and B = (1-).

iii) The probability of rejecting H0 when it is false is known as level of
significance.

iv) Non-parametric methods are based on no distributional assumptions.

v) SPRT always requires more sample observations to come to a
conclusion than the test based on fixed sample size.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Explain the procedure of Wilcoxon signed rank Test.

b) Define :

i) Rejection region

ii) Level of significance

iii) Test statistic

c) Explain the type-I and type-II errors along with their probabilities.

d) Explain the concept of uniformly most powerful test of level .

e) Explain parameter space and sample space with examples.

f) Can you regard the following sample as drawn from an exponential
distribution with a parameter of 0.2, using the Kolmogorov-Smirnov test?

0.5, 1.30, 1.75, 4.6, 6.1, 8.2, 10.5, 11.05, 15, 20.5.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Let X  Exp (). Construct SPRT of strength (, ) to test H0 :  = 0
against H1 :  = 1 (0 < 1).

b) Construct LRT for variance of Normal distribution when  known.
c) Let X1, X2,....Xn be random sample from Poisson distribution with mean

. Construct MP test of size  for testing H0 :  = 0 against H1 :  =1
(1 < 0).

d) Define the following :
i) size of test
ii) p-value
iii) power of a test

e) Distinguish between parametric and non-parametric tests.
f) Two different methods of growing corn were randomly assigned to

different plots. Yield per acre was recorded as follows :
Method I 81 102 94 96 91 101 90 92 91 89 94 91 83
Method II 91 85 82 95 93 100 89 91 88 83 84 81 90
Use Mann-Whitney test, to test whether there is significant difference in
average yield as a result of methods. (Use 5% level of significance)

Q4) Attempt any Two of the following : [2 × 10 = 20]
a) Let X  N (, 2), 2 known. Construct SPRT of strength (, ) to test

H0 : = 0 against H1 : 0.
b) Explain the test procedure of run test for one sample and two samples.
c) Construct SPRT for Poisson distribution.
d) Let X  B (n, ). Use the likelihood ratio method to test H0 :  0

against H1 : > 0.


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Q1) Attempt any FIVE of the following. [10]

a) Show that the function = 
0,0 1;

( )
1,1 2;

x
f x

x
 

   
 is continuous almost every

where on [0,2].

b) If f(x) = x, 0   x   3 and  = {0,1,2,3} is a subdivision of [0,1] then
find U [ f ;].

c) Prove that a singleton set is of measure zero.

d) Show that the improper integral 
1

0

1 dx
x  is convergent.

e) Define conditional convergence of improper integral.

f) If fn(x) = xn, 0   x  1, n = 1,2, ....... then prove that   1
( )n n

f x 


 is

converges pointwise to 0.

g) Define uniform convergence of series of real functions.

P.T.O.
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Q2) Answer any FOUR of the following. [20]
a) Prove that the set of all rational numbers is of measure zero.

b) Consider f(x) = k, (a x b). Prove that  ,f a b .

c) If f is continuous on the closed and bounded interval [a,b], and if

F(x) = ( ) , ( )
x

a
f t dt a x b  then prove that F' (x) = f (x), ( )a x b  .

d) Consider the function 
1, is rational in[0,1];

( )
0, is irrationalin[0,1].

x
f x

x


 


Prove that f is not Riemann integrable on [0,1].

e) Evaluate : 
1 21lim .......

n
n n n

n
e e e

n

 
   

 
.

f) If f ' (x) = g'(x) for all x in the closed bounded interval [a,b], then prove
that f – g is constant, that is, f(x) = g(x) + C, ( )a x b   for some C 

Q3) Attempt any FOUR of the following. [20]

a) Consider the function 
1, ;

X( )
0, otherwise.

n x n
x

  
 


Prove that lim X( ) 1.
n

x




b) Show that the integral 
1

20

1
21 x





 .

c) Prove that the improper integral ( )
b

a

dx
x a   converges if and only

if  < 1.

d) Examine the convergence of 2
0

log(sin )x dx


 .

e) By using comparison test prove that 1 11
2 4

1

( 1)
dx

x x




 is divergent.

f) Let fn(x) = , (0 )
1

x x
nx

  


 then prove that lim ( ) 0.nn
f x



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Q4) Attempt any TWO of the following. [20]

a) Let   1n n
f 


 be a sequence of real valued functions on a set E. Prove that

  1n n
f 


 converges uniformly to a function F on E if and only if

given    there exists a natural number N such that
( ) ( ) , , ; .m nf x f x m n N x E    

b) State and prove second fundamental theorem of calculus.

c) Prove that the improper integral 0

sin x dx
x



 is convergent. Also show

that 0

sin x dx
x



  is divergent.

d) State and prove Weierstrass M-test for uniform convergence of the series

of functions. Hence prove that the series 2 2
1

1
n n x



   converges uniformly

on (0,).

… … …
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Q1) Answer any Three of the following questions in 50 words. [15]
a) What is subject matter of social sciences? Explain it.
b) Explain the concept of statistical model.
c) Explain the means of induction.
d) State the concept of ‘Explanation’.
e) What is a law?

Q2) Write short notes on any Three of the following in 50 words. [15]
a) Deductive Nomo-logical Model (D.N. Model).
b) Secondary Law.
c) Human action in social science.
d) Derivative laws.
e) Objectivity.

Q3) Answer Two of the following questions in 200 words. [20]
a) Explain the probability and functional models.
b) Explain the types of secondary laws in detail.
c) What is value-neutrality.

Q4) Answer any One of the following questions in 400 words. [20]
a) Explain in detail the difference between common sense explanation and

scientific explanation.
b) Explain in detail the difference between social science and natural science.


P.T.O.
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[6301]-430
T.Y. B.A.
LOGIC

G3 CC-1F: Logic & Methodology of Science - II
(2019 Pattern) (CBCS) (Semester - VI) (36363)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr VrZ àûZm§Mr CÎmao 50 eãXm§V {bhm. [15]
A) gm_m{OH$ emñÌmMm Aä`mg{df` H$m` Amho? ñnï> H$am.
~) g§»`mË_H$ àmén g§H$ënZm gm§Jm.
H$) {dJ_Z gmYZo H$moUVr ñnï> H$am.
S>) ‘ñnï>rH$aU’ g§H$ënZm {deX H$am.
B) {Z`_ åhUOo H$m`?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr VrZ {Q>nm 50 eãXm§V {bhm. [15]
A) {ZJ_ZmË_H$ àmén (D.N. Model)
~) Xþæ`_ {Z`_
H$) gm_m{OH$ emñÌmVrb _mZdr H¥$Vr
S>) VX²̂ d {Z`_
B) dñVy{Zð>Vm

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àûZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) g§̂ mì`mË_H$ d H$m`m©Ë_H$ àmén ñnîQ> H$am.
~) Xþæ`_ {Z`_mMo àH$ma g{dñVa {deX H$am.
H$) _yë`{ZanojVm åhUOo H$m`?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àûZmMo CÎma 400 eãXm§V {bhm. [20]
A) ì`mdhm[aH$ ñnï>rH$aU d d¡km{ZH$ ñnï>rH$aUmVrb \$aH$mMo _wX²Xo g{dñVa {deX H$am.
~) gm_m{OH$ emñÌo d Z¡g{J©H$ emñÌo åhUOo H$m` gm§JyZ Ë`m§À`mVrb \$aH$ g{dñVa gm§Jm.



PC985
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PC986 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes. (Any Three) [15]
a) Public ‘Health’
b) Children and Social Justice.
c) Right to Information.
d) Preamble to the constitution of India.
e) Rights of Differently Able.

Q2) Answer the following questions is 50 words each. (Any Three) [15]
a) Write the types of Social justice.
b) Explain the Right to privacy.
c) Explain the universal Declaration of Human right.
d) Write the nature of human right.
e) State the role of government in Social justice.

Q3) Answer the following questions in 200 words each. (Any Two) [20]
a) State principles of Social justice.
b) Explain Human Rights in constitution in India.
c) Elaborate Justice in context of caste and Gender.
d) Significance of Human Rights and Social justice.

Q4) Answer the following question in 300 words (Any One) [20]
a) Explain the meaning, definition and characteristics of human rights.
b) Explain the human rights of minorities in India.


P.T.O.



2[6301]-421

Total No. of Questions : 4]

[6301]-431
T.Y. B.A.

SOCIOLOGY
CC-1D - G3 : Introduction to Human Rights and Social Justice

(2019 Pattern) (CBCS) (Semester - VI) (36373)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) gmd©O{ZH$ Amamo½`.
~) _wbo Am{U gm_m{OH$ Ý`m`.
H$) _m{hVrMm A{YH$ma.
S>) ^maVr` amÁ`KQ>ZoMm gaZm_m.
B) {Xì`m§J hŠH$.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]
A) gm_m{OH$ Ý`m`mMo àH$ma {bhm.
~) Jmon{Z`VoMm A{YH$ma ñnï> H$am.
H$) _mZdr hŠH$mMr gmd©{ÌH$ KmofUm ñnï> H$am.
S>) _mZdr A{YH$mamMo ñdén {bhm.
B) gm_m{OH$ Ý`m`mVrb gaH$maMr ŷ{_H$m gm§Jm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) gm_m{OH$ Ý`m`mMr VËdo gm§Jm.
~) ^maVr` amÁ`KQ>ZoVrb _mZdr hŠH$ ñnï> H$am.
H$) OmV d qbJ `m g§X^m©Vrb gm_m{OH$ Ý`m`mMo {díbofU H$am.
S>) _mZdr hŠH$ d gm_m{OH$ Ý`m`mMo _hÎd ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr EH$) [20]
A) _mZdr hŠH$mMm AW©, ì`m»`m Am{U d¡{eï²> ò g{dñVa ñnï> H$am.
~) ^maVmVrb Aëng§»`mH$m§Mo _mZdr hŠH$ {deX H$am.



PC986
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PC987 [Total No. of Pages : 2
SEAT No. :

Q1) Write short notes on (Any Three) [15]
a) Tourism.
b) Retail Industry.
c) Fishing.
d) Meaning of Hospitality.
e) Mining labour.

Q2) Answer the following questions in 50 words each. (Any Three) [15]
a) Explain the process of informalization in India.
b) Explain the impact on increasing work force in Indias informal sector on

labour movement.
c) Explain the problems of worker in Hospitality sector.
d) Explain the impact of caste & religion on service sector workers in India.
e) Write the impact of the new economic policy on workers in the forest

industry.

Q3) Answer the following questions in 200 words each. (Any Two) [20]
a) Explain the impact of informalization on Indias migrant workers.
b) Write the impact of new economic policy on workers in Secondary Sector.
c) Write the nature of work in Service Sector.
d) Explain the workers problem working in BPO centre.

Q4) Answer the following question in 300 words (Any One) [20]
a) Write the impact on New economic policy on Labour in agriculture sector.
b) Explain the Growth of information Technology in India.


P.T.O.



2[6301]-432

Total No. of Questions : 4]

[6301]-432
T.Y. B.A.

SOCIOLOGY
CC-2E: Work and Society in India

(2019 Pattern) (CBCS) (Semester - VI) (36374)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) n`©Q>Z
~) {H$aH$moi {dH«$s joÌ
H$) _mgo_mar
S>) AmXam{VÏ`mMm AW©
B) ImU_Oya

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ^maVmVrb AZm¡nMm[aH$sH$aUmMr àH«$s¶m ñnï> H$am.
~) ^maVmVrb AZm¡nMm[aH$ joÌmVrb dmT>Ë`m H$m_Jmam§Mm H$m_Jma Midirdarb n[aUm‘ {deX

H$am.
H$) AmXam{VÏ¶ joÌmVrb H$m‘Jmam§À¶m g‘ñ¶m ñnï> H$am.
S>) ^maVmVrb godm joÌmVrb H$m‘Jmam§darb Y‘© d OmVrMm n[aUm‘ ñnï> H$am.
B) ZdrZ Am{W©H$ YmooaUmMm dZCX¶moJmVrb ‘Oyam§darb n[aUm‘ {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ^maVmVrb AZm¡nMm[aH$sH$aUmMm ñWbm§VarV H$m‘Jmam§da Pmbobm n[aUm‘ ñnï> H$am.
~) ZdrZ Am{W©H$ YmoaUmMm Xþæ¶‘ joÌmVrb H$m‘Jmam§darb n[aUm‘ {bhm.
H$) godm CX¶moJmVrb H$m‘Jmam§À¶m H$m‘mMo ñdê$n {bhm.
S>) ~rnrAmo g§oQ>a‘Ü¶o H$m‘ H$aUmè¶m H$m‘Jmam§À¶m g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZmMo CÎma 300 eãXmV {bhm. (H$moUVohr EH$) [20]
A) ZdrZ Am{W©H$ YmoaUmMm H¥$fr joÌmVrb ‘Oyam§da Pmbobm n[aUm‘ {bhm.
~) ^maVmVrb ‘m{hVr V§ÌkmZ joÌmVrb dmT> ñnï> H$am.



PC987
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[6301]-433
T.Y.B.A.

     STATISTICS (General-III)
CC-1F,St-33876 : Operations Research
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Instructions to the candidates:
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2) Figures to the right indicate full marks.
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PC988 [Total No. of Pages : 5

SEAT No. :

Q1) Attempt each of the following.

A) Choose the correct alternative in each of the following . [1M Each]

a) Operations research approach is typically based on the use of ____

i) physical model ii) iconic model

iii) verbal model iv) mathematical model

b) Which of the following variable is subtracted from the constraint of
linear programming model to convert it into equality constraint?

i) Slack ii) Surplus

iii) Decision iv) Artificial

c) The purpose of allocation of a very small quantity ∈  in a
transportation problem (TP) is to

i) resolve degeneracy in the solution

ii) balance total activities and resources

iii) minimize the total cost of transportation

iv) solve the maximum allocations

d) Generally, the Project Evaluation and Review Techniques (PERT),
the longest possible time required to perform an activity under
extremely bad conditions is ___________.

i) Most likely time ii) Most possible time

iii) pessimistic time iv) optimistic time

e) The critical path satisfies the condition ______

i) E
i
 = L

i
 and E

j
 = L

j
ii) L

j
 –E

i
 = L

i
 – L

j

iii) L
j
 – E

i
 = L

i
 – E

j
iv) E

i
 = 0 = L

j

P.T.O.
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B) State whether each of the following statement is true or false. [1M Each]

a) Operations research analyst can predict about the future.

b) In linear programming, parameters appearing in the model are
assumed to be constant.

c) In transportation problem, initial basic feasible solution is obtained
when rim condition is satisfied.

d) For dummy activity, zero time is allotted.

e) Merge event represents the joint completion of more than one activity.

Q2) Attempt any four of the following. [4×5=20]

a) Write a note on any three classifications based on function in operations
research.

b) Explain the procedure of conversion of given linear programming problem
into standard form.

c) Write the step-by-step procedure to obtain the initial basic feasible solution
(IBFS) to transportation problem (TP) by least cost method.

d) Explain the extreme point solution in the graphical method of linear
programing problem (LPP).

e) A firm produces two products P and Q. Daily production upper limit is
600 units for total production. But at least 300 total units must be produced
every day. Machine hours consumption per unit is 6 for P and 2 for Q. At
least 1200 machine hours must be used daily. Manufacturing costs per
unit are Rs. 50 for P and Rs. 20 for Q. Formulate the problem to minimize
the total cost.

f) Draw a network diagram for the following project:

Activity Times in weeks Activity Times in weeks

1-2 4 5-7 8

1-3 1 6-8 1

2-4 1 7-8 2

3-4 1 8-9 1

3-5 6 8-10 8

4-9 5 9-10 7

5-6 4
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Q3) Attempt any four of the following. [4×5=20]

a) Explain any three major steps of problem defining in operations research.

b) Write advantages of linear programming.

c) Explain the concept of Project Evaluation and Review Technique (PERT).

d) Solve the following LPP by simplex method

Max Z = 3x
1
 + 2x

2

subject to

2x1 + x2 < 2

3x
1
 + 4x

2
 >12

and x
1
, x

2
 > 0

e) Explain the occurrence of loops and rules for construction of loops in TP.

f) The following is the time estimates of a small project for different activities:

               Estimated Duration in weeks
Activity

Optimistic Most Likely Pessimistic

1-2 3 6 9

1-3 2 4 12

1-4 1 1.5 5

2-5 1 2 3

3-5 1.5 2 4.5

4-6 0.5 1 1.5

5-6 4.5 5 11.5

Find the expected duration and variance of each activity.
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Q4) Attempt any two of the following. [2×10=20]

a) i) Define the following terms with respect to LPP [3]

A) Basic Feasible Solution

B) Optimal Solution

C) Objective function

ii) Determine the optimal assignment of zones to the salesman for the
following project to maximize the total sale (in ‘000 Rs.): [7]

Salesman       Zone

A B C D

I 7 12 37 18

II 25 27 18 25

III 16 3 17 23

IV 10 25 14 9

b) i) The initial basic feasible solution for the TP is as given below: [8]

1 2 3 4 i

32 4 5
61

3 15 4
62 2

1 3 3 2
43 6

j

Destination
D D D D a

Origin

O 6

O 8

O 10

b 4 6 8 6 24

→
↓




 

Check the optimality of the solution.

ii)  Write the note on infeasible solution to the LPP. [2]
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c) For the following LPP, find the solution by its dual: [10]

Min Z=5x
1
–2x

2
+3x

3

Subject to:

2x
1
 + 2x

2
 – x

3
 > 1

3x
1
 – 4x

2 
< 3

x
2
 + 3x

3
 < 5

x
1
, x

2
, x

3
 > 0

d) i) Explain the stepwise procedure for Big-M method of LPP. [5]

ii) Write a note on descriptive model of operations research. [2]

iii) Write the primal of the following dual problem: [3]

Max Z = 6x
1
 + 4x

2

Subject to

2x
1
 + x

2
 < 2

4x
1
 + 2x

2
 < 8

x
1
 + x

2
 < 1

x
1
, x

2
 > 0


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Q1) Answer the following questions in 300 words each : [15]
a) Discuss the various types of Heritage.

OR
b) Explain Ajanta and Ellora as Ancient Heritage sites in Maharashtra .

Q2) Answer the following questions in 300 words each : [15]
a) What is cultural resource management? Discuss.

OR
b) How to preserve old documents?

Q3) Answer the following questions in 200 words each (Any two) : [20]
a) Describe types of Museums.
b) Write the importance of ‘Heritage Tourism’.
c) Write a note on Chhatrapati Shivaji Maharaj Vastu Sangrahalaya (Mumbai).
d) What do you know about Archaeological Sites-Bori and Inamgaon?

Q4) Write notes on (any four) : [20]
a) Bhimbetaka.
b) Gharapuri caves.
c) Documentation of sources.
d) Concept of Museum.
e) Naneghat - Heritage site.
f) Deccan college Meseum.



P.T.O.
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Total No. of Questions : 4]

[6301]-434
T.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
CC-1F : Ancient Heritage and Heritage Management

(2019 CBCS Pattern) (Semester - VI) (36183)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZmMr CÎmao àË¶oH$s 300 eãXmV {bhm. [15]
A) dmagm ¶mÀ¶m {d{dY àH$mam§Mr MMm© H$am.

qH$dm
~) ‘hmamï´>mVrb àmMrZ dmagm ñWio åhUyZ AqOR>m Am{U doê$i {deX H$am.

à.à.à.à.à.2) Imbrb àíZmMr CÎmao àË¶oH$s 300 eãXmV {bhm. [15]
A) gm§ñH¥${VH$ g§gmYZ ì¶dñWmnZ åhUOo H$m¶? MMm© H$am.

qH$dm
~) OwÝ¶m H$mJXnÌm§Mo OVZ H$go H$aVmV?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) g§J«hmb¶m§Mo àH$ma dU©Z H$am.
~) "dmagm n¶©Q>Z' ¶mMo ‘hÎd {bhm.
H$) N>ÌnVr {edmOr ‘hmamO dñVy g§J«hmb¶ (‘w§~B©) ¶mda Q>rnU {bhm.
S>) ~moar Am{U BZm‘Jmd ¶oWrb nwamVËdr¶ ñWim§{df¶r Vwåhm§g H$m¶ ‘m{hVr Amho?

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) ^r‘~oQ>H$m
~) KmamnwarMr boUr
H$) gmYZm§Mo XñVmEodOrH$aU
S>) g§J«hmb¶ ¶mMr g§H$ënZm
B) ZmUoKmQ>-dmagm ñWi
’$) S>o̧ $Z H$m°boO g§J«hmb¶



PC989
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Instructions to the candidates:

1) All questions are compulsory.
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SEAT No. :

Q1) Attempt any five of the following: [10]

a) Let D = {(q, p) : q + 5p = 40} and S = {(q, p) : 2q – 15p = –20} be
demand and supply set for a market respectively. Find the equilibrium set
for the given market.

b) Find rank of matrix 
2 11

A =
3 9

− 
 
 

c) If the cost function for a commodity is C(q) = 3q3 – 7q + 43 then find the
average variable cost function.

d) Define the term ‘Startup point’.

e) If the supply and demand functions for a good are

qS(p) = 2p – 3, qD(p) = 18 – p respectively.

Determine whether the cobweb model predicts stable or unstable
equilibrium.

f) If the demand function is qD(p) = 589–2p2 then find the expression for
elasticity of demand.

g) State the term ‘Technology matrix’.

P.T.O.
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Q2) Attempt any four of the following: [20]

a) Find the maximum and minimum value of the function f (x) = x3 – 8x2 +
16x – 1 in the interval [0, 2].

b) Solve the following system of equations:

– x + 2y + 2z = 7,

x – 4z = – 14,

2x + 2y – z = 4.

c) An amount of rupees 10080 is invested at an interest rate 7.2% per annum.
Find the total after 2 years if the interest is compounded semi-annually

d) Prove that at the break-even point marginal cost is equal to average cost.

e) Find the present value of an annuity generating rupees 10000 a year for
next seven years, given the fixed interest rate of 8%.

f) The demand set for a good is D = {(q, p)|q2(2 + p3) =200}. Determine
the values of p for which demand is elastic.

Q3) Attempt any four of the following: [20]

a) Write a note on arbitrage portfolio and state prices.

b) The supply and demand sets for a commodity are

S = {(q, p)|2p – 3q = 12}, D{(q, p)|2p + q = 20}.

Assume that the supplier operate according to the cobweb model.
Determine the recurrence equation for the sequence p

t
 of prices and find

the explicit solution if p
0
 = 10.

c) Reduce the matrix 

3 6 9

A = 1 0 2

4 6 11

 
 
 
 
 

 to its row echelon form.

d) Let S = {(q, p)| p + q = 22} and D = {(q, p)| p + 2q = 10} be supply and
demand sets respectively, for a particular market. If an excise tax of
rupees 4 per unit is imposed then find the new equilibrium market price
and quantity.

e) Express the vector (1, –4, –6) as a linear combination of the vectors
(2, 1, –3), (1, –1, 0) and (1, 1, 1).

f) Determine Whether the demand qD( p) = 5

2023

p
 is inelastic. Justify.
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Q4) Attempt any two of the following: [20]

a) MK pipes Limited is an efficient small firm that can not produce more
that 10 units of its product per week. If their cost function is C(q) = 800
+ 70q – 12q2 + q3. Determine their

i) Fixed cost

ii) Profit function

iii) Startup point

iv) Break-even point

v) Supply set.

b) The market for a commodity is governed by supply set S = {(q, p) | q –
6p = –12} and demand set D = {(q, p) | q + 2p = 40}. Then determine

i) The equilibrium set

ii) Supply and demand functions

iii) Inverse supply and inverse demand functions

iv) Sketch supply set S and demand set D.

c) A factory makes two goods grommets and widgets. To produce $1 worth
of grommets requires $0.3 worth of grommets and $0.2 worth of widgets.
To make $1 of widgets requires $0.25 worth of grommets. There is an
external demand of $800 worth of grommets and $550 worth of widgets.
Determine the total production of each commodity.

d) Suppose an investor invests money in three different assets land, bonds
and stocks and three possible states can occur. If the return matrix of the
above investment is

1.05 1.20 1.10

R = 1.05 1.05 1.05

0.9 1.05 0.95

 
 
 
 
 

then show that there is no vector of state prices. Also find an arbitrage
portfolio.


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Q1) Attempt each of the following:

A) In each of the following cases, choose the correct alternative: [1 Each]

a) Which of the following tests is not parametric test?

i) Z-test ii) t-test

iii) paired t-test iv) Wilcoxon’s sign rank test

b) The analysis of variance technique is used to test whether or not:

i) means of two or more populations are equal

ii) standard deviations of two or more populations are equal

iii) medians of more than two populations are equal

iv) variances of two populations are equal

c) X-bar chart is a

i) attribute control chart

ii) variable control chart

iii) neither a variable control chart nor an attribute control chart

iv) falls in the category of both variable and attribute control charts

d) Which of the following statement is correct?

i) Error sum of squares is always negative

ii) Error sum of squares is always non negative

iii) Error sum of squares is always zero

iv) Error sum of squares is always less than 100
P.T.O.
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e) Variations in the items produced in a factory may be due to

i) chance causes

ii) assignable causes

iii) both chance causes and assignable causes

iv) neither chance causes nor assignable causes

B) State whether each of the given statement is true or false: [1 Each]

a) In the Latin square design (LSD), the number of replicates is always
the same for all treatments.

b) The errors are assumed to be independent of each other, and normally
distributed in analysis of variance.

c) Type I error is described as the situation of the conclusion of the
process state as out-of- control when it is in-control.

d) The c-chart is used for total number of events.

e) Too few runs indicate the given sequence is random.

Q2) Attempt any four of the following: [5 Each]

a) What is a uniformity trail? Describe its use in design of experiment.

b) Describe the procedure of construction of the c-chart when standards
are not given.

c) Describe the statistical model and hypothesis to be tested in ANOVA of
CRD with assumptions.

d) Explain the test procedure of Wilcoxon’s signed-rank test.

e) Describe the graphical method for testing the normality in ANOVA.

f) The following data represents the weight gain (in grams) for 11 mice after
getting fed with special diet:

20.1, 22.5, 29, 23.5, 28, 16, 19.5, 29, 30.9, 22, 27.5

Test the hypothesis that the median is 25 (Use 5% level of significance).
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Q3) Attempt any four of the following [5 Each]

a) Explain the concept of analysis of variance.

b) Explain a non-parametric test for randomness.

c) State the statistical model used in the two-way classification of analysis
of variance and explain the terms used in it. Further state the breakup of
the total sum of squares.

d) State and explain at least three real-life situations where quality control
charts are used.

e) Explain the criteria of judging the lack of control of the process with a
suitable sketch.

f) Complete the following analysis of the variance table.

Source of Degree of Sum of Mean sum F-ratio

Variation freedom squares of squares

Treatment 5 36 ? ?

Block 6 ? ? ?

Error ? ? 5

Total ? 210

Q4) Attempt any two of the following:

a) A study compared time of relief (in hours) provided by four different
brands of medicine administered to 12 different people. The results are
as given below:

Medicine        Time in Relief (in hours)

A 8  7 6 7

B 7 6 3 5

C 3 6 5 5

D 8 5 6 7

Carry out a one-way analysis of variance and test whether the medicine
differ significantly to give relief at 5% level of significance. [10]
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b) The following data indicates the sample mean and range values for 10
subgroups of size 5 items each.

Subgroup No. 1 2 3 4 5 6 7 8 9 10

Average ( )X 17.8 17.2 18.5 17.2 17.5 18.5 11.8 18.2 16.7 19

Range (R) 0.9 1.2 1.5 1 1.9 1.6 1.4 0.8 2.2 0.9

Set up ( )X  and R-charts, and examine the state of control of the given

process. Comment on your results. [10]

c) i) The number of defects in each sample of 20 items are given below.

Item No. 1 2 3 4 5 6 7 8 9 10

No. of defects 2 4 7 3 1  4 8 7 3 5

Item No. 11 12 13 14 15 16 17 18 19 20

No of defects 1 5 6 0 1 3 0 4 6 1

Draw c-chart and check whether the process is under control. [7]

ii) Explain the concept of non-parametric tests. State any two differences
between a parametric and non-parametric test. [3]

d) The following data indicates the percentage of defectives in a sample of
size 50 taken at equal intervals of a production process:

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.08 0.12 0.14 0.06 0.15 0.8 0.2 0.11 0.3 0.4

Sample No. 11 12 13 14 15 16 17 18 19 20

% of defective 0.12 0.07 0.16 0.14 0.17 0.13 0.15 0.6 0.10  0.16

Draw the p-chart to check whether the production process is under
control. Suggest the control limits for future use. [10]


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Q1) Answer any three of the following questions in 100 words each. [15]
a) Briefly state the interrelation Social Philosophy to Sociology.
b) Explain the meaning and definition of Political Philosophy.
c) What is Marxism?
d) Briefly state the Mill’s concept of ‘Right’.
e) Briefly state Dr. B. R. Ambedkar’s concept of ‘Social Democracy’.

Q2) Write short notes on any three of the following in 100 words each. [15]
a) Social Philosophy.
b) Mill’s Concept of Liberty.
c) Theory of Class-Conflicts : Karl Marx’s.
d) Notion of Providence : M. G. Ranade.
e) Gandhiji’s concept of Non-violence

Q3) Answer any two of the following questions in 200 words each. [20]
a) Explain fully the relation of Political Philosophy with Political science and

Ethics.
b) Explain fully Mahatma Gandhiji’s concept of Satyagraha.
c) Discuss fully Karl Marx’s notion of ‘Dialectial Materialism’.

Q4) Answer any one of the following question in 400 words. [20]
a) Elaborately discuss M. G. Rande’s concept of ‘Liberalism’.
b) What is Feminism? Explain the types of Feminism.


P.T.O.
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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr VrZ àûZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm. [15]
A) gm_m{OH$ VËdkmZmMm g_mOemñÌmer Agbobm Am§Vag§~§Y WmoS>Š`mV gm§Jm.
~) amOH$s` VËdkmZmMm AW© d ì`m»`m ñnï> H$am.
H$) _mŠg©dmX åhUOo H$m`?
S>) {_ëbMr ‘hŠH$’ g§H$ënZm WmoS>Š`mV gm§Jm.
B) S>m°. ~r. Ama. Am§~oS>H$am§Mr ‘gm_m{OH$ bmoH$emhr’ g§H$ënZm WmoS>Š`mV gm§Jm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr VrZda 100 eãXm§V g§{já {Q>nm {bhm. [15]
A) gm_m{OH$ VËdkmZ
~) {_ëbMr ñdmV§Í` g§H$ënZm
H$) dJ©g§Kf© {gÕm§V - H$mb© _mŠg©
S>) X¡dr g§H$ënZm : E_. Or. amZS>o
B) _hmË_m Jm§YrMr ‘Aqhgm’ g§H$ënZm

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [20]
A) amOH$s` VËdkmMm amÁ`emñÌ d Zr{VemñÌ `m§À`mer Agbobm g§~§Y g{dñVa ñnï> H$am.
~) _hmË_m Jm§YrOtMr gË`mJ«hmMr g§H$ënZm g{dñVa ñnï> H$am.
H$) H$mb© _mŠg©À`m ‘Û§ÛmË_H$ ^m¡{VH$dmXmMr (OS>dmXmMr)’ g{dñVa MMm© H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) E_. Or. amZS>o `m§À`m ‘CXma_VdmX’ `m g§H$ënZoMr g{dñVa MMm© H$am.
~) ñÌrdmX åhUOo H$m`? ñÌrdmXmMo àH$ma g{dñVa ñnï> H$am.


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Q1) Answer any ten of the following questions. [10]

a) The words opposite in meaning are __________.

i) Synonyms ii) Collocation

iii) Antonyms iv) Vocabulary

b) The body of words specific to a profession is _________.

i) Vocabulary ii) Synonyms

iii) Dictionary iv) Register

c) Choose the correct synonym of the word ‘Dejection’

i) Dispair ii) Disqualify

iii) Disappointed iv) Demote

d) Choose the correct antonym of the word ‘Mischievous’

i) Dangerous ii) Small

iii) Aggressive iv) Obedient

e) A pair of words always used together are ________.

i) Word Family ii) Synonyms

iii) Collocation iv) Antonyms

f) Which of the following sentence is an example of past perfect tense?

i) He is my best friend

ii) He had brought me a pen

iii) He was walking on the street

iv) He has been working in a multinational company.

P.T.O.
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g) Fill in the blank with the correct option.

·Meaghan __________ Studying English Since 2005.

i) Was ii) Is

iii) Had been iv) Has been

h) Identify the grammatical structure of the following sentence.

‘The Students had studied hard for examination’

i) Subject + had + V
3

ii) Subject + had + V
2

iii) Subject + had + Ving iv) Subject + had + V1

i) The thief ________ the old man everday.

i) Follows ii) Follow

iii) Followed iv) is Following

j) Fill in the blank with a correct preposition.

‘Meaghan has been watching the bird ______ morning.

i) Because ii) Since

iii) From iv) For

k) Identify the Compound preposition in the following.

i) Below ii) In front of

iii) On iv) From

l) The Students submit an assignment ______ every Monday.

i) In ii) Beside

iii) Inside iv) On

m) In academic terms précis writing is ________.

i) Rewrite original text

ii) Rewrite one third of the original text

iii) Rearrange important points of a text

iv) Rewrite gist of an original text
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n) Aman sits ________ Suresh and Ravina.

i) Among ii) Between

iii) Under iv) Above

Q2) Answer any one of the following in about 150 words. [10]

a) Elaborate the Concepts of academic integrity and plagiarism in academic
writing.

b) Discuss the essential components of Research Proposal.

Q3) Answer any three of the following in about 100 words. [15]

a) Distinguish between writing blog posts and articles.

b) What is the scope of content writing? Discuss.

c) Enumerate the different ways / Possibilites of using social media platforms
for business.

d) Internet has opened up more avenues of content writing substantiate.

Q4) Answer any three of the following in about 100 words. [15]

a) What are the differences between Radio advertisement and television
advertisement?

b) Why has newspaper been a popular form of advertisement? Explain in
brief.

c) Discuss the advantages of publishing advertisement on internet.

d) State the difference between Classified and Commercial advertisement.
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Q5) Answer any five  of the following questions. [20]

a) Write a blog post on a ‘New Brand of Shoe’

b) Prepare taglines for the following products.

i) New brand of perfume

ii) A soft drink

c) Draft a classified advertisement for your old bike to be sold. for a
newspaper.

d) Draft a commercial advertisement for a new flavour of Ice-Cream of your
company.

e) Draft a message of dos and donts of wearing masks in public to be
posted on Instagram.

f) Draft an advertisement for radio about your start up ‘organic farming

g) Draft a commercial advertisement for a new brand of bicycle to be
published on website.

h) Draft a television advertisement for ‘New perfume’.


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Q1) Write short notes on any three of the following. [12]

a) Meaning of Book review.

b) Mention the characteristics of book review.

c) Describe the purpose of book review.

d) Editorial review.

e) Types of review.

Q2) Write a book review on the book you have recently read. [8]

Q3) a) Write short notes on any three of the following. [12]

i) Meaning of translation.

ii) Writing ‘articles’ in print media.

iii) Translation as career in Mass Media.

iv) Qualities of good translator.

v) Translation as skill.

P.T.O.
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b) Translate the following marathi news in to english. [8]
V

Q4) a) Give Marathi/Hindi words for the following words (any five) [5]
i) Auditor vi) Dictionary
ii) Principal vii) Parking
iii) Research viii) Circular
iv) Cashier ix) enterprise
v) Conference x) Judgement

b) Translate the following passage into Marathi or Hindi’ [5]
Change is the law of life. Spring changes into summer and summer into
winter and we come back to spring again. The cycle of seasons moves
on. Childhood. changes into youths and youth into old age which finally
declines into death. It is the law of Nature that the old order should
change and give place to new, ‘No change’ is the sign of death and
extinction? But in spite of this clear lesson from the pages of Nature,
there are people who always insist on, conserving the old. Whatever is
olds is right them. They would cling to customs fashions and beliefs as
if those were very holy.

Q5) a) Write short note on any three of the following. [12]
i) Cinematography
ii) Documentary films
iii) Screen play
iv) Story plot
v) Dialogue

b) Write a short review in about 200 words of a mystery movie that you
have recently watched. [8]

… … …
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Q1) Answer any eight (Around 20 words each) [16]

a) What constitutes a business?

b) Who qualifies as an experienced entrepreneur?

c) Could you elucidate the idea of social entrepreneurship?

d) What level of significance does a business plan hold?

e) What strategies can be employed to expand a business?

f) How would you define the travel industry?

g) What is entrepreneurship?

h) Where is the Taj Mahal located?

i) What are the constituent elements of HRD?

P.T.O.
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Q2) Write short notes on any three (Around 50 words each). [18]

a) How can entrepreneurs distinguish themselves amidst fierce competition
in the tourism industry?

b) What measures must entrepreneurs take to promote sustainability and
ethical tourism in their ventures?

c) How pivotal is market research in establishing a business?

d) What defines entrepreneurship within the realm of the tourism?

Q3) Answer any two (Around 100 words each). [16]

a) What does comprehending customer need and how does customer
evaluate competitive landscapes?

b) How entrepreneurs use technology to enhance convenience and safety
for travelers?

c) What are the fundamental objectives of Human Resource Development
(HRD) within companies?

Q4) Answer in detail any one (Around 500 words each). [20]

a) What constitutes job analysis and what makes it indispensable for
organizations across different sectors such as tourism?

b) What are primary challenges encountered by entrepreneurs operating
within the tourism industry?

… … …
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3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PC-996

àíZ 1) nw[a`m H$ë`mU amJmÀ`m _Ü`b` ~§{XerMo ñdaboIZ H$am AWdm e§H$am amJmMr _m{hVr {bhm.[5]

àíZ 2) e§H$am amJmMr {dñV¥V emómoº$ _m{hVr {bhm. [5]

àíZ 3) Imbrbn¡H$s H$moUË`mhr EH$m VmbmMm _m{hVrgh R>oH$m {bhm. [5]
i) EH$Vmb ii) {ÌVmb
iii) PnVmb

àíZ 4) ì`m»`m {bhm. [5]
i) _§ÐgáH$ ii) Vma gáH$
iii) gáH$ iv) ~§{Xe
v) ñda

àíZ 5) M[aÌ {bhm (H$moUVohr EH$) [5]
i) CñVmX AãXþb H$ar_ Im§ ii) CñVmX {~pñ_ëbm ImZ

iii) n§. {d. {X. nbyñH$a

P.T.O.

SEAT No. :
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àíZ 6) {Z~§Y {bhm (H$moUVmhr EH$) [5]

i) gwJ_ g§JrV e¡br

ii) g§JrV J§«Wm§Mo _hËd

iii) _¡{\$b gmXarH$aUmMo V§Ì

♦♦♦
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àíZ 1) H$m`Xm `m{df`r {bhm. [5]

àíZ 2) Imbrb n¡H$s H$moUË`mhr EH$m VmbmMm _m{hVrgh R>oH$m {bhm. [5]
i) EH$Vmb
ii) AmS>mMm¡Vmb
iii) VrZVmb

àíZ 3) gmW g§JVrMo V§Ì `m{df`r {bhm. [5]

àíZ 4) {Xëbr~mO {df`r {bhm. [5]

àíZ 5) {Z~§Y {bhm (H$moUVmhr EH$) [5]

i) bmoH$g§JrV

ii) g§JrV Jwwé_wIr {dÚm

iii) g§JrV g^m§Mo _hËd

P.T.O.
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àíZ 6) OrdZM[aVÌ {bhm. (H$moUVohr EH$) [5]

i) Ah_XOmZ {WaH$dm n§

ii) CñVmX PmH$sa hþg¡Z

iii) gm_Vm àgmX

♦♦♦
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